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N2 900 15%
[Cutsozr [ ma 900 15%
2441 | g7E 900 15%
2043 | WiE 900 15%
EE% | J2430 | mH 900 15%
[utzas [ ma 500 15%
[utzasa [ mE 900 15%
I ] 500 15%
[utsozz [ aE 900 [ 15%
2442 | WiE 900 SN | 24400 [ 5%
TG BRE | ABGMRE [ 240 | _fie 00 [ 13 000 | 26% i) 500 | 40%
[Usoss [ ma 185 100 [ 29% 600 | _40%
[utza03 [ aE i) 000 | 26% 600 | 40%
[utza07 [ ma 134 000 | 264 | 224400 600 | _40% | %:20.300
[utza09 [ aE i) 000 | 26% 600 | 40%
[uteati [ ma 134 000 | 264 [ JGRAZ6000 600 | 404 | JGKA23600
[utzas [ mE i) 1000 | 26% | JkA:26.000 600 | _40% | JOKA:23,600
2419 | WA 134 000 600
BRER® | Ji2000 FIE | 28400 ] 13 000 75600 600 22500
[utza02 [ mE 400|134 000 25,600 600 22500
[utsose [ mE 400|134 000 25600 600 22300
[utza0a [ mE 400|134 000 26,600 600 24,700
2 400 |_15% 000 26600 600 24700
[oteaio [ ma 400|134 000 26,600 600 24,700
[utzarz [ ma 400|134 000 26500 % 24,400 600 24,500 20300
24| §i8 00 [ 134 000 26,500 600 24,500
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ARG TR -l Wa%k 2001 | giH | ¢
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2009 | FIH | ¢
FLOR (37 F %) 3 |_JL2900 LilE]

00 |39% [ £ 51300

00

66% | %:17,300, & H:17.600

%

E

5
313

%

25500, T H:25.700

B.17.400

22,100, £:17,300, £ H:17.600
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304 JEAT | 22900 | 3E AT 0%
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1800 | 30 SE AT | 22900 | SE AT 0%
1800 | 305 SEA | 22900 | SEA 404
1800 | 30 SEAT | 23900 | SE AT 0%
$800 | 305 SEA | 22900 | SEA 404
0200 |16 Gl 300 Gl 234
2200 | 16% 300 234
0200 |16 300 234
2200 | 16% 300 234
0200 |16 300 234
2200 | 16% 300 234
1600 [ 105 100 T8
3600 | 105 100 i85
1600 [ 105 100 T
3600 | 105 100 8%
1600 [ 105 100 8%
3600 | 105 100 14
100104 400 T
00 [ 0% 400 7%
7100 [ 10% 400 214
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300 500 | 4% 28,600, % T24.300, 621,500
500 [ 14% K:26,600, % £:24.300, B:21,500
100 | 21% [ A:28500 :23,900, 22,200, £:19.700
100 |21 [28.500 %:23.900, %:22.200, £:19.700
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mEs 3494 | SEW | 23,300 324 [20300 [ a1t 8%
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=% | 2002 | 3EMI | 20500 29% |+E:31500 [25500 | 39% |+ B:27.500 48% | A B:23,900
ERETEY AER 2603 | 3EE | 21700 (6% 200 18y 345 [T H:17,600
i 2602 | SEE | 21.700 | 16% 200184 34 [+ E:17.600
ARHE ERE] 2611 | SHE | 20400 | 118 9900 [ 3%
2615 | EE | 20400 118 o900 [ 13t
EE% | J612| aBA 400 11 500 | 1a%
2616 1% o900 [ 13t
AL (%) =8I (T 5 [ JL2861 15% 700 | 16%
[UL2863 15% 70016t
(L2865 28% 200 | 30%
2869 5% 7006t
EEL) 60 5% 700|164
[uL2862 15% 70016t
2864 5% [ #iB | 20700 i6v
2868 15% 700
AR (E3%) =B HIR(EH) 7 2741 200 000
2743 200 000
2745 200 000
2749 200 000
L2758 200
2755 £:16.500 200 000
) 2740 500 200 000
2742 500 200 000
2746 500 200 000
2748 500 200 000
2752 200
2754 [EX 200 | 1:16.000
(RS FR 2883 ETMET B | 15500 | 41% 16,500
30% [T 7EH] | 15500 | 4ty 16,500
268 | T 7EE | 12.300 | 294 12,800
268 [T 7EH] | 12300 | 294 12.800
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o o o N 11/1 11/2 11/3 11/4 |
A B4 q - - — - - - — - - - — - - - — -
- g |7 AR SR QR O e i A [T R O A7 AR (7 Clir By (s (R AR o Aty R |7 AR e 37 REI 7D
R e e A e | mme | mra | mre | mmm | mmm | mww | mwem | mme | sge | mme | mme | mga | mx
BiARANARED WA | EAE | ERA | ENH | ENHR | ERH | B | SR | EUR | SR | SRR | SN | ERHE | ERH
BRE (AHE) =X (FF) RRCRE) & L101 - 15.500 | 13.500 - 15.500 .200 2.200 5.500 | 13.500
[JL103 17.000 [ 15,000 16,700 100 7,000 | 1 000
L107 17.300 | 15.300 17.500 .100 7.000 .000
17.600 | 15,600 17.400 100 7.600 ,600
L - 17.600 | 15.600 16.900 .100
L e 17.600 | 15,600 16.400 100
L 17.100 [ 15.100 15,800 300
17.100 | 15.100 14,600 ,100
— [ 17100 [ 15.100 14,600 100
e 17.600 | 15.600 15,300 500
17.600 | 15.600 15.300 .600
17.600 | 15.600 14,100 ,600
— [ 17.600 [ 15,600 14,100 600
e 18,500 | 16.500 14,100 ,600
19,500 [ 17,500 14,100 600
PNACGZSES 17,600 | 15,600 14,200 ,200
17.600 [ 15,600 16.100 200
17.600 | 15.600 16,600 ,200
17.600 | 15.600 16.600 .200
o 17.100 | _15.100 15,800 ,200
17.100 [ 15.100 15,500 200
16,600 | 14,600 15,500 ,200
16,600 [ 14,600 14,600 200
16,600 | 14,600 14,600 ,200
16,600 [ 14,600 14,600 200
17.600 | 15.600 14,600 ,600
17.600 [ 15,600 14,700 600
o 17.600 | 15.600 14,100 e ,600
— [ 17.600 [ 15,600 14,100 — 600
— 17,600 [ 15,600 T 600
T CRE) AR (BE) | Rm (HE % 7 16.200 [ 14000 L 700
7 16,200 [ 12 |18 [ 15700 | 1
7 17.300 [ 15 [ 16 500
KBR (B978) 5 7 13.400 1 | 13.400
1 7.100 7.100
7 700 | 16.500
BERCRE)=4LIR G Fik)| ERCRE)E 300 3.300
.300 3.300
o .300 33.300
- ,300 33,300
.300 33.300
.300 33,300
f— .300 .300
B - .300 .300
B .300 .300
B .300 .300
B — .300 .300
B - .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
TR = 300 00
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
B .300 .300
RR CRE) =1gf R (FE) % B 5.300 5.300
B 5.300 5.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
mER 3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
38 35,300 35,300
3H 35.300 35.300
3 35,300 35,300
3 35.300 35.300
3 - 35,300 35,300
3 35.300 35.300
RRCAB) =44 (BH) [ RRCAA) £ 3 38,100 38,100
3 40.100 40.100
3 40,100 40,100
3 40.100 40.100
3 40,100 40,100
3 40.100 40.100
3 38,100 38,100
3 38.100 38.100
3 38,100 38,100
3 38.100 38.100
3 38,100 38,100
3 41.100 38.100
AR (IRER) B 3 38,100 38,100
3 38.100 38.100
3 38,100 38,100
3 40.100 40.100
3 40,100 40,100
3 40.100 40.100
3 40,100 40,100
3 40.100 40.100
3 40,100 40,100
3 40.100 40.100
3 40,100 40,100
3 38.100 38.100
KRG HTE)| XEGME 200 200
e 200 200
f— ,200 ,200
200 200
AR FFR) R J .200 200
200 200
J 200 200
JL2016 - 200 200




SR AE
MHERIS11/3/7 BER (11 A1~4BEFES) AL
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@7 A BEH B E7 7l 1172 113 174 |
=40} B2 C B2 A B4 7 B HE 547 C 1B 54 7 D B 947 A 15 (B 547 B 1B 4 7 O 1B 54 7 D) 15 54 7 A 1B 547 B 1B 547 C| 15 {B 547 D 1B 547 A 1B ST B[ 15 (B 947 ([ 15 E417 D
x| | 5 | s | R B | B | BN | B | BN | EIA | BN | BN | ERE | B | BN | ERH | ERE | ERE
RIR (BT =ALIE (FF )| ABR (BAE) 5 — 200 25800 | - 200 700 200 21,900 200 22,300
,200 23.400 ,200 | 21,900 ,200 23,700 ,200 | 34,700
200 23.400 200 [_21.900 200 23.700 200 | 4 700
IR FHFm) % 200 25,800 200 800 200 23,400 1200 | 4 [ 23,000
— 200 25.800 200 200 23.400 200 000
e ,200 36.700 ,200 ,200 36.700 ,200 | 37.700
ENACE KR (FFh % 200 [13.200 200 200 3200 22,200 700
,200 [ 16700 ,200 ,200 [ 14,500 22,200 [ 14,500
— 200 [16.700 200 200 200 22,200 .900
— 200 [ 16.400 200 ,200 [ 13.200 22,200 [ 18.300
FHRES 200 [_16.400 200 200 200 22,200 200
,200 [ 16700 ,200 ,200 [ 13.200 22,200 700
— 200 [16.700 200 200 200 22,200 200
-— 200 [ 16700 200 200 [ _13.200 ,200 [ 16.200
KR (7D =544 BE) | KRG R .900 [ 31.100 .900 .900 .100 .900 | 3 100
.900 20.200 900 ,.900 20.200 ,900 20.200
o (B % 900 20.200 900 900 20.200 900 3.600
.900 | 31,100 900 ,.900 31.100 900 | ¢
TRE=ALI (BT TR EES 700 [_42.700 700 700 700 700 700
-— .700 | 40.200 .700 .700 10.200 700 10.200
AR F TR 700 200 700 700 200 700 .200
.700 .700 .700 ,700 700 | 42,700
HR CHE) =% &5 HRCRE) % 400 1400 400 800 1400 400
— 400 1400 400 21,800 400 | 25300
1400 400 400 1400 29,000
s ES 400 1400 400 400 33,500
1400 400 400 1400 30,500
.400 .400 .400 400 | 2 27.700
R CRE) =) ERCRE) % .200 .200 .200 .200 20.800
,200 ,200 ,200 ,200 23.600
39.200 39.200 39.200 200 26.300
39.200 39.200 39.200 ,200 29.300
FETIES 39.200 39.200 39.200 200 25,200
39.200 39.200 39.200 ,200 | 22,100
39.200 39.200 39.200 200 [_24.600
39.200 39.200 39.200 ,200 | 21,700
R CRE) =8I RRECRE)# 38.800 38.800 38.800 .800 | 19.300
38.800 38.800 38.800 ,800 | _27.300
— | 38800 38.800 38.800 800 [_24.600
EEES -— 38.800 38.800 38.800 .800 | 22,500
38.800 38.800 38.800 800 300
38,800 38,800 38,800 800 [ 23700
EAC:DE ERCRE) % —— .100 .100 .100 .100 700
B B - 100 100 100 100 [ 22,600
E E 100 100 100 100 [23.600
B B 100 100 100 100 300
BLE E E — 100 100 100 100 22.800
B B - 100 100 100 100 22,800
E E 100 100 100 100 22.800
B B 100 100 100 100 20,300
R CRE) =BE RERPE) % B B .100 .100 [ 24. .100 .100 19.500
B B 100 1100 [ 2t 1100 100 21,200
E E 100 100 [ 23 1100 100 23.100
R B B 100 1100 [ 23 1100 100 20,900
E E 100 [ 2t 100 100 24.200
B B 1100 [ 23 1100 100 100
RRCAE) =% R (FE) % .000 [ 21 500 22.500 [ 18500
000 [ 23, 500 23,500 [ 19.500
.000 [ 21 500 22.000_| 200
.000 [ 19, 500 25,000 000
.000 [ 10 22,500 26.000 000
.000 [ 18,500 500 25,000 000
ERR 000 20,000 500 22,500 [_18.500
.000 21,000 500 23,500 [ 19.500
.000 20.200 500 22,500 700
.000 [19.200 500 24,000 .000
.000 [_19.500 22,500 25.000 22,000
000 [ 18,500 21,500 23,000 20,000
HR(FE)==R HRCRE) % 19.900 |_19.000 20,000 20,000 18.000
19,900 [ 20,000 18,900 23,000 20,000
19.900 [ 18.000 18.900 24,000 21,000
5 19.900 20,000 20,000 20,000 18,000
23,000 18,400 18,900 e 20,500 18,500
23,000 18,000 18,900 21,000 16,000
R CRE) = E HRCAE) % 21,500 18,500 21,500 21,500 18,500
22,100 19,100 22,100 22,100 19,100
21,100 18,100 21,100 21,100 18,100
22,000 18,600 21,600 22,000 19,000
P 22,600 19,600 22,600 22,600 19,600
22,100 19,100 22,100 22,100 19,100
22,100 19,100 22,100 23,200 20,100
22.400 18,400 21,400 22.400 18.400
R CRE) =1L HRCAE) % 15,300 12,800 14,800 15,800 12,800
15,300 12,800 15,300 15,300 12,800
1123 15,300 12,800 15,300 15,300 12,800
15,300 12,800 15,300 15,300 12,800
= () =/ ESACEIE 3 15,900 15,400 15,900 15,900 12,400
38 15,900 16700 | —— 15,900 — 15,900 13,400
38 15,900 13,900 15,900 15,900 13,400
38 15,900 13,400 15,900 15,900 14,400
38 15,900 13,400 15,900 15,900 14,400
38 15,900 12,900 15,900 15,900 14,400
INRFE 38 15,900 14,100 15,900 15,900 12,400
38 15,900 14,100 15,900 15,900 12,900
38 15,900 14,100 15,900 15,900 13,400
38 15,900 13400 | —— 15,900 — 18,700 16.700
38 15,900 13,400 e 15,900 e 18,700 16,700
38 15,900 12900 | —— 15,900 — 15,900 14,100
B CHE)-MmREE | BmCHE) % 3H 23,000 26000 | 25000 | 21,000 15700 | 21,000 17,500 | 15,700
38 23,500 28,000 | 27,000 | 23.500 18,900 00 19.800 | 18,900
3 21,500 22,800 18,500 19,000 16,800 0 23,300 19,500
EEERES 3 19.000 22,800 | 18,500 | 19.000 16.800 | 24.700 21,700 | 16.800
3 22,000 22,800 20,000 22,000 18,400 29,000 26,000 25,000
3 24,100 23800 | 21.000 | 24.100 20.700 | _28.800 28,000 |_27.000
Hm CHE) =@l HR(PHE) R 19,200 16,300 o 19,200 — 19,200 16,300
19.200 16.300 19,200 19,200 16.300
19,200 16,300 - 19,200 - 19,200 16,300
19.200 16.300 19,200 19,200 16.300
19,200 16,300 19,200 19,200 16,300
EIES 19.200 16.300 19,200 19,200 16.300
19,200 16,300 19,200 19,200 16,300
19.200 16.300 19,200 19,200 16.300
19,200 16,300 19,200 19,200 16,300
19.200 16,300 19,200 19.200 16.300
HECRB)=ES HRCRE) % 21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
LB% 21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
21,500 20,000 21,500 21,500 20,000
— [ 21500 20000 | -—— | 21.500 — [ 21500 20,000
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N N N N 11/1 11/2 11/3 11/4 |
- g |7 AR SR QR O e i A [T R O A7 AR (7 Clir By (s (R AR o Aty R |7 AR e 37 REI 7D
x| | 5 | s | R WA | ERE | EWE | ERE | ERE | ERE | ERE | BNE | EAE | SRS
RRCAB)=WOFH [ RRCAB)H 7 .000 20.400 23.000 | 20.500 | 19.000 23000 | 20500 | 18.700
7 ,000 20,400 23,000 21,800 24,700 24,600 21,600
7 .000 20.100 23.000 22,600 25.900 25.800 22.800
7 ,000 20,100 23,000 22,600 22,800
=E=TE 7 .000 20.600 23.000 20.500 20.400
7 ,000 20,500
7 .600
7 25,600
R (HE)-HE RRCAE) % — | 28800
f— 28,800
28.800
28,800
e 28.800
HEHX f— 28,800
28.800
28.800
28.800
28.800
TR CAE) =8 RRCAE) % 29.600
29.600
29.600
29.600
29.600
29.600
29.600
T 29,600
29.600
29.600
29.600
29.600
29.600
29.600
TR CAE) =B RRCAE) % 25.800
25.800
25.800
25.800
25.800
25.800
o 25.800
B — 26,400
26.400
26.400
f— 26.400
= — 26,400
26.400
26.400
EEEET RRCAE) 5 — 200
= — ,200 .
B 200 |_31.300
B 200 | 31.300
B 200 |_31.300
B B 200 [ 31,300
B 200 |_31.300
B 200 | 31.300
B 200 |_31.300
B 200 | 31.300
R CAE) FAll RRCAE) 5 B 900 [ 31.000
B 1900 [_31.000 [ 31,
B .900 [_31.000 |_31.500
B .900 | 31,000 [ 31500
B .900 [_31.000 |_31.500
B .900 | 31,000 [ 31500
PIES B .900 [_31.000 |_31.500
B .900 | 31,000 [ 31500
B .900 [_31.000 |_31.500
B ,900 | 31,000 [ 31500
B .900 [_31.000 |_31.500
B .900 | 31,000 [ 31.500
FERCRE) =AM HRCPE) & B 78 4.600 22.600 20.600
5] 78 28.600 26,600 2
B 78 29.600 25.600
5] 78 31.600 24,600
38 78 31,600 24,600
e s 3H 78 26.600 24.600
3H 71H 28,600 26,600
38 78 28.600 23,600
3H 71H 30,600 23,
38 78 29.600 20.600
HRCRE)=K5 HERCPE) & 38 78 34,300 29,800
38 78 34.300 29.800
3H 71H 34,300 28,800
38 78 34.300 28,700
3H 71H 34,300 27,300
38 78 34.300 27.300
KoH 38 78 34,300 28,700
38 78 34.300 28,700
3H 71H 34,300 28,700
38 78 34.300 28,700
3H 71H 34,300 27,300
38 78 34.300 26.900
TR CAE) =5l WRCAE) 5 36 78 37.400 31,900
38 78 37.400 32,500
3H 71H 37,400 29,
38 78 37.400 29,
3H 71H 37,400 28,
38 78 37.400 28,
P 3H 71H 37,400 32,
38 78 37.400 31
3H 71H 37,400 29,
3H 78 37.400 28,
3 7 37.400 28,800
3 7 37.400 27.400
HECRE) =R HR(FH)F 3 7 35,300 30,600
3 7 35.300 30.500
3 7 35,300 30,500
3 7 35.300 30.600
3 7 35,300 30,000
3 7 35.300 28.600
3 7 35,300 28,200
3 7 35.300 27.800
HEAH 3 7 35,300 30,000
3 7 35.300 30.000
3 7 35,300 30,000
3 7 35.300 27.900
3 7 35,300 28,100
3 7 35.300 27.800
3 7 35,300 27,800
3 7 35.300 27.400
RECRR)=E& HR(FH)F 3 7 35,300 29,900
3 7 35.300 30.500
3 7 35,300 29,900
3 7 35.300 29.900
3 7 35,300 28,500
3 7 35.300 27.800
iR 3 7 35,300 29,900
3 7 35.300 29.900
3 7 35,300 28,
3 7 35.300 29,
3 7 35,300 27
3 7 35.300 29.!
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- g |7 AR SR QR O e i A [T R O A7 AR (7 Clir By (s (R AR o Aty R |7 AR e 37 REI 7D
x| | 5 | s | R B | B | BN | B | BN | EIA | BN | BN | ERE | B | BN | ERH | ERE | ERE
BEE(MO-HE [ AEE(MO R [ JL443] — | 21800 [ 19500 | - 800 [_19.500 100 |_19.100 000 . . 500
L4437 20.100 | 18.000 .800 | 18.500 .800 5 5 5 , ,000
HES JL4432 20.100 [_18.000 800 500 800 . . . . 000
438 21.800 | 19.500 .100 ,000 .800 . 19. . 5 19.000
2ER(MR-FB | BaECNBOE| J4333 | @ E — | 25200 [_24.300 25.200 300 25.200 . 300
B L 433 I I f— 25,200 24,300 25,200 ,300 25,200 . ,300
AEECMO-BM | BEE (MR | JL4sT 100 21.100 800 100 | 17.100 | . . 800
L437! .100 19,100 .800 .100 5 N ,800
JL437 — 1100 19.100 800 | —— 1100 . . 800
=TS L4317 e ,100 21,100 .800 ,100 5 N ,800
JLa37 1100 19.100 800 1100 . . 800
L437: .100 19,100 800 .100 5 ,800
ZERUMR M | BBE (MR X | JL440 — | 18300 18,800 800 | —— 300 . [ 15.300
[ JL440 -— 18,500 19,000 500 X X X [ 17.00 500
["JL4405 18.900 18.900 400 2 15. . . 15.400
JL4413 18,300 17.800 ,300 R | 16.800
JLa415 17.800 17.300 800 . [_15.500
EEES [_JL4400 16.800 17.300 6.800
[JL4402 17.800 18.300 7.800
[ JL4408 o 18.800 18.800 9.300
JLa41 300 800 | 17 300
JLa41 ,800 ,300 | 17 ,800
AHE UM =RER ZHE (V) R [ _JL: .800 .800 | 22 .800
JL 800 800 | 23 800
JL 800 800 |_22. 800
BEARS JL: 800 800 | 22 800
JL 800 800 |_22. 800
JL 800 800 | 22 800
IR GRF ) =250 | FLOR G Fak) 8 |_JL: -300 300 | 21, -300
JL27 .300 .300 | 21 .300
JL27 300 300 | 21 300
s ES JL27 .300 300 | 21 .300
JL27 300 300 |_21. 300
JL27 .300 300 | 21, .300
R F TR -8R | AL F TR % | JL2803 300 300 | . 300
[ JL2805 ,300 300 | 21 ,300
JL2809 300 300 |_21. 300
EHRE [ JL2804 .300 300 | 21 .300
[ JL2806 — 300 300 |_21. 300
JL2810 o .300 .300 | 21 .300
FLIR BT ) =RE HLIR (B F i) % [ JL2821 .600 .600 | 24 .600
JL2827 ,600 .600 | 24 ,600
EFE | JL2822 — 600 600 |24 600
JL2828 B B B — 600 600 600
LR F TR 58 FRE E 29,600 29,600 29.600
B 29,600 29,600 29,600
ARG FR) R B — 29.600 29.600 29.600
B — | 29,600 29,600 29,600
HRF TR A X3 E 28.600 28.600 28.600
B 28,600 28,600 28,600
E 28.600 28.600 28.600
B 28,600 28,600 28,600
E 28.600 28.600 28.600
AR FTR R B 28,600 28,600 28,600
E 28.600 28.600 28.600
B 28,600 28,600 28,600
E 28.600 [ 21, 28.600 28.600
B — | 28600 [ 21,000 28,600 28,600
=AM FAMEE RIE 9.800 [_18.800 9.800 9.800
BEE AIE 9,800 [_18.800 9,800 9,800
IR FTFR) =S L% .900 | 39.100 .900 .900
LR G 58) 5 B — 900 [ 39.100 900 900
EE-IIE FES E 900 [43.000 900 900
= 900 [43.000 900 900
X3 E 900 [43.000 900 900
= 900 [43.000 900 900
BE-FR BEE B 400 25.900 400 400
SRR B B B 400 25,900 400
FEE FRES E 000 25.200 29,000
= = 000 25200 30,000
AR E E 000 25.200 29,000
B B B 000 25200 30,000
EE-TE S 21,000 18,200 21,000
22,500 19,500 23,500
23,500 20,700 23,500
23,000 20,000 23,000
BER 21,000 19,200 21,000
23,500 20,700 22,500
21,500 18,700 21,500
21,000 18,000 21,000
ALIR (B F8%) =10 AR FLOF (BT T %) 56 3 3 31,500 26,200 31,500
e 30 38 31,500 28,200 31,500
WHE=RER S HE 3H 3H 30,700 25,800 30,700
ERE 38 38 30,700 25.800 30,700
HMEFFFR) =L AR GHTFR) F 30 30 27,300 21,600 27,300
N2 38 38 27.300 21,600 27.300
HE-HE AR 3H 3H 23,300 17,800 23,300
HE 38 38 23.300 17.800 23.300
WE=HE L= 38 38 29,500 23,900 31,500
= 38 38 29,500 21,900 31,500
HE=AR S R 3H 3H 21,300 17,100 21,300
AR 38 38 21,300 17.100 21,300
WE-HE =] 3H 3H 19,300 15,100 19,300
36 38 19,300 15,100 19,300
HER 38 38 19,300 15,100 19,300
38 38 19,300 15,100 19,300
FLIR (3 =SIER IR (3R 17,700
E E E 17.700
17,700
19,900
S 19,900
17.700
17,700
17.700
HLIR (E3F) =BfE FLIR (30 15,700
15,700
15,700
16,500
mEER 15,700
15,700
15,700
15,700
IR (B =FIFR FLIR (30 7 7 7 16,500
7 7 7 16.500
FIRH 7 7 7 16,500
7 7 7 16,500
BHAESE 7 7 7 12,800
SR 7 7 7 12,800
IR (F3) % BIE RIE RIE 16,800
=R% AIE AIE AIE 16,800
KR () =HE KB (5 % 3 3 3 15,400
3 3 3 16,400
3 3 3 15,400
3 3 3 15,400
HESR 400
400
400
400
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A B4 q - - — - - - — - - - — - - - — -
- g |7 AR SR QR O e i A [T R O A7 AR (7 Clir By (s (R AR o Aty R |7 AR e 37 REI 7D
FH FH FH FH S P S S S S . . . . . i i i e
AR | | e | s A | TR | BIR | BN | B | ERHR | BRE | OBEE | SR | ERE WA | BT | EITHE | BT | SEYE | BN
1ER=3 5 EEEES — 19.500 [ 16 [_12.600 — 19.500 [_19.300 .500 [_12.600 .500 [ _19.300
19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
— 19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
— 19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
e 19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
— 19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
— 19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
19.500 [ 16 | 12,600 19.500 | 19.300 500 | 12,600 500 | 19.300
— 19.500 | 16 |_12.600 19.500 |_19.300 500 |_12.600 500 |_19.300
— 19.500 [ 16 12,600 19.500 | 19.300 500 | 12,600 500 [ 19
BERB-BEXS ERBE | J 19.000 | 18! 15.900 — — =
J 19.000 [ 18 15.900 - -
J 19.000 | 18 15.900 - -
J 19.000 [ 18 15.900 - -
J 19.000 | 18 15.900 - -
[J — 19.000 [ 18 15.900 - — -
J 19.000 | 1€ 15.900 - -
BERBR | J 23200 | 1¢ | 16.400 — =
J 23200 | 19.000 | 16.400 — =
[J — 23200 | 1¢ | 16.400 - — -
[J 23200 | 1¢ |_16.400 - -
[J 23200 | 1¢ | 16.400 - -
J 23200 | 1¢ |_16.400 - -
JL3738 — 23200 | 1¢ | 16.400 - — — — -
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o o o o 12/27 12/28 12/29 12/30 |
- @ ﬁ‘i’:ﬁ’ i ﬁ‘i’:ﬁ’ b *%z’:; i *#‘Zj]’ BT AT [T R A7 AR el By (s (R ARE ALy (R A7 AR s s REITD
| R | | U | EA# | Ew | wwe | Ew | sne | 8% | EAe | Ene | Sae | SR | Ene | sne | Sne | Eae | sne
BR(BAE)=XR (G | ERCE) L101 - 19.500 | 15.700 - .800 | 17.800 14.500 19.800 800 .700 .000 .000
[ _JL103 19.800 | 15,500 900 | 23.800 23,700 21,500 500 500 ,000 | 14,500
L107 20.800 | 18.700 .900 | 23.800 23.700 21.500 500 .800 .500 | 1 | 15.200
19,800 [ 15,500 900 | 23800 | 23,700 23,300 1300 | 19,600 500 | 1 [ 15,200
L - 19.800 | 15.500 .900 | 23.800 23.700 19.800 800 500 - .500 .200
L e 19,800 | 16.000 900 | 23.800 23,700 23.900 200 500 ,500 ,500
L .800 | 16.000 .900 | 23.800 23.700 23.900 200 100 .500 .500
,800 | 16.000 900 | 23.800 23,700 23.900 200 100 ,500 ,500
— .600 | 17.800 .900 | 23 23.700 - .100 100 300 - .500 .500
— 600 [ 17.800 900 | 23 23,700 300 300 500 | 1 [ 15,500
100 [ 19300 900 | 22 [ 21100 300 500 000
100 [ 19300 100 | 21 300 300 500 | 1 000
— 100 [ 19.300 100 | 21 300 | — 500 500 000
— 300 [ 19,300 900 | 23 [ 19,300 500 500 | 1 000
300 [ 19300 900 | 23.800 | 19.300 500 500 000
RIR () 3¢ 800 [ 14500 500 | 17 [ 15.700 000 000 500
17.800 | 14.500 19.500 | 17 .700 .000 .000 .700
19,600 | 15,500 18.000 | 16. ,000 ,000 ,500
19.600 | 15.500 18.000 | 16 .000 .000 .500
i 19,600 | 15,500 18,000 | 16 ,000 ,000 ,500
19.600 | 15.500 18.000 | 16 .000 .000 .500
17.800 | 14,500 18,000 | 16 ,000 ,000 ,500
17.800 | 14.500 18.000 | 16. .000 .000 .000
i 17.800 | 14,500 18.000 | 16. ,000 ,000 ,000
17.800 | 14.500 18.000 | 16. .000 .000 .000
17.800 | 14,500 18,000 | 16 ,000 ,000 ,000
7.800 | 14.500 18.000 | 16 .000 .000 .000
o ,500 | 15.700 18,000 1 ,000 ,000 ,500
— .300 17.500 .000 .000 .500
i .500 15.700 ,000 ,000
RECRR)=AMR (%) | RRCRHE) % 7 .500 17.800 .900 | 2
7 .300 23,900
7 .300 .500
K (B378) 7 .900 | 17.900
7 19.700 .700
7 19,700 | 19.700
RRERCAE) =R FTR)| RRCAHE) % 38.900 .900
38.900 8.900
— 38.900 38.900
- 38.900 38.900
38.900 38.900
38.900 38.900
— .900 .900
B - .900 .900
B .900 .900
B .900 .900
B - .900 .900
B - .900 .900
B .900 .900
B .900 .900
B .900 .900
B .900 .900
B .900 .900
AEGTRE : 00 400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B 5.400 5.400
B 5.400 5,400
B .400 .400
B 400 .400
R CRE) =18/ RERPE) % B .600 .600
B .600 .600
38 e 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
3H 42.600 42,600
38 42,600 42,600
E RS 38 — 38.500 38.500
38 38,500 38,500
3H 38.500 38.500
38 38,500 38,500
3H 38.500 38.500
38 38,500 38,500
3H 38.500 38.500
38 38,500 38,500
3H 38.500 38.500
38 38,500 38,500
3H 38.500 38.500
38 38,500 38,500
38 38.500 38.500
3 38,500 38,500
3 38.500 38.500
3 - 38,500 38,500
3 38.500 38.500
FRIR) A P8 | BRI E 3 7,100 7,100
3 45.100 45.100
3 47,100 47,100
3 47.100 47.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
B Ik 3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 45.100 45.100
3 45,100 45,100
3 - 45.100 45.100
3 - 45,100 45,100
3 - 45.100 45.100
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o o o N 12/27 12/28 12/29 12/30 |
- g |7 AR R AR QR O e it A A 7 R O A7 A7 Clr B4y (s (R AR Aty (R A7 AR B3 s REITD
x| | 5 | s | R Ee | EwE | ERE EE | B | BN | B | ERE | BN | EME | B | ERE | ERE
KR (B =ALI (FTm)| KB (B % — 400 29000 | - 400 43.300 400 41,600 400 27.400
400 29,000 400 43,300 400 41,600 ,400 27.400
400 29,000 400 43.300 400 37.800 400 27.400
400 25,600 400 32,500 400 36.700 400 20.900
— 400 25,600 400 32500 400 36.700 400 20,900
f— 400 30.500 400 30.500 400 36.700 400
ARFTR R 400 24,400 400 24,400 400 24.400 400
400 24,400 400 24,400 400 24,400 ,400
— 400 24,400 400 24400 400 24,400 400
f— 400 36.700 400 36.700 400 36.700 ,400
400 36.700 400 36.700 400 36.700 400
400 36.700 400 36.700 400 36.700 ,400
KR (BE) =4I (Fr T )| AR (BE) % — 400 34,500 400 43.300 400 41.500 400
f— 400 29.100 400 32,500 400 23.900 ,400
400 28.100 400 32500 400 23.900 400
FLIR R TR R 400 25,500 400 25,500 ,400 25,500 400
400 27.200 400 27.200 400 27.200 400
400 36.700 400 36.700 400 36.700 400
ENACE ] KR () % 200 [_17.300 200 19.200 200 18.700 200
o ,200 | 18.300 ,200 20.600 23.200 20.200 ,200
200 [_18.100 200 20,600 23.200 20,600 200
,200 | _18.100 ,200 [ 17.900 23,200 [ 17900 ,200
FES 200 [13.200 200 [_16.200 23.200 16.200 200
,200 [ 15.400 200 |_17.400 23,200 |_16.700 .200
200 [_14.700 200 [_16.600 23.200 [_15.200 200
,200 [ 13.200 200 | 15.200 23,200 | 15.200 .200
KB () =ibiE (BH) | KB (A % .600 | 35500 .600 | 35500 37.600 35500 600
0,700 38.500 0,700 38.500 39.600 35.500 600
7.600 32.400 7.600 32.400 7.600 32.400 600
AR (IRER) 7,600 20.200 7,600 20.200 7,600 20.200 600
7.600 20.200 7.600 20.200 7.600 20.200
7,600 31,100 7,600 31,100 7,600 31,100
BE-ALRFHTR) EER 56.300 53.300 56.300 53.300 56.300 53.300
56,300 53,300 53,300 56,300 53,300
AR FTR = 56.300 53.300 53.300 56.300 53.300
56.300 [ 53.300 53,300 56,300 53,300
R (PE) =B ECE] 7.500 [ 37.900 39,600 7.500 39,600
7,500 39.600 7,500 39.600
— 7.500 38900 | -—— 7.500 [38.900
ESSTED — ,200 35,000 ,200 | 34,000
200 2.000 200 2.000
,200 ,200
RAR CRE) =18l R CAE) % — 600 600
E E — 600 600
E E 600 600
= = 600 600
JEIES E E — 1100 1100
E E — 100 1100
E E 100 100
E E 100 1100
R CRE) =8I RERPE) % B B 5.100 5.100
E = 5,100 5100
E E 100 100
EEES B B 500 500
E E 500 500
= = 500 500
FEEEETA R CRE) % B B 400 400
= = — 400 400
E E 400 400
= = 400 400
BLE E E 800 800
= = — 800 800
E E 800 800
= = 800 800
RR (FE) = R CAE) B B 600 600
= = 600 600
E E 600 600
WER B B 900 900
E E 900 900
B B 900 900
HECRB)=F RERPE) % 500 .500
500 500
25,500 25,500
25500 25500
25,500 23,500
25500 23,500
EHR 23,500 23,500
23,500 23,500
23,500 23,500
23,500 23,500
23,500 23,500
23,500 23,500
HERCPE)H | JL1 22,000 23,000
23,000 24,000
22,000 23,000
ZR% 20400 20.400
19,900 19,900
20.400 20.400
R CRE) =M E HRCAE) % 21,800 22,700
28,600 28,600
28,600 24,900
24,700 22,600
BER 24,200 28,600
20,100 20,100
21,400 23,600
24,100 20,700
R CRE) =1L HRCAE) % 20,800 18,800
20,800 17.800
1123 17,300 17,300
17.300 17.300
R CRE) =/ HRCRE) % 3 18,600 22,300
3 20.300 23.400
3 20,300 23,400
3 20.300 22.300
3 22,300 22,300
3 22.300 20.300
INAFE 3 - 16,800 16,800
3 16,800 16,800
3 16,800 16,800
3 16,800 16,800
3 - 16,800 16,800
3 — | 16800 16,800
REECRE)=-FaE | RECRE) R 3 7 31,500 30,000
3 7 32500 33,500
3 7 33,500 30,000
RS 3 7 25,000 25,000
3 7 28,000 28,000
3 7 30,000 30,000
R CRE) =R HRCRE) % 24,500 24,500
24,500 24,500
24,500 24,500
24,500 24,500
24,500 24,500
EIES 24,500 24,500
24,500 24,500
— | 24500 24,500
f— 24,500 24,500
— [ 24500 24,500
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BAME | AR | AR | AN B B | EAE | BN | BN | B8 | B8 | B84 | B8 | B8 | 884 | E8% | E8E | 288
RRCHE)=LE RR(PE) % — | 28000 - 28,000 | 25500 000 28,000 | 25500 000 28,000 | 25500 000
28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
28,000 28,000 |_25.500 000 28,000 |_25.500 000 28,000 | 25500 000
28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
— 28,000 28,000 |_25.500 000 28,000 | 25500 000 28,000 | 25500 000
- 28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
28,000 28,000 | 25500 000 28,000 | 25500 000 28,000 | 25500 000
28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
TRES — 28,000 28,000 | 25500 000 28,000 | 25500 000 28,000 |_25.500 000
- 28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
28,000 28,000 | 25500 000 28,000 | 25500 000 28,000 |_25.500 000
28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500 | 24.000
— 28,000 28,000 | 25500 000 | _—— | 28000 | 25500 000 | _—— | 28000 | 25500 000
- 28,000 28,000 25500 | 24.000 28,000 25,500 | 24.000 28,000 25,500
28000 28,000 | 25500 000 28,000 | 25500 000 28,000 | 25500
- 28,000 28,000 25,500 | 24.000 28,000 25,500 ,000 25,500 | 2
RRCRE)=LOFE FRCRE) % 7 30.700 30.700 | 29.000 700 30,700 | 29.000 700 | 29.000
7 30.700 30.700 29,000 28,000 30.700 29,000 29,000
7 30.700 30.700 | 29.000 | 28.000 30.700 | 29.000 29,000
7 30.700 29.000 28,000 30.700 29.000 29,000
T=E="F3 7 30.700 29,000 30.700 | 29.000 29,000
7 30.700 30.700 29.000 29,000
7 30.700 30.700 | 29.000 29,000
7 30.700 30.700 29.000 29,000
BR(AE)-HE R (PE) R 30,000 30,000 | 29.500 29,500
30,000 30,000 29.500 29,500
30,000 30,000 | 29.500 29,500
30,000 30,000 29.500 29,500
30,000 30,000 | 29.500 29,500
HESR 30,000 30,000 | 29.500 | | 29500 |
30,000 30,000 | 29.500 29,500
30,000 30,000 29.500 29,500
30,000 30,000 | 29.500 29,500
30000 30,000 | 29500 [ 29500 | 2
FERERET R (PE) R 32.700 32.700 | _30.700 700
32,700 32,700 30.700 | _30.700
32.700 32,700 | 30700 700
32,700 32,700 30.700 | _30.700
— 32.700 32,700 |_30.700 700
- 32,700 32,700 30.700 ,700
32.700 32.700
wEH 32,700 32,700
— 700 700
B — 700 700
E 700 700
B 700 700
E — 700 700
B — 700 700
HECRB) =& RERPE) % .000 .000
000 000
000 000
000 000
000 000
000 000
000 000
BT 000 000
000 000
000 000
000 000
000
000
000
HR (RER)=BA R (PE) R 5.300
E 5,300
E 5.300
E 5,300
E 5.300
TS B 5,300
E 5.300
E 5,300
E 5.300
B 5.300
R CRE)=#l HRCAE) % 38 34,900
36 34,900
38 34,900
36 34,900
38 34,900
36 34,900
EATIE 38 34,900
36 34,900
38 34,900
36 34,900
38 34,900
36 34,900
HECRE) =L AM HRCAE) % 38 78 32,500
36 78 33,500 | 33800 |
38 78 35,500 31,500
38 78 38,000 25,500
38 78 37,900
EZE 30 78 26500
38 78 28,500
36 78 28,500
38 78 27,500
36 78 25500
HRCHE)=X% R (PE) R 3H 76 41,400
36 78 41.400
3B 78 41,400
36 78 41.400
3B 78 41,400 41,400
38 78 41.400 41.400
K% 3 7 36,600 36,600
3 7 36.600 36.600
3 7 36,600
3 7 36.600
3 7 36,600
3 7 36.600
HECRE)=R& HRCRE) % 3 7 45,100
3 7 45.100
3 7 45,100
3 7 45.100
3 7 45,100
3 7 45.100
EI&% 3 7 41,200
3 7 41.200
3 7 41,200
3 7 41.200
3 7 41,200
3 7 41.200
R CHE)=fEA RR CHE) 3 7 42,600
3 7 42,600
3 7 42,600
3 7 42,600
3 7 42,600
3 7 42,600
3 7 42,600
3 7 42,600
HEA R 3 7 38,800
3 7 38.800
7 38,800
7 38.800
7 38.800
7 38.800
7 38.800
7 38.800
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N N N N 12727 12/28 12/29 12/30 ]
- &% ﬁ‘i’:ﬁ’ § *#‘?2’ i *%z’:; i *#‘Zj]’ BT AT [T R A7 AR el By (s (R ARE ALy (R A7 AR s s REITD
BAME | AR | AR | AN EEE | E| EEE | EAE | EAE | Em B | EAE | BN | BN | BN | B8 | B84 | 884 | E58E | 288
KR (FF-ERE KR (FFh % — 28.400 |_19.600 - 28.400 23,500 28400 | 25700 | 23000 28400 | 25700 | 23000
28,400 [_19.600 28,400 23,500 28,400 23,000 28,400 | 25700 | 23.000
28.400 [_21.700 28.400 25.200 28.400 25.200 28.400 25.200
28,400 [ 22,500 28,400 25,200 28,400 25,200 28,400 25,200
— 28.400 [_21.100 28.400 25.200 28.400 25.200 28.400 25.200
—— 28,400 [_21.100 28,400 25,200 28,400 24,700 28,400 [_24.700
28.400 [_21.100 28.400 25.200 28.400 24.400 28.400 [_24.400
28,400 [_21.100 28,400 25,200 28,400 23,700 28,400 [_23.700
ERBR — 28.400 |_19.600 28.400 |_19.600 28.400 600 28.400 .600
—— 28,400 [_19.600 28,400 [_19.600 28,400 [_19.600 28,400 |_19.600
28.400 |_19.600 28.400 |_19.600 28.400 600 28.400 .600
L2404 28,400 [_19.600 28,400 [_19.600 28,400 [_19.600 28,400 |_19.600
[ JL2406 — 28.400 |_19.600 28.400 |_19.600 28.400 600 28.400 .600
L24 — 28,400 X 28,400 20,300 28,400 [_19.600 28,400 |_19.600
JL: 28.400 28.400 20.300 28.400 600 28.400 600
UL 28,400 28,400 19,600 28,400 400 |_19.600
BEE (P E) =ALIR (T | B2 (PED) 5 | L .800 .800 39.900 .800 .900 .600
[UL31 800 800 39,900 800 .900 | 3 600
JL3107 .900 .900 38.700 .900 .900 | 3
JL3117 ,900 ,900 38,700 —— ,900 .900
FLIR (F TR 56 [ .900 .900 27.200 .900 .900
[J ,900 ,900 ,900 .900
J .900 .900 .900 .900
J 900 ,900 ,900 .900
BZHE(MO=ILT 2HEBUMOR[ J 100 100 .100 -100
J 100 100 100_| 100
[ Z 3 30.100 30.100 30.100 100
J 31,100 31,100 31,100 100
ZEEIMR-HE | BEEMOR|J 26.100 26.100 26.100 26.100
JL4437 25,100 25,100 25,100 | 25,100
HER JL4432 25.100 25.100 25.100 25.100
JL4438 26.100 26.100 26.100_| 26,100 |
FHBUMO=$E [2ERUMD ] JL433 A A 31.000 31.000 31.000 31.000
FR% JL433 i ] 31,000 31,000 31,000 31,000
AER(MD-BE | BEE (MR | JL3T 26.600 26.600 26.600 26.600
JL437 26,600 26,600 26,600 26,600
JL437 26.600 26.600 26.600 26.600
S JL437 26,600 26,600 26,600 26,600
JL437 — 26.600 26.600 26.600 26.600
JL437 —— 26,600 26,600 26,600 26,600
ZHE MO/ AHE (MR [ JL440 .800 .800 .800 .800
[ JL440: 800 800 800 800
| JL4405 — 800 800 800 .800
JLa413 B B — 300 300 300 300
JL4415 .800 .800 .800 800
@M% | JL4400 300 300 300 300
[ JL4402 — 300 300 300 300
[ JL4408 — 800 800 800 800
JL441 .800 .800 .800 800
JLa4t 800 800 800 800
ZERMR R | BBE (MR R |_JL 800 800 .800 .800
JL B B B 25,000 25,000 000 000
JL4347 E E 800 800 800 .800
AR JL B B — 800 800 800 800
JL B B .800 .800 800 800
JL B B 800 800 800 800
IR TR =250 | FLOR G FaR) 8 | JL271 .200 .200 22.200 22.200
JL271 — 200 200 22.200 22.200
JL271 .200 .200 22.200 22.200
ES LS JL271 200 200 22.200 22.200
JL271 .200 .200 22.200 22.200
JL271 — 200 200 200
HIREFFR)=FH | AMETFR) F [ JL2803 .600 .600 .600
JL2805 B 600 600 600
JL2809 B 600 600 600
BHR JL2804 B 600 600 600
JL2806 B 600 600 600
JL2810 B 600 600 600
FLIR (B F8)=RE FLIR (B F i) % [_JL2821 H 7.100 7.100 7.100
JL2827 B 7,100 7,100 7.100
HER JL2822 B 7.100 7.100 7.100
JL2828 B 7.100 7.100 7.100
ARG TR 58 FaRRE JL2871 38 32,800 32,800 32,800
JL2877 38 32.800 32.800 32.800
FLUE (F T %) % |_JL2872 38 32,800 32,800 32,800
JL2876 38 32.800 32.800 32.800
ARG TR - WE% JL2901 38 34,300 34,300 34,300
JL2903 38 34,300 34,300 34,300
JL2905 38 34,300 34,300 34,300
JL2907 38 34,300 34,300 34,300
JL2909 38 34,300 34,300 34,300
FLR (BT F#%)  [_JL2900 38 34,300 34,300 34.300
JL2902 38 34,300 34,300 34,300
JL2904 38 34,300 34,300 34,300
JL2906 38 34,300 34,300 34,300
JL2910 38 34,300 34,300 34,300
= EBNES JL3669 BIE 23,800 23,800 23,800
e JL3668 AIE 23,800 23,800 23.800
AR FF TR =L8 LE% JL3403 3 49,600 49,600 49,600
#L0R (3 F58) % | JL3406 38 49,600 49,600 49,600
BE-IE FES JL3531 38 48,300 48,300 48,300
JL3537 38 48,300 48,300 48,300
wa% JL3530 38 48,300 48,300 48,300
JL3538 38 48,300 48,300 48,300
EE=-318 e JL3525 3H 48,400 48,400 48,400
SRR JL3524 38 48.400 48,400 48,400
BE-TAA FSED JL3545 3 38 32,500 32,500 32,500
JL3547 38 38 29,500 29,500 29.500
FaAE JL3542 38 38 29,500 29,500 29,500
JL3544 38 38 29,500 29,500 29.500
BE-HE RERE JL3811 29,000 29,000 29,000
JL3815 30.500 30.500 30.500
JL3817 30,500 30,500 30,500
JL3819 30,000 30,000 30,000
HER JL3810 30,000 30,000 30,000
JL3812 30.500 30.500 30.500
JL3816 28,500 28,500 28,500
JL3818 28,000 28,000 28,000
ALIR (BT8R =1 AR FLOF (3 Fa%) 36| JL2851 | 3 3 3 37,500 37,500 37,500
HAAS JL2852 | 3 3 3 37.500 37.500 37,500
#BE=-ER HHE JL3573 | 3 3 3 32,700 32,700 32,700
BERE% JL3574 | 3 3 3 32.700 32.700 32.700
HREFTFR) =LA [ ABEFTFRIFE] JL2843 | 3 3 3 30,300 30,300 30,300
x3 JL2842 | 3 3 3 30.300 30.300 30.300
HE-HE H4FE 5 JL3491 | 3 3 3 25,300 25,300 25,300
HE JL3494 | 3 3 3 25.300 25.300 25.300
i&E=HE A& JL2993 | 3 3 3 33,500 33,500 33,500
£ JL2992 | 3 3 3 33,500 33,500 33,500
HE=R S JL2603 | 3 3 3 21,700 21,700 21,700
A% JL2602 | 3 3 3 21.700 21.700 21.700
HWE=HE S JL2615 | 3 3 3 20,400 20,400 20,400
HER JL2616 | 3 3 3 20.400 20.400 20.400
FLIR (EEEF) =228 FLIR(EHR) F | JL2861 20,800 20,800 20,800
JL2863 20.800 20.800 20.800
JL2865 20,800 — —
JL2869 20.800 20.800 20,800
FEES JL2860 20,800 20,800 20,800
JL2862 20.800 20.800 20.800
JL2864 20,800 — — — —
JL2868 — 20.800 20.800 | 20700 | 20.600 — 20,800 20,600
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o o o N 12/27 12/28 12/29 12/30 |
- &% ﬁ‘i’:ﬁ’ § ﬁ‘i’:ﬁ’ i *%z’:; i *#‘i:j]’ BT AT [T R A7 AR el By (s (R ARE ALy (R A7 AR s s REITD
BAME | AR | AR | AN EEE | E| EEE | EAE | EAE | Em B | EAE | EAE | Em B | EAE | B84 | B84 | E80E | 288
IR (B3 -mte HR(ER) R — | 17300 17100 |- 17.300 17.100 17.300 17.100 17.300 | 17.200 | 17.100
17.300 17.100 = - = = —
17.300 17.100 17.300 17.100 17.300 | 17.200 | 17.100
17.300 17.100 17.300 17.100 17.300 17,200 17.100
— | 17300 17.100 — — — - —
e 17.300 17.100 17.300 17.100 17.300 17,200 17.100
EE] 17.300 17.100 17.300 17.100 17.300 | 17.200 | 17.100
17.300 17.100 -— -— -— -— — — —
— | 17300 17.100 17.300 17.100 17.300 17.100 17.100
— 17.300 17.100 17.300 17.100 17.300 17.100 17.100
17.300 17.100 — — — — — —
17,300 17,100 17,300 17.100 300 | 17.200 17.100 [ 17.200 | 17.100
AR (EH) =FIR AR ER R 7 7 7 — — — 17,000 000 . 000
7 7 7 e 17.000 16,000 17.000 | 16.000 ,000
FIRR JL2880 | 7 7 7 — — 17,000 000 000
JL2882 | 7 7 7 17.000 |_16.000 17.000 [_16.000 [_16.000
WAE-BLR W JL2891 | 7 7 7 13,300 [ 12300 13,300 300 300
BFRF JL2890 7 7 7 13.300 12,300 13.300 ,300 ,300
FLIR(EH)= FLIR(E3) % | JL2s1] 18.800 17.800 18.800 |_17.800 300 | 17.800
JL28 — — — 18.800 7.800 |_17.800
=R¥E | JL28 18,800 17.800 800 7.800 7.800
JL28 o o ,800 7.800 7.800
KR (B -HE KR () 5% | JL234 700 17.400 700 7.400 7.400
[ JL234 o ,700 17.400 ,700 7.400 7.400
[ JL2355 700 17.400 700 7.400 7.400
JL2357 ,700 17.400 ,700 7.400 7.400
HER JL2342 700 17.400 700 7.400 7.400
[ JL2346 ,700 17.400 ,700 7.400 7.400
[ JL2356 700 17.400 700 7.400 7.400
JL2358 ,700 17.400 ,700 7.400 7.400
ERE=2 5 FRES [ JL3621 20.600 20.400 20.600 20.400 20,400
[ JL3625 20.600 20.400 20.600 20.400 20.400
[JL3629 20,600 20,400 20,600 20,400 20400
[ JL3631 20.600 20.400 20.600 20.400 20.400
JL3633 20,600 20,400 20,600 20400 20400
[ JL3639 20.600 20.400 20.600 20.400 20.400
JL3641 20,600 20,400 20,600 20400 20400
= [ JL3620 20.600 20.400 20.600 20.400 20.400
[ JL3622 — | 20600 20,400 20,600 20,400 20400
[ JL3626 o 20.600 20.400 20.600 20.400 20.400
JL3630 20,600 20,400 20,600 20,400 20400
[ JL3632 20.600 20.400 20.600 20.400 20.400
JL3634 — | 20600 20,400 20,600 20400 20.400
JL3642 B B B — | 20600 20400 | _—— | 20,600 20,400 20400 | —
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RERPE) %

5.300

5,300

5.300

5,300

5.300

5,300

5.300

5,300

5.300

5,300

R CRE)=#l

HRCAE) %

34,900

34.900

34,900

34.900

34,900

34.900

EATIE

34,900

34.900

34,900

34.900

34,900

34.900

HECRE) =L AM

HRCAE) %

24,500

25,500

25,500

24.500

24,500

EI=¥IES

24.500

HECRB)=K%

HERCAE) %

N

RRCAB)=RK

RRCAB) %

RIGR

R CAB)=fEX

RRCAB) %

BERF
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=40]

HE7A

(@578

FEIM7'q

HEI7

12/31

H{E7A

]
15547 B @7 CHEIID

T8
AR

RECRB) =B

RRECRE)#

23]
| B AR

FH
38

| s AR

ERE

.600

,600

.600

,600

.600

,600

.400

8,400

38.400

38.400

38.400

38.400

RRPAE)=ERS

RRECRE)#

.100

.100

.100

.100

.100

.100

.100

.100

ERBH

.500

.500

.500

.500

.500

.500

.500

.500

R () =KIR (51

R (RRE) #

.800

.800

KB (5 %

.800

.800

R (R =HLIR (BT F %)

B (L) %

.700

AR (R TF ) %

35,700

RRERCAR)=2HE (F )

RRECRE)#

17.400

9.900

BEE(FE R |_JL

9.100

17.400

RE(RE)=2HE (F )

R (RRE) #

17.400

17.400

HEE(PE) R

7.400

R (L) =18/

B (L) %

]

KR (F54) =R

KB (FFF) 5

RIR () =F %

BRfE
KB (5

BEHE

ECESE T

KB (5

HER

AR (FFH=ILE

KB (5

KR (=578

PNk

HBRR

KRR (75 =#1l

PNk

IS

KBR (=K%

PNk

EX

RIR () =R

PNACE Ok

RIGH

o [eo eo |eo [eo feo oo o |eo [eo feo o |eo feo feo oo [eo |eo [eo feo[eo |eo |eo [eo [eo o |eo |eo feo [eo

KR (FH)=HER

PN ACEF

BERF

RIR (B =28

PN ACEF

o [co[eo |co feo [eo feo o |eo feo feo [eo

AR (BFH=EER.

KR (£751) %

ERBR
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o o o o 12/31 |
- g |7 AR R QR O ey AT A7 RS 7 [REI7D
FH FH FH FH EE | @R EFE | E@RE
A SRR | 6 ANARE | BEAKADR | AR | T = = =
BEE (P -ALIE (Fi T A & (P ) % — 900 32600 | -
[ J ,900 32,600
J 900 [ 27.700
,900 [ 19.900
HLIR (BT FiR) % — .900 |_27.200
[ J f— ,900 | 27.200
J 900 [ 32,600
,900 32,600
AZHE (M=ILT 2HEEBUMOR| J — .100 25.100
f— ,100 24,100
wRE [ 30.100 24,100
31.100 25,100
EZEEMD-HE | ZERMOE | — | 26100 [ 23.000
— 25,100 [ 21.100
HER J 25.100 |_21.100
J 26,100 [ 22.100
FHEBUMO=$8 [2ERUMO] J i A 31.000 25,500
FBRE J B B 31,000 25,500
AEE(MO=BH 2HEBUMO R J 26.600 | 22,600
J 26.600 | 22,600
J 26,600 |24 [ 22.600
ELES J 26.600 | 24 [ 22,600
J 26.600 | 24.600 | 22.600
J — 26.600 | 24 [ 22,600
FHERUMO=BE [ 2FBRMOR]|J 800 [ 21 |_19.800
[J 800 | 21 | 19.800
[ 800 | 21 [_19.800
J ,300 2 | 19.300
J 800 [_18.800
EEEES [J ,300 [ 18.300
[ 300 [19.300
[ J ,800 | 19.800
J 800 [_19.800
J ,800 | 19.800
BHERUMO=EEX [2FBROMOR|J .800 |_21.000
J ,800 [ 21000
J 800 [_21.000
A5 J .800 | 21,000
J — 800 [_21.000
J o ,800 | 21,000
ARG FR)=Zm5 | ARGTTFR) | J .200 |_22.000
J ,200 | 22,000
J — 200 [ 22,000
ESTES J E B B — 200 [ 22,000
J 200 [22.000
JL 200 [ 22,000
HIREFFR)=FH | AMEFTFR) F [ JL2803 — .600 | _23.400
JL2805 B — 600 [23.400
JL2809 E 600 [23.400
EHRRE JL2804 B 600 [23.400
JL2806 E 600 [23.400
JL2810 B 600 [ 23.400
FLIR (B F8)=RE FLIR (B F i) % [_JL2821 B 7.100 26.900
JL2827 B — 7,100 26.900
HER JL2822 E 7.100 26.900
JL2828 B 100 26.900
AR F TR TR FRRE JL2871 B 800 [ 32.600
JL2877 B 800 [ 32,600
FLUR (7 T 2%) 5% |_JL287: E 800 [ 32.600
JL287 B 800 [ 32,600
IR EFFR)=LE (= JL290 B .300 | 34100
JL290: B 300 [ 34.100
JL2905 E 300 [ 34.100
JL2907 B 300 [ 34.100
JL2909 E 300 [ 34.100
ALIE (Fr F4%) 5 [ JL2900 B 300 [ 34.100
JL2902 E 300 [ 34.100
JL2904 B [ 34.100
JL2906 E 34.100
JL2910 B
FE=IL AN EIRLES JL3669 BIE
RS JL3668 AIE
HIEFFR)=ES CE JL3403 3
FLOR (3 F i) $ | JL3406 38
BE=-LE [EEES JL3531 38
JL3537 38
wa% JL3530 3B
JL3538 38
BE=HR EEIEE JL3525 36
SRR JL3524 38
[EHEEES EEES JL3545 3 38
JL3547 38 38
AR JL3542 38 38
JL3544 38 38
1BRE=#4 [EEES JL3811
JL3815 B E
JL3817
JL3819
FER JL3810
JL3812
JL3816
JL3818
HMEFEFR)=IA [ ARG F| JL2851 3 3
AR JL2852 38 38
E-ERS I JL3573 30 36
ERE JL3574 38 38
HMEFFFR) =L [ HLIEGHTFE) S| JL2843 30 36
N2 38 38
FE-HE FiIRES 30 30
HE: 38 38
WE=HE L= 3 3
% 3 3
WE=AA 5 3 3
AR 3 3
WE=HE L)k 3 3
HES 3 3
HLIR (3 =2IER FLIR (30
FlEES
HLIR (E3F) =BfE FLIR (30
AR
IR (B =FIFR ALIR (FLEk) 7 7 7
AR 7 7 7
E3EET EfER 7 7 7
ESE 7 7 7
FLIR (30
ZiR%
KR () =HE KB (75 %

JAL
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Ny N N N 2731 ]
=P g |7 AR R QR O ey AT A7 RS 7 [REI7D

B T 70 | 78 | wne | e | mwe | @
AR | BARE | mAE | o EUE | EAE | EAE | ERE

BE-EH EES 20600 | 20500 | 20.400 | —
——— | 20600 | 20,500 | 20400 | -——

—— | 20600 | 20.500 | 20400 | -——

—— | 20600 | 20,500 | 20400 | -—

—— | 20600 | 20.500 | 20400 | -——

——— | 20600 | 20,500 | 20400 | -——

—— | 20600 | 20.500 | 20400 | -——

ECE] ——— | 20600 | 20,500 | 20400 | -——
—— | 20600 | 20.500 | 20400 | -——

—— | 20600 | 20,500 | 20400 | -——

— | 20600 20400 | _——

—— | 20600 20400 | -

— | 20600 20400 | _——

e 20.600 20.500 20.400 e
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Ny Ny Ny Ny 71 72 73 74 ]
= g |7 AR SR QR O e 7 AT 7 R O A7 A7 Clr 17 (a1 R ARE7 Aty R |7 AR 3 7 REI (7D

f TF TF ERE ERE | EfRE | El B | ERE | ERHE | ER EEE | Efs | ERE | EAE | B0 | EAE

FH £ # FH
BEARAGE | 55 A KR | BEA AR | B A AR
— 600 - 600 [_11.200 600 12,400 600

.500 .600 | 12,800 .600 ,500
.500 .600 .800 .600 .500
.500 .600 | 12,800 .600 ,500
.500 .600 .800 .600 .500

RECABR)=AR () | RRCABE) % L101 1
1
1
1
1

500 16.600 800 600 500
1
1
1
1
1

03

500 600 400 600 500
500 600 400 500 20,400
500 600 400 500 20.400
500 |_13.400 20,400
500 500 20.400
500 700 20,400
500 .700 20.400
500 700
500 .700
000 ,000
.000 000
000 700
.000 .700
000 500
.000 500
000 500
.000 500
000 100
.000 .100
000 [_19.300
.000 .300
000 300
.000 .300
000

KR (£751) %

RRCAB)=XK (FfE) [ RRCAB) % .700
.700
.700
.900
.700
,700

KR (BAEE) %

N - - -

RRERCAE) =R FTR)| RRCAHE) % 35.400
35.400
— 35.400
i 35.400
35.400
35.400
— 5.400
— 5,400
5.400
5,400
— 5.400
— 5,400
5.400
5,400
5.400
5,400
.400
— .900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900
.900

ALIR (BT FiR) %

.500
.500
38,500
38.500
38,500
38.500
38,500
38.500
38,500
38.500
38,500
38.500
38,500
38.500
38,500
38.500
38,500
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
42,600
— 42,600
42,600

R CRE) =18/ RERPE) %

EEEES

RRCAB) =44 (BH) [ RRCAA) £ 45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
45100
45,100
— 45100
— 45,100
— 45100

0 GIRER) ¢
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FES7 N B 7 SIS 7 RS 7 Y] 72 73 77 ]
=40} B2 C B2 A B4 7 B HE 547 C 1B 54 7 D B 947 A 15 (B 547 B 1B 4 7 O 1B 54 7 D) 15 54 7 A 1B 547 B 1B 547 C| 15 {B 547 D 1B 547 A 1B ST B[ 15 (B 947 ([ 15 E417 D
x| | 5 | s | R B | B | BN | B | BN | EIA | BN | BN | ERE | B | BN | ERH | ERE | ERE
RIR (FFD =4I (FFm)| AR (B % — 400 36700 | - 400 | 37.200 | 36.700 400 | 37.200 | 36.700 400 |_37.200 700
400 36.700 400 36.700 400 36.700 ,400 37200 | 36.700
400 36.700 400 36.700 400 36.700 .400_|_37.200 700
400 24,400 400 24,400 400 24,400 400 25,400 24,400
— 400 24,400 400 24400 400 24,400 400 400
e 400 36.700 400 36.700 400 36.700 400 | 36.700
AR FTR % 400 24,400 400 32500 400 34,600 400 700
400 24,400 400 32,500 400 36.200 ,400 39.800
— 400 24,400 400 32500 400 36.200 400 800
e 400 36.700 400 36.700 400 39.200 ,400 ,300
400 36.700 400 36.700 400 38.300 400 300
400 36.700 400 36.700 400 38.300 ,400 ,300
RIR (BB =ALIE (FF )| ABR (BAE) 5 — 400 23.900 400 23.900 400 23.900 400 900
e 400 23.900 400 23.900 400 24,400 ,400 ,900
400 22.900 400 25.900 400 25.900 400 900
IR (T % 400 25,500 400 30.400 400 33,600 400 700
400 27.200 400 [30.400 400 34,100 400 700
400 36.700 400 | 37.900 400 38.900 400 | 39.800
KR (53) =18/ KR (£751) % .200 [ 13.200 .200 [_16.200 .200 .200 .200 .200
— ,200 [ 14500 ,200 | 18800 23,200 [ 17200 .200 [ 17.200
200 [_14.300 200 000 23.200 100 200 8.100
,200 [ 14200 ,200 | 18800 23,200 [ 17.300 ,200 [ 17.300
FHRED 200 [13.200 200 [_13.200 23.200 18.400 200 [_18.400
,200 [ 14.300 ,200 [ 19.600 23,200 100 .200 [ 22,100
200 [_14.300 200 100 23.200 21.200 200 [_21.200
,200 | 13.200 ,200 | 19.000 23.200 20.400 ,200 20.400
KR (=548 (B | KR EFH R 600 [ 31.100 600 100 7.600 31,100 600 100
7,600 | 31,100 7,600 31,100 e 7,600 31,100 600 | 31,100
7.600 20.200 7.600 20.200 7.600 25.700 7.600 100
HEE) % 7,600 20,200 7,600 20,200 7,600 26.300 7.600 | 32400
7.600 20.200 7.600 20.200 7.600 26.300 7.600 400
7,600 31,100 7,600 35.500 9,200 37.000 0,700 | 38.500
TRE=ALI (BT TR EES 56.300 53.300 56.300 53.300 56.300 53.300 56.300 | [ 53.300
56,300 53,300 56,300 53,300 56,300 53,300 56.300 53,300
AR FTR 56.300 53.300 53.300 56.300 53.300 56.300 53.300
56,300 53,300 53,300 56.300 53,300 56.300 53,300
R CHE) =K 5 R (AE) 3 200 29,000 29,000 200 29,000 3.200 29,600
,200 29.900 29.900 ,200 29.900 13,200 30.500
— 200 [30.400 30400 | -—— 200 30400 | -—— 3.200 500
iR — 500 | 41,500 35,600 500 39,600 7.500 600
500 [ 38.500 [_35.600 500 39,600 7.500 600
500 | 37.600 | 34.900 500 38,900 | 38900
RAR CRE) =18l R CAE) % — 100 [_18.400 [_18.400 100 17.600
E E — 100 [_18.700 [_18.700 100 [20.900
E E 100 [19.100 [_19.100 100 [ 21.300
E E 100 20,100 [ 20.100 1100 [ 22.300
JEIES E E — 5.600 [ 33.500 [33.600 5.600 [ 37.600
= = — 5,600 [ 32,500 [ 34.300 5,600 [38.300
E E 600 [ 32,500 [ 34.300 600 [ 38.300
= = 600 [31.600 [33.600 600 [ 37.600
HR CRE)=SEk R CAE) % B B 500 [ 33.600 [ 33,600 500 [ 33.600
= = 500 [ 33,600 [33.600 500 [33.600
E E 500 [ 34.500 [ 34.500 500 [ 34.500
FEE] E E 100 [ 34900 31,800 100 [35.800
E E 100 [34.000 [34.000 100 [ 35.700
E E 100 [ 34,000 [ 31.800 100 [35.800
HR (FE)=#E HERCPE) & B B .800 20.100 20.100 .800 | 23.300
E E 800 800 [ 23.200
E E 800 800 [23.200
E E 800 800 [ 23.200
LR E E 400 400 [ 37.600
E E — 400 400 [ 38.300
E E 400 400 [38.300
E E 400 400 [ 37.600
R CRE) =EiE RERPE) % B B .900 .900 | 24500
E = 900 900 [ 25.100
E E 900 900 [24.300
R E E 600 600 [ 32.700
E E 600 600 [ 32.700
B B 600 600 [ 32.700
B (FE) =5 HERCPE) & .500 22.300 | 18.000
500 22.300 18,000
23,500 22,300 18,000
23,500 23.800 19,800
23,500 23,800 19,800
23,500 23.800 19,800
ERR 23,500 22,300 18,000
23,500 23,000 19,500
23,500 25,300 22,100
23,500 25.800 21,800
23,500 26,300 22,500
23,500 24,300 20.300
R CHE) 5% | _JLI 20,900 20,400 16,900
20,900 20.400 17.400
20,900 20,400 17,400
ZR% 20,900 22,000 18,700
20,900 22,000 18,700
20,900 22,000 18,700
R (W) =HKE R CAE) 21,800 20,800 17,800
24,900 23,700 20.700
21,900 20,700 17,700
23,500 21,500 18,500
P 23,000 28,600 22,600
23,000 29.300 27.100
23,000 29,300 27,100
23,000 28,600 23,000
HR (FE) =L R CAE) 17,300 15,800 12,800
17.300 16,300 12,800
g% 17,300 18,100 15,100
17.300 18,100 15,100
HR (FE) =M BR (RE) & 3 15,500 16,000 13,700
3 16.000 16.700 14,000
3 16,000 17,200 14,200
3 16.000 17.200 14,200
3 16,000 17,200 14,200
3 16.000 17.200 14,200
INARE 3 16,000 18,600 15,100
3 16.000 18,600 15,100
3 16,000 21,900 17,700
3 16,800 21,900 17.700
3 - 16,800 21,900 17,700
3 — | 16000 19.600 16.000
AR (PE)-AREE | RAR(PER 3 7 21,500 24,800 22,000
3 7 23.300 25.700 22.900
3 7 19,000 24,500 22,000
EEEEES 3 7 21300 26.400 23.400
3 7 25,500 29,500 26,000
3 7 25500 29500 26.000
R CHE)=F R (RE) & 24,500 24,500 16,300
24,500 24,500 16.300
24,500 24,500 16,300
24,500 24,500 16.300
24,500 24,500 16,300
EIES 24,500 24,500 17.700
24,500 24,500 17,700
— | 24500 24,500 18,500
- 24,500 24,500 18,500
— [ 24500 24,500 18,500




MFEEI511/3/7 EER(1A1~4BEES) JAL

EW#EMAA ;. 2019/08/27 ~

1/1 1/2 1/3 1/4 |
B2 A B4 7 B HE 547 C 1B 54 7 D B 947 A 15 (B 547 B 1B 4 7 O 1B 54 7 D) 15 54 7 A 1B 547 B 1B 547 C| 15 {B 547 D 1B 547 A 1B ST B[ 15 (B 947 ([ 15 E417 D
ERE EEE | EfNE | BN | BN | EWE | ERS | ENH | ENE | BN | Eas | BN | E0s | Eas

R B EIMT B EM 7 QI ES T

# FH FH

EH % —=n % MRS
AR | IR | 55 AR | 55 A AR

28.000 28.000 25.500 .000 28.000 25.500 .000 21.500 21.000 .400
28,000 28,000 25,500 ,000 28,000 25,500 ,000 23,500 23,000 | 22300
28.000 28.000 25.500 .000 28.000 25.500 .000 26.000 25.500 .000
28,000 28,000 25,500 ,000 28,000 25,500 ,000 .500 .000 ,000
- 28.000 28.000 25.500 .000

28,000 | 25500 | 24.000 — 500 |_21.000 000
e 28,000 28,000 25,500 ,000
28,000 28000 | 25,500 000

28,000 25,500 ,000 .500 .000 ,000
28.000 25.500 .000 .500 .000 .000

28,000 28,000 25,500 ,000
- 28.000 28.000 25.500 .000

28,000 25,500 ,000 .500 .000 ,000
28.000 25.500 .000 .500 .000 .000
e 28,000 28,000 25,500 ,000 28,000 25,500 ,000 .500 .000 ,000
28.000 28.000 25.500 .000
28,000 28,000 26.600 ,000

28.000 26.700 .000 .500 .000 .400
28,000 26.200 ,000 .500 .000 ,400
- 28.000 28.000 26.600 .000 - 28.000 26.800 .000 - .500 .000 .400
e 28,000 28,000 26.600 ,000 28,000 27.700 ,000 .500 .000 ,400
28.000 28.000 26.100 .000 28.000 27.200 .000 .000 20.000
i 28,000 28,000 26.100 .000 28,000 27,200 .000 000

RECAB)=LES RRECRE)#

[EES

RERCAB)=WOFH [ ZRRCAB)H 30700 30700 | 29.000 .700 30700 | 29.000 .700
30.700 30.700 29,000 7,700 30.700 29,000 7,700
30.700 30.700 | 29.000 30.700 | 29.000 | 27.700
30.700 30.700 29,000 | 27.700
30.700 30.700 | 29.000 | 27.700
30.700 30.700 29.000 7,700
30.700

30.700 29.000 7.700
30.700

] ] ] 1 0 N )

[ 30700 | 29,000 | 27.700
30.000 30.000 29.500 29.000
30,000 30,000 29,500 29,000
30.000 30.000 29.500 29.000
30,000 30,000 29,500 29,000
30.000 30.000 29.500 29.000
30,000 30,000 29,500 29,000
30.000 30.000 29.500 29.000
30,000 30,000 29,500 29,000
30.000 30.000 29.500 29.000
30,000

RECAR)=HE RRECRE)#

o
S
S

30,000 | 29,500 | 29.000
32.700 32.700 | 30700 | 30.200
32,700 32,700 | 30,700 | 30.200
32.700 32.700 | 30700 | 30.200
32,700 32,700 | 30,700 | 30.200
— 32.700 32.700 | 30700 | 30.200
—— 32,700 32,700 | 30,700 | 30.200
32.700 32.700
32,700 32,700
— 700

700
— 700 700
700

.700
.700

700
— 700 700
— 700

=
=
S

RECABR) =8 RRECRE)#

I~
=]
S

=
=
S

I~
=]
S

=
=
S

I~
=]
S

=
=
S

—
=]
S

=
S

.700
.000 .000
.000

.000
.000 .000
.000 .000
.000 .000
.000 .000
.000 .000
.000 .000
.000 .000
.000 .000
.000 .600
.000
.000
.000

HECRB) =& RERPE) %

S(S[3|S|5[3(3|3|8|8|3[38|3|8|8(8(3|8

5.300
5,300
5.300
5,300
5.300
5,300
5.300
5,300
5.300
5,300

HECRBR) =B RERPE) %

34,900
34.900
34,900
34.900
34,900
34.900
34,900
34.900
34,900
34.900
34,900
34.900

R CRE)=#l HRCAE) %

EATIE

25,000
26.500
26,500
25,500
25,500
24.500
25,500
27.500
27,500
23.500

HECRE) =L AM HRCAE) %

EI=¥IES

36,600
36.600
36,600
36.600
36,600
36.600
41,400
41.400
41,400
41.400
41,400
41.400

HECRB)=K% HERCAE) %

N

41,200
41.200
41,200
41.200
41,200
41.200
45,100
45.100
45,100
45.100
45,100
45.100

RRCAB)=RK RRCAB) %

RIGR

38,800
38.800
38,800
38.800
38,800
38.800
38,800
38.800
42,600
42,600
,600
.600
,600
.600
,600
.600

R CAB)=fEX RRCAB) %

BERF
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FES7 N B 7 SIS 7 RS 7 Y] 72 73 77 ]
=40} B2 C B2 A B4 7 B HE 547 C 1B 54 7 D B 947 A 15 (B 547 B 1B 4 7 O 1B 54 7 D) 15 54 7 A 1B 547 B 1B 547 C| 15 {B 547 D 1B 547 A 1B ST B[ 15 (B 947 ([ 15 E417 D
x| | 5| s | R | EEE | e | WA | Ema | BRE | R | SR | SR | SR | SRS | SR | ORE | SRS | ERE | ERE
KR (FF-ERE KR (FFh % — | 28400 [ 23200 | - 28.400 19.600 28400 | 24,000 | 19.600 28.400 000 |_19.600
28.400 | 23.200 28,400 19,600 28,400 | 24.000 19,600
28.400 [23.600 28.400 20.300 28.400 000 |_19.600 28.400 000 |_19.600
28.400 | 24,600 28,400 | 21,100 28,400 | 24.500 20.600 28,400 | 24.500 20.600
— | 28400 [23.600 28.400 [_19.600 28.400 000 600 28.400 600
e 28.400 28.200 28.400 | 19.600 28,400 | 24000 | 19.600 28,400 ,600
28.400 28.200 28.400 [_19.600 28.400 000 600 28.400 600
28,400 | 23200 28,400 | 19.600 28400 | 24,000 | 19,600 28,400 | 19.600
BEREB3 — | 28400 [_22.800 28.400 [_19.600 28400 |_25.600 700 28.400 22,700
e 28,400 22,800 28,400 20.900 28,400 26,700 | 24.900 28,400 24,900
28.400 28.400 20,900 — — 28.400 27,000
L2404 28,400 28,400 21.800 28,400 26.000 28,400 26,000
[JL2406 — | 28400 28.400 22,800 28.400 28.200 28.400 28.200
L24 e 28,400 28,400 23.300 28,400 28.200 28,400 28,200
JL 28.400 28.400 23.300 28.400 28.200 28.400 28.200
JL! 28.400 28.400 23.300 28.400 28.100 ,400 8,100
B (R ER) =ALIR (BT T3 & &2 (FER) 3 |_JL 900 900 32,600 900 32,600 900
[ JL31 ,900 ,900 32,600 ,900 32,600 ,900
JL3107 900 900 20,900 900 22,600 .900
JL3117 ,900 ,900 17.700 e ,900 19,500 ,900
AR FFiR) %[ J .900 .900 36.300 .900 37.500 .900
[ J ,900 ,900 32,600 ,900 35,700 ,900
J 900 900
J ,900 ,900
2HEE(MD=LE [AEEMOR[ Y 1100 1100
J ,100 ,100
wig | 30.100 30.100
J 31,100 31,100
AEERUMO-HE | 2EBUMOR[ Y 26.100 26.100
JL4437 25,100 25,100
HESE JL4432 25.100 25.100
JL4438 26.100 26.100
FHBUMO=$E [2ERUMD ] JL433 A A 31.000 31,000
Fiib kit JL433: i i 31,000 31,000
ZHECMD-EA | AEE (MO R JL437 26.600 26.600
JL437 26.600 26.600
JL437 26.600 26.600
BHR JL437. 26.600 26.600
JL437| — | 26.600 26.600
JL437 o 26.600 26.600
AHEECMO=RE | AEE (MO R [ JL440 800 800
[ JL440 ,800 ,800
[ JL4405 — 800 800
JLa413 B B — 300 300
JLa415 800 800 .
@M% | JL4400 300 300 0_| 20,800
["JL4402 — 300 300 0 800
["JLa408 — 800 800 0 800
JLa4l 800 800 0 800
JLa4t 800 800 0 800
LZHEEUMO=RA | AR (MO %[ U 800 800 0 200
JL B B B 800 800 00 | 22500
JL4347 E E 800 800 500 |_22.500
AR JL B B — 800 26000 500 | 25,000
JL E E 26.000 30,000 .400_|_27.000
JL B B 28,000 29,000 400 |_27.800
IR TR =250 | FLOR G FaR) 8 | JL271 .200 .200 .100 |
JL271 — 200 200 100
JL271 200 200 100
B Tk JL271 200 200 100
JL271 200 200 100
JL271 — 200 200 100
HIREFFR)=FH | AMETFR) F [ JL2803 .600 .600 00
JL2805 B 600 600 00
JL2809 E 600 600
EHRRE JL2804 B 600 600
JL2806 E 600 600 00
JL2810 B 600 600 X 500
FLIR (B F8)=RE FLIR (B F i) % [_JL2821 H 7.100 7.100 7.100 7.000
JL2827 B 7,100 7,100 7.100_| 27,000
HER JL2822 E 7.100 7.100 7100 | 27.000
JL2828 B 7.100 7.100 7.100_| 27,000
IR T m) =58 Fa=E JL2871 3H 32,800 32,800 32800 | 32,700
JL2877 38 32.800 32.800 32,800 | 32.700
FLIR (F T %) % [_JL2872 38 32,800 32,800 32,800 | 32,700
JL2876 38 32.800 32.800 32,800 | 32.700
IR (FFm) =Ia nax JL2901 3H 34,300 34,300 34,300 | 34,200
JL2903 38 34,300 34,300
JL2905 38 34,300 34,300
JL2907 38 34,300 34,300
JL2909 38 34,300 34,300
ALIR (BT F %) % [_JL2900 3H 34,300 34,300
JL2902 38 34,300 34,300
JL2904 38 34,300 34,300
JL2906 38 34,300 34,300
JL2910 38 34,300 34,300
= EZNIES JL3669 BIE 23,800 23,800
e JL3668 R 23,800 23,800
AR FF TR =L8 LE% JL3403 3 49,600 49,600
#L0R (3 F58) % | JL3406 38 49,600 49,600
EE=-LE BER JL3531 3H 48,300 48,300
JL3537 38 48.300 48.300
ez JL3530 38 48,300 48,300
JL3538 38 48.300 48.300
EE=-318 e JL3525 3H 48,400 48,400
SRR JL3524 38 48.400 48.400
BRI BER JL3545 3 3H 29,500 29,500
JL3547 38 38 32,200 32,200
WARZ JL3542 38 38 33,000 33,000
JL3544 38 38 33,000 33,000
EE-m P E S JL3811 29,000 29,000
JL3815 30,500 30,500
JL3817 30,500 30,500
JL3819 30,000 30,000
FRES JL3810 30,000 30,000
JL3812 30,500 30,500
JL3816 28,500 28,500
JL3818 28,000 28,000
ALIR (BT8R =1 AR FLOF (3 Fa%) 36| JL2851 | 3 3 3 37,500 37,500
HAAS JL2852 | 3 3 3 37500 37500
#BE=-ER HHE JL3573 | 3 3 3 32,700 32,700
BERE% JL3574 | 3 3 3 32.700 32.700
HREFTFR) =LA [ ABEFTFRIFE] JL2843 | 3 3 3 30,300 30,300
I3 JL28a2 | 3 3 3 30.300 30.300
HE-HE HE JL3491 [ 3 3 3 25,300 25,300
HE JL3494 | 3 3 3 25.300 25.300
i&E=HE A& JL2993 | 3 3 3 33,500 33,500
EH JL2992 | 3 3 3 33,500 33,500
HE=R 3 JL2603 | 3 3 3 21,700 21,700
A JL2602 | 3 3 3 21,700 21,700
HWE=HE 3 JL2615 | 3 3 3 20,400 20,400
HER JL2616 | 3 3 3 20.400 20.400
IR (E5) =S8 FLR(EH) % [ JL2861 20,800 20,800
JL2863 20.800 20.800
JL2869 20,800 20,800
EEES JL2860 20.800 20.800
JL2862 20,800 20,800
JL2868 20.800 20.800 X
HLIR (E3) =BAE FLIR (30 741 17.300 17.300 17.1
— 17.300 17.300 7.
e 17.300 17.300 17.1
17.300 17.300 7.
AR 17.300 17.300 17.1
17.300 17.300 7.
17.300 17.300 17.1
— 17.300 17.300 7.
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- g |7 AR SR QR O e 7 AT 7 R O A7 A7 Clr 17 (a1 R ARE7 Aty R |7 AR 3 7 REI (7D

x| | 5| s | R | EEE | e | WA | Ema | BRE | R | SR | SR | SR | SRS | SR | ORE | SRS | ERE | ERE
ARER R | AREDE 7 7 7 — | — 1 — [ — T - S N — 7000 | 16500 | 16,000
7 7 7 17,000 17,000 16.000 17.000 7000 | 16.500 | 16.000
FR%E 7 7 7 -— -— f— f— 7.000 .500 .000
7 7 7 17,000 17,000 | 16.000 ,000 7.000 .500 | 16.000
BEfR=BLFR AR 7 7 7 — 13.300 13.300 [ 12300 .300 .300 .300
ETES 7 7 7 — 13,300 13,300 [ 12,300 300 300 300
FLIR (E35) 18.800 18.800 | 17.800 .800 .800 .800
18.800 18.800 | 17.800 ,800 ,800 | _17.800
ZiR%E e .800 .800 | 17.800 .800 .800 7.800
e ,800 ,800 | 17.800 ,800 ,800 | _17.800
KR (R =HHE KB (BF) 700 700 | 17.400 700 22,700 7.400
,700 ,700 | 17.400 ,700 22,700 | _17.400
-— 700 700 | 17.400 700 22,700 7.400
— 700 700 [17.400 700 22,700 [ 17.400
HEHX 700 700 | 17.400 700 22,700 400
,700 ,700 | 17.400 ,700 22,700 | 21,200
700 700 | 17.400 700 22,700 .200
700 700 [_17.400 700 22,700 | 2 21,200
BE-25 BERE 20.600 20.600 20.400 20.600 20.600 20.400
e 20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
=55 20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
20,600 20,600 20,400 20,600 20,600 20,400
20.600 20.600 20.400 20.600 20.600 20.400
e 20,600 20,600 20,400 e 20,600 20,600 20,400
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- &% ﬁ‘i’:ﬁ’ § ﬁ‘i’:ﬁ’ i *%z’:; i *#‘?: BB AT R B s ARE 7 e f5Es 7 BEITD
50| 85| 52 | A | SR B | @R | EReE | B | EEE | ERE
KR PR =HIR TR KR () % — 400 36.700 - 200 |_41.800 | 36.700
400 36.700 200 | 41,800 | 36.700
.400 36.700 .200 | 41.800 | 36.700
400 24,400 200 | 41,800 | 24.400
— .400 24.400 200 00 | 24.400
—— 400 36.700 200 00 | 36.700
HLIR (BT FiR) % 400 36.700 200 00 | 25.400
400 39,800 200 00 | 27.400
— .400 39.800 200 00 | 27.400
—— 400 39,800 200 00 | 36.700
.400 39.800 200 36.700
400 39,800 200 36.700
KB (BATE)=#LIR (3 Fak)| KB (BFE) — .400 23.900 .200 22.400
— 400 24,900 200 17.400
.400 25.900 200 16.400
FLIR R TR R 400 36.700 ,200 23,400
.400 37.700 200 24.400
400 39,800 200 36.700
KR (5 =12 KB (5 % .200 | _13.200 ,200 | _13.200
—— 200 [_14.500 200 [_14.500
200 |_15.800 200 |_13.200
200 [_15.900 200 [_13.200
BRI .200 |_16.800 .200 | 13.200
200 |_18.600 200 [_13.200
200 |_18.900 200 |_13.200
200 |_18.600 200 [_13.200
KB () =ibiE (BH) | KB (A % .600 [ 31.100 .900 31.100
7,600 31,100 900 [_31.100
7.600 .900 20.200
RE) £ 7.600 .900 20,200
7.600 .900 20.200
0,700 900 28,500
BE=ILIR T m) [EEES 56.300 .700 50.800
56.300 .700 50,800
ARG m) R 56.300 .700 50.800
56.300 .700 50,800
BRCRE)=k&5 ERCRE) % .200 .400 18.100
200 1400 19,000
— .200 1400 20.200
ESCFIES e .500 1400 31,600
500 1400 31,600
500 1400 30,900
R CRE) =R ERCRE) % — .100 .200 17.000
B B — 1100 200 19,500
B B .100 .200 20.500
B B 1100 200 21,500
FENIES B B — 5.600 .200 29.600 —
B B — 5,600 .200 [ 30300
B B 600 .200 [ 30300
B B 600 .200 [ 29600
HR CRE) =8I RERPE) % B B .500 .800 18.300
B B 500 800
B B 500 .800
EEES B B 100 800
B B 100 .800
B B 100 800
HECRB)=HIE RERPE) % B B .800 .100
B B 800 100
B B 800 100
B B 800 100
WILFE B B .400 100
B B — 400 100
B B 400 100
B B 400 100
R CRE) =EiE RERPE) % B B .900 .100
B B 900 1100
B B .900 .100
S B B .600 .100
B B .600 .100
B B 600 1100
HECRB)=F RERPE) % 500 .000
500 .000
23,500 ,000
24,500 .000
24,500 ,000
24,500 .000
HHER 23,500 ,000
23,500 .000
25,500 ,000
25,500 .000
26,500 ,000
25,500
HRCAE) % 20,900
20.900
20,900
ZiR% 21,900
21,900
21,900
R CRE) =M E HRCAE) % 21,800
24,900
21,900
22.900
BER 23,000
28,600
29,200
23,500
R CRE) =1L HRCAE) % 17.300
17.300
%3 20,800
17.300
R CRE) =/ HRCRE) % 3 16,800
3 17.600
3 17,600
3 17.600
3 17,600
3 17.600
INAFE 3 16,800
3 16.800
3 20,300
3 23.400
3 — 23,400
3 — 20.300
REECRE)=-FaE | RECRE) R 3 7 28,000
3 7 28,000
3 7 30,000
RS 3 7 31.500
3 7 33,500
3 7 33,500
R CRE) =FEW HRCRE) % 19,200
19.200
19,200
19.200
19,200
[ 19.200
19,200
— 19.200
— 19,200
— 19.200

JAL
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= ma | A S R ey A7 0 837 R |7 AR A7 e 517 317D

B WTB [Tk ERE EAE | ERE | EREA | ERE | ERE | ERE

2] ] B IR
BEAMIR | B ASAIE | B ANAR | B AMAIR
-— .500 19.400 = .500 19.400

.500 22,300 .500 ,300
.500 22.300 .500 .300
.500 19.000 .500 ,000
- .500 19.000 .500 .000
e .500 19,000 .500 ,000
.500 19.000 .500 .000
.500 19.000 .500 19.000
- .500 19.000 .500 .600
e .500 19,000 .500 ,000
.500 19.400 .500 .400
.500 .500
- .500 .500
e .500
.500
i .500

RECAB)=LES RRECRE)#

[EES

.600
.100
.100
.100
.100
7,100
7.100
26,600

RERCAB)=WOFH [ ZRRCAB)H

] ] ] 1 0 N )

30.000
30.000
30.000
30.000
30.000
30.000
30.000
30.000
30.000
30.000

RECAR)=HE RRECRE)#

RRCAB) =5 R (FE) % 32.700
32,700
32700
32,700
— 32700
— 32,700
32700
32,700
— .700
— 700
.700
.700
— .700
— 700

28.500
28.500
28.500
28.500
28.500
28.500
28.500
29.100
29.100
29.100
29.100
29.100
29.100
29.100

HECRB) =& RERPE) %

5.300
5,300
5.300
5,300
5.300
5,300
5.300
5,300
5.300
5,300

HECRBR) =B RERPE) %

RE(PE)=Hl R CPIE) % 34,900
34,900
34,900
34,900
34,900
34,900
34,900
34,900
34,900
34,900
34,900
34,900

EATIE

HR (FE) =AM R (FE) % 19.500
27,200
27,200
27,700
27,700
32,500
35,500
35700
35,500
33,500

EI=¥IES

HECRB)=K% HERCAE) % 36,600
36.600
36,600
36.600
36,600
36.600
41,400
41,400
41,400
41,400
41,400
41,400

N

RRCAB)=RK HRCRE) % 41,200
41,200
41,200
41,200
41,200
41,200
45,100
45100
45,100
45100
45,100
45100

RIGR

R CAB)=fEX HRCRE) % 38,800
38.800
38,800
38.800
38,800
38.800
38,800
38.800
42,600
42,600
,600
600
,600
600
,600
600
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- &% ﬁ‘i’:ﬁ’ § ﬁ‘i’:ﬁ’ i *%z’:; i *#‘?: BT AT 7 R O3 7 AREI (7 eaEsl7 Es7D
BAME | AR | AR | AN EEE | E| EEE | EAE | EAE | Em B A

KR (BFH=-ERS RIR () % — 28.400 |_18.600 = 7.300
28.400 | 18.600 7,300
28.400 [_18.600 7.300
28.400 1 7,300
— | 28400 7.300
e 28.400 7,300
28.400 7.300
28,400 7,300
BERBH — | 28400 7.300
e 28,400 7,300
28.400 7.300
L2404 28,400 7,300
[JL2406 — | 28400 7.300
L2410 e 28,400 7,300
JL2412 28.400 7.300
JL2414 28.400 7,300
K () -BEXE | AR(FME | JL2a65 7 29,100
JL2469 7 29.100
BEABRE | JL2464 7 29,100
JL2468 7 e -— 29.100
B (P E) =ALIR (3 T | & 2 (PED) % | JL3103 .900 38.100
[ JL3105 ,900 38,100
JL3107 900 38.100
JL3117 o ,900 38.100
FLIR (FFaR) 56 [ .900 38,100
[ J ,900 38.100
J 900 38.100
J i .900 38.100
BZHE(MO=ILT 2HEBUMO R J .100 25.100
J ,100 24,100
[ J 30.100 24,100
J 31,100 25,100
BEEMO-HE 2HEBUMO R J 26.100 21.100
JL: 25,100 20.100
HESE JL 25.100 20.100
JL: 26.100 21,100
ZHBUMO=HR [2ERUMOF] JL B A 31.000 25.200
Fiib kit JL 31,000 25.200
AEE(MO=BH AHE (MR R | JL - 26.600 19.100
JL437 ——- 26.600 19,100
JL437 26.600 19.100
BHR JL437. 26.600 19,100
JL437| — | 26.600 19.100
JL — | 26600 19,100
2HE (MR =18k AHE (MR R [ JL .800 18.300
JL 800 18,500
["JL4405 — 800 18.400
JLa413 — 300 17,800
JLa415 800 17.300
@R | JL4400 300 16,800
["JL4402 300 17.800
["JLa408 800 18,800
JLa4l 800 800
JLa4t — 800 300
AHEEUMO=IER | BEER VMO R [ JL .800 .800
JL B B B 800 800
JL4347 E E 800 .800
AR JL B B — 800 800
JL E E 800 800
JL B B 800 800
IR TR =250 | FLOR G FaR) 8 | JL271 .200 .300
JL271 — 200 300
JL271 200 300
ESIES JL271 200 300
JL271 200 300
JL271 200 300
HIREFFR)=FH | AMEFTFR) F [ JL2803 .600 .300
JL2805 B 600 300
JL2809 E 600 300
EHRR JL2804 B 600 300
JL2806 E 600 300
JL2810 B 600 300
LR (BT F i) =R E FLIR (37 F i) 5 [_JL2821 3H 27,100 24,600
JL2827 38 27.100 24,600
PGES JL2822 38 27,100 24,600
JL2828 38 27.100 24,600
I e -58 Fa=E JL2871 3H 32,800 29,600
JL2877 38 32.800 29,600
FLIR (F T %) % [_JL2872 38 32,800 29,600
JL2876 38 32,800 29,600
R F TR =ILE wa% JL2901 3B 34,300 28,600
JL2903 38 34,300 28,600
JL2905 38 34,300 28,600
JL2907 38 34,300 28,600
JL2909 38 34,300 28,600
FLIR (BT %)  [_JL2900 38 34,300 28,600
JL2902 38 34,300 28,600
JL2904 38 34,300 28,600
JL2906 38 34,300 28,600
JL2910 38 34,300 28,600
=AM EZES JL3669 BIE 23,800 19,800
RS JL3668 AIE 23,800 19,800
HIEFFR)=ES NED JL3403 3 49,600 45,900
#LAR (3 F58) % | JL3406 38 49,600 45.900
EE=-LE BER JL3531 3H 48,300 43,900
JL3537 38 48.300 43.900
ez JL3530 38 48,300 43,900
JL3538 38 48.300 43,900
EE=-38 EEE JL3525 3H 48,400 41,400
[t JL3524 38 48.400 41.400
TBE-IAA FEE S JL3545 | 3 3 3 29,500 29,000
JL3547 | 3 3 3 29500 30,000
WARF JL3542 3 3 3 29,500 29,000
JL3544 | 3 3 3 29500 30,000
EE-m FEES JL3811 29,000 21,000
JL3815 30,500 22,500
JL3817 30,500 22,500
JL3819 30,000 22,000
FRES JL3810 30,000 21,000
JL3812 30,500 22,500
JL3816 28,500 20,500
JL3818 28,000 20,000
ALIR (BT8R =1 AR FLOF (3 Fa%) 36| JL2851 | 3 3 3 37,500 29,500
HAAS JL2852 | 3 3 3 37500 29500
#BE=-ER HHE JL3573 | 3 3 3 32,700 30,700
BERE% JL3574 | 3 3 3 32.700 30.700
ALIR (BT8R =1L LI TaE) 3| JL2843 | 3 3 3 30,300 27,300
W% JL2842 | 3 3 3 30.300 25.300
HE-HE HE JL3491 [ 3 3 3 25,300 23,300
HE JL3494 | 3 3 3 25.300 23.300
i&E=HE A& JL2993 | 3 3 3 33,500 29,500
£ JL2992 | 3 3 3 33,500 29500
HE=R 3 JL2603 | 3 3 3 21,700 21,300
A% JL2602 | 3 3 3 21,700 21300
HWE=HE 3 JL2615 | 3 3 3 20,400 19,300
HER JL2616 | 3 3 3 20.400 19,300
HLIR (3 =2IER FUIR (B0 & [ JL2861 20.800 19,900
20.800 19.900
- 19,900
— | 20800 19.900
S ——- 20,800 19,900
20.800 19.900
e 19,900
JL2868 20,800 | 20700 | 20.600 19.900
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[ JL234 16,400 [ 15.400
[ L2355 15.400 |_14.400
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| JL3728 B 19.000
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JL3795 — — — — 20,500
JL3797 20.500
BzB% | JL3792 20,500
JL3794 20.500
JL3796 — — — -— 20,500




MEEZIE21 ) EER(10827~11AIERES)

EREAE 2019/08/27 ~
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=40} B2 HEMIE
R CRE)=#LIR 3 Fam)| ERCRE)F |_JL593 19.200 :18.400
JL501 19.200 :18.400
JL503 19.200 18.400
JL505 20,900 26,200, H:19.200
JL507 23,800 :26.100, +:27.300. B:19.600
JL509 23,300 :19.200
JL511 23,100 :20.100
JL513 20,700 22,700, +:26.200, H:21,500
JL515 19.900 0. + H:21.600
JL517 18.400 600
JL519 18.400 600
JL521 20,700 .900. +:20900
JL523 20.700 .900. £:20.900
JL525 20,700 20,300, H:22.100
JL527 21.900 +:19.900, H:22.700
JL529 20,700 +£:18.400, H:22.100
JL531 20,000
ALUR (B F %) 5| JL500 21,700
JL502 23.300
JL594 23,300
JL504 700
JL506 600
JL508 400 1.600. H:21.500
JL510 400 1.100. H:22.700
JL512 .900 21.100
JL514 500 21,100
JL516 100 :23.900, £:21.100
JL518 400
JL520 400
JL522 400
JL524 100
JL526 20,700
JL528 20.700
JL530 18.400
HR CRE) =18 FR(FE)F [_JL303 18.500 7K:20.800, £:23.200, +:24.000
JL305 22,600 24,000, £:24,900, H:19.300
JL307 25,100 0, +:26.500. H:19.300
JL309 26,600 :20,000
JL311 26.600 :20.000
JL313 25500 1:20.400
JL315 700 :20.000
JL317 700 4,500, +:24.100. H:21.100
JL319 900 4,000, H:21.100
JL321 B .900 22,600, H:22.800
JL323 16 19.600 22.400. H:23.500
JL325 18 20,600 21,300, H:24.500
JL327 18 .100
JL329 1H 800 25.200
JL331 16 800 25.200
JL333 1H 800 :25.800
JL335 16 500 :25.800
[ JL300 1H 500 23,000, H:18.500
JL302 16 100 :18.500
JL304 Iz 100 3,000, H:18.500
JL306 16 100 26.100. H:20.000
JL308 1H 700 25,400 H:20.000
JL310 16 1.700 2,800, +:23.800. H:20.700
JL312 1H 20,600 122,400, +:23,100. H:21.100
JL314 16 .700 2300, £:23.100. H:21.100
JL316 1H 600 . H:23.900
JL318 16 .600 H:24.800
JL320 1H 600 H:24.800
JL322 16 500 H:27.000
JL324 1H .900
JL326 18 .900
JL328 1H .900 00. H:26.300
JL330 16 .000 . H:24.800
JL332 1H 500 . H:23.500
R CRE) =4 (B8 | EERCRE)H |_JL01 18 .900
JL903 1H 25,600 300, H:22.900
JL905 18 25,600
JL907 1H 25,600
JL909 | 218 23,700 X
JL913 | 218 23,700 4,200, % 1:25.400. H:22.000
JLot5 | 218 17,400
JLo17 | 218 16.000
JLo19 | 218 15,000 L £:15.100
JL921 | 218 14500 14.600
JL923 | 218 16,000 :17.400
JL925 | 218 16.000 :27.200,  H:17.400
4R (FRER) F | _JLooo | 218 15,500
JL902 | 218 15500
JL904 | 218 14,000
JL906 | 218 15000 100, B:
JL908 | 218 17,400 18,80
JL910 | 218 23,000 22.700. H:25.400
Jot2 | 218 23,100 £:22,700, H:25,400
Jio14 | 218 23100 £:22.700, H:25.400
JL916 | 21H 25,000 : 4,600, £:25.100, +:22,400, H:26.300
JLo1g | 218 23600 | 48% |H:22.900, +:22.300. H:25.400
JL920 | 218 22700 | 50% £:19,300, B:25,000
JL922 | 218 21700 | 53% £:17.400, B:23.700
KB (B =ALIR B F )| ABR(FFH% [ JLz001 [ 218 22,900 51% 26,600, +:27,100. H:17.600
JL2005 | 218 22900 | 51% |%1:25.800, H:19.000
JL2009 | 218 11100 | 76% |+
JL2019 | 218 20000 | 57% : :22.600, H:16.000
ALOR (3 F#%) % | _JL2000 | 218 18,600 60% A £ £:22,600, H:16.000
JL2006 | 218 17.700 | 62% |A:14.400. %:21.100. 1:19.400, H:16.000
JL2010 | 218 24,100 | 48% E: :26.200
JL2016 | 218 24100 | 48% 22.600. H:27.100
KR (BIEE) =#LIR (3 F k)| ABR (BS#E) % | JL2so1 [ 21 20,200 56%
JL2503 | 21 10700 | 77% |4
JL2505 | 21 11100 | 76% |£:9.700. £ H:12.500
ALOE (F F#%) %[ JLes02 [ 21 11200 | 76% |£:10.100. £:10900. H:10.400
JL2504 | 21 10600 | 77% [%1:10,400. H:12.600
JL2506 | 21 23400 | 49% :22.100, A %£:24.100, £:22.600. H:21.500
KB (FD) =04 () | KR(BEFH R | JL2o81 | 21 24,300 37% |#+:25,000, H:21,500
JL2087 |21 10800 | 72% |A:9.400. AH:11.500
P8 (GRER) % | JL2084 | 21 10800 | 72% |/:9.600, AH:11,500
JL2088 | 21 24300 | 37% |H:27.300
BE=ILIR TR EEEES JL3513 [ 21 20,100 65% |+ H:21,.800
JL3515 | 21 18.900 | 67% :25.000, £ +:19.900. H:26.700
FLIE (F T %) %[ L3510 [ 21 18900 | 67% |A.:25.000. % +:19,900, H:26.700
JL3si2 | 21 20100 | 65%
R (PE) =Xk HRCRE)E | _JLse5 | 21 14,400 69% :17.700
JL567 | 21 15.900 | 66% :19.500
JL569 | 21 16700 | 64% :19,000
ESTIES JL562 | 21 15200 | 67% £:15.500. H:18.600
JL564 | 21 15200 | 67% +:15,500, H:18.600
JL566 | 21 12300 | 73% :13.600
R CRE)=heJIl HRCRE) S | _JLss1 | 21 14,600 67% :14,800
JL553 | 21 14800 | 67% :15.000
JL555 | 21 16,000 | 64% 17,000, H:17.800
JL557 | 21 16700 | 62% |AY B:17.800
JENTES JL552 | 21 17,200 61% [+
JL554 | 21 14300 | 68% |%: £:14.600. H:15.400
JL556 | 21 15100 | 66% & 3,600, H:16.200
JL558 | 21 13200 | 70% |%: 2300, H:13.300
TR CRE) =#IE RECPE) R | _JL541 ,200 E: 112,900
JL543 400 | 58% |4 £:22500, H:17.700
JL545 500 | 64% 17,400, B:17.700
TS JL540 600 | 60% |&: 8700, H:16.600
JL542 800 | 61% [#+:18.300. H:17.700
JL544 .000 | 70% | H:12.900. A:13.700, £:14.700. £:13.600, H:15.800
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=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
RECAB) =/ HEREE)F [ _JL573 .700 61% :12.100, H:15.900
JL575 700 | 61% 300
JL577 700 | 61% 300
JL579 400 | 69% 600
B JL570 100 | 67% .900, £:17.400. H:16.200
JL572 100 | 67% 200
JL574 700 | 68% 200
JL576 800 | 70% 400
R CRIE) =EE R (FE)F [_JL585 .300 59% 700, H:15.100
JL587 700 | 64% 500, H:14.600
JL589 400 | 48%
EER JL584 ,300 54% :16.200
JL586 900 | 58% |%:15000. £:14.300, H:17.200
JL588 400 | 48% | H:21.700
R (FE)=# R CAE)$ |_JL1a1 600 | 57%
JL143 300 | 52% |EH:14.900
JL145 600 | 57% |H:16.300
JL147 900 | 56% |H:17.300
JL149 300 | 52% |&H:17.300
JL151 600 | 57%
HHR JL140 .600 57%
JL142 900 | 56%
JL144 600 | 57%
JL146 300 | 52%
JL148 6300 | 52%
JL150 4600 | 57%
HR(F@)== R CAE) F |_JL155 500 | 50%
JL157 500 | 50%
JL159 500 | 50%
=R% JL154 500 | 50%
JL156 500 | 50%
JL158 500 | 50% E
HR (FE) =@ R CAE)$ |_JLi61 9.700 65% | H:11.600
JL163 8400 | 33% [t H:11,600
JL165 4600 | 47% |A:15.300. £ H:11.600
JL167 6500 | 40% [£:18.300. £ H:11.600
E=ES JL162 8,500 33% 8.600. 1+ H:11.600
JL164 4600 | 47% [t H:11,600
JL166 7300 | 37% [£:16.900. £ H:11.600
JL168 9.700 65% | H:11.600
HR (FE) =1k RECAE)F |_JL175 9.600 49% | H:10.500
JL179 11100 | _41%
(%3 JL174 11100 | 41%
JLI78 B 11,100 | ai%
R CRE) =/ML R (RE)F [ JLis3 18 11.300 54% [7K:9.700, £:12.200. F H:9.800
JL185 18 13200 | 46% |A:12.600. + H:9.800
JL187 18 9.700 61% [+:9.600. H:10.300
JL189 Iz 9.700 61% 600, H:9.800
JL191 18 9.700 61% 600, B:9.800
JL193 Iz 10200 | 59% |%:12.800, T H:9.800
IMAFE JL182 18 10200 | 59% |/KA:11.300. £:12.100. £ H:9.800
JL184 Iz 9.700 61%
JL186 18 11.300 | 54% |:10.200. %:12.100. £ H:9.800
JL188 18 11300 | 54% |X:10.200. %:12.100, £ H:9.800
JL190 18 12500 | 49% |+ H:9.800
JL192 Iz 12500 | 49% £:9.700. £:12.800. T H:9.800
R CRE)=FEW FRCHE) F [ JL231 18 12.700 62% :12.000. 1 H:13.800
JL233 18 12700 | 62% |A:12.000. £ H:13.800
JL237 18 13.900 | 50% |H:14.100. A:15.300, £:15.700. £ H:13.800
JL239 Iz 15500 | 54% | A %:15.400, £ H:13.800
JL241 18 15700 | 53% |+ H:13.800
[EIES JL232 1H 13600 | 60% |A:13.000. %:13500, £ H:13.800
JL234 18 15600 | 54% [£:14.200. £ H:13.800
JL236 18 12700 | 62% |A:12.000. %:15.700, £ H:13.800
JL240 18 15700 | 53% £ 5:13.800
JL242 Iz 15700 | 53% 13.800
RRECAB)=LES FR(RE) % [ _JL253 18 13.300 62% . £:13.900. + H:14.200
JL255 Iz 15,000 | 57% |A:14.900. :15.800, £ H:14.200
JL257 18 19500 | _44% 14.200
JL259 18 18,000 | 48% 1900, + H:14.200
JL261 15 13.900 | 60% B:14.200
JL263 1H 13500 | 61% . %:16.500, £ H:14.200
J1265 | 21H 17200 | 50% £ 5:14,200
JL267 | 218 7400 | 50% 8500, £ H:14.200
3ES JL252 [ 218 14,600 58% 3:14,200
JI254 | 218 7300 | 50% :14.200
JL256 | 21H 13,900 | 60% 16,900, 1 H:14,00
JI258 | 218 3900 | 60% 16.900. + A:14.200
JI260 | 21H 13,900 | 60% 14,200
JI262 | 218 6500 | 52% 14.200
Ji264 | 21H 18,400 | _47% 14,200
JL266 | 218 18400 | 47% 14.200
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 70% 11,100
JL203 | 218 12700 | 67% £:13.100
JL205 | 218 13,100 | 66% £:12,100. H:15,300
JL207 | 218 13100 | 66% 12.100. B:15.300
wnFHeE [0 [ 218 13,600 65% 112,10
J202 | 218 3600 | 65% 12,10
JL204 | 218 13,100 | 66% . £:13,300. B:15,300
JL206 | 218 1.600 | 70% 11.100. B:15.300
RRCAB)=HE HRCAE)H | J277 | 218 18,400 43% 19,200, #:20,100, £:21,300, H:17,600
JL279 | 218 21700 | 33% |H:21.200, £+:22.300. H:19.500
JL283 | 218 18,100 | _44% X:16.900, 7K:17,400, H:19.400
JL285 | 218 16900 | 48% & +:17.600. H:19.400
Ji287 | 21H 21800 | 33% |#H:23,900, +:18,700
HER JL276 | 218 16.900 | 48% 9.700
Ji278 | 21H 20800 | 36% 23,000, H:19,100
JL280 | 218 6.900 | 48% 7.400. %:20.400, +:21,100. H:20.800
JL284 | 218 22300 | 31% 1,800, %:23,700, £:20,400, H:23,600
JL286 | 218 20600 | 36% [JK:19.900, A:20.400. %:21.700, £:19.500. H:21.200
HECRB) =8 HRCRE) S | _Ju4s3 | 21 17.700 47% | A#:18500, £:15,600, H:15.200
JL455 | 21 7700 | _47% |A%:18,500. £:15.600, H:15.200
JLa57 | 21 15200 | 54% |%:17.300. £:15.600
JLase | 21 5200 | 54% |£:17.300. £:15.600
JLa61 | 21 16300 | 51% [%:17.200, £:15400. H:15,600
JL463 | 21 6.800 | 49% |[£:17.700. 1 X
JL465 | 21 16,800 | 49% [#:17.700. £ H:15600
[EEES Juasg |21 5,200 54%
JLass | 21 16,100 | 51%
JLas6 | 21 16.100 | 51%
JLasg | 21 16,000 | 52% :15.600
JL460 | 21 6.000 | 52% :15.600
JLa62 | 21 16500 | 50% 15,200, H:15.600
JL464 | 21 6500 | 50% 15.200, H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 15,200 54%
JLa77 | 21 9400 | a1%
JLa79 | 21 17500 | _47%
JLasl | 21 4800 | 55%
JL483 | 21 14800 | 55% }
JL4ags | 21 6200 | 51% 6.000, H:20.100
JL4g7 | 21 20700 | 37% :16.000
S JLazs | 21 6200 | 51% 3:15.200
JLaze | 21 17.300 | _48% 3:15,20
JLazs | 21 4800 | 55% :16.100, H:18.800
JL480 | 21 14800 | 55% :16.100, H:18,800
JLag2 | 21 16100 | 51% 116,500, H:20.700
JLags | 21 20600 | 38% 17,000
JLage | 21 20600 | 38% 16.000
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MEEZIE21 ) EER(10827~11AIERES)

EREAE 2019/08/27 ~
10/27-31,11/5-9
=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
RRECAB) =B R (HE)F | JLdol 7.700 50% |& 20800, H:17.300
JL493 7700 | 50% 20,800, H:17.300
JL495 5000 | 57% |%: :19.100
JL497 7.800 | _49% 400, H:20,100
JL499 900 | 43% 400
EES JL490 800 | 47% . H:16.300
JL492 800 | 49% :19.300
JL494 000 |57 3:17.800
JL496 700 7 :18.200, H:20.700
JL498 20,600 1 :23,300, 1£:16,300. H:21.400
R (AE)=# TR CRIE) % | _JL431 6.500 4 19.200
JL433 20,000 4 +:21,500, H:18.000
JL435 8,600 | 48’
JL437 16,000 | 55% +:19.100. H:19.800
JL439 9300 | _46% |£:22.000. +:19.700. H:23.700
JL443 20900 | 42% 23700, £:19.200
[ATES JL430 20400 | 43% |H:16.500
JL432 20400 | 43% |H:16.500
JL434 6700 | 53% |£1:18.600. H:20.100
JL436 16700 | 53% [%:19.100. £:18,000. H:20,900
JL438 20400 | 43% |%:20900. +:17.900. H:23.300
JL440 9200 | 46% [%:20.900. £:17.200. H:22,600
HR CHE) =AM HRCHE) % [ JL37i 4100 | 66% |£:14.600. £:14.300. H:11.500
JL373 9600 | 52% [%1:20.100. H:17.600
JL375 8600 | 55% [£H:19.100
JL377 20100 | 51% |%:21,700, £:17.600. H:22.100
JL379 20.100 | 51% [%:21.700, +:17.600. H:23.100
s JL370 ,800 59% [+:18.100, H:15.60(
JL372 600 | 52% |£:20.600. £:20.100, H:16.600
JL374 800 | 54% 9,60
JL376 800 | 54% 7.100, H:20.100
JL378 4500, H:18,600
RECAB)=K% FR(HE) % |_JL661 X 3. :19.400
JL663 23, 0 4,200, H:21.000
JL665 23.500 70 4,200, H:21.000
JL667 22,700 00, #:23,800, +:23.400. H:25.400
JL669 21.200 00, +:20.800, H:25.400
JL671 20,900 800, %:24,200. +:20.200. H:23.100
R JL662
JL664 H:21.400
JL668 22,800, £:23.300, H:22.600
JL670 22,800, 1:23.300, H:22.600
JL672 22,800, H:25.800
JL674 B 21,200, H:25.800
RRCRE) =Rk HRCHE) & |_JL605 18 :19.600
JL607 Iz . 4,200, H:21.400
JL609 16 20, 600, H:21.400
JL611 1H 20,500 600, H:21.400
JL613 18 19.600
JL615 1H 19.600 400
S JL606 18 19.700 .300. H:19.900
JL608 1H 21,600
JL610 18 20.500 1200, %:22.400. £:22.100. H:22.900
JL612 Iz 1100, H:25.100
JL614 16 1100, H:25.100
JL616 1H .800. H:24.000
R CRE)=f R (RE) % [_JL623 18 00, 1:22.400, H:18.800
JL625 Iz 00. £:22.800, H:18.300
JL627 16 00, £:22.900, H:20.000
JL629 1H 1,800, £:22.400
JL631 16 21,800, £:22.400
JL633 1H . 120,900, +:20.800. H:22.200
JL637 16 20. :20.300, £:21. 19500, H:22.300
JL639 Iz 19. 119700, A:20, 23,800, +:19.600, H:22.900
A% JL622 18 22, 22200, +:23000. H:20.500
JL624 1H 22, 22,200, H:19.70
JL626 16 F:19.200. % £:20.300
JL628 Iz [£:20.100. £:20.200, H:20.400
JL630 16 B #:22.400. £:21.600
JL632 1H A . 1:20,400. H:24.400
JL634 1H (B . £:20.400. H:24.400
JL638 fI= I B . H:20.900
HECRB)=EH HRCAE)H | Jes7 | 218 20,800 Iz B:19,500
JL689 | 218 22.500 B .300. H:21.000
JL6ot | 218 2 23,100, H:21,000
JL693 | 218 21, 21,900, H:22.600
JL695 | 21H 2 :21,900, H:22.600
JL697 | 218 21, £:21,000, £:23.900. H:22.100
B3 JL6s8 | 21H 2 0. 7K:20,900, £:21,900. £:22.500, H:18,700
JL6%0 | 218 21, :21.200, % +:22.800. H:18.700
JL692 | 21H 18,900 F:18,700, % +£:21,200. H:21.900
JL6%4 | 218 F:18.700. %:21.700. £:21.200, H:23.100
JL6%6 | 21H 23,200 B 124,600, +:20,600, H:24.400
JL698 | 218 21,700 A H:24.400, +:19.600
HR(RE)=-ERE HRCPE)E |_JLe4l 218 20,800 |B +:23300, H:19,400
Ji643 | 21H 23400 B 125,100, +:25.200. H:19.400
JL645 | 218 23,300 B £:25,000, H:20200
Ji647 | 21H 20,400 A: 2800, +:21,800. H:21.500
Ji649 | 21H 21,300 A 22,500, T H:23,500
JLes1 | 218 20,000 : 22,100, H:24.000
JL653 | 218 2 & 21,200, H:24,700
JL655 | 218 22, A 3,000, £:24.700, +:22.000. H:24.400
EREBR JL640 [ 218 2 [ :20,600, +:23,100, H:20,200
Jie42 | 218 21, A H:21.300, £:22.700. $:23.700
JL64d | 218 22,400 £:23700, 1:24,000
JL646 | 218 21100 | 52% |$:23.300, £:21.500. H:23.400
JL648 | 218 21300 | 51% | £:20,900, £:22,700. H:22.200
JL650 | 218 24900 | 43% |H:24,500, £:25600. 1:22.000, H:26.000
JL652 | 218 22500 | 48% |9:22,200, £:24,000, £:19,700, H:24.500
JL654 | 218 22500 | 48% |H:22.200, £:24.000. £:19.700, H:24.500
R (RRE)=KBR () | FR(RE) S | JL3005 | 21 15,800 37%
JL3009 |21 13800 | 45% |H:14.100. £:14.100
RBR () % | JL00a | 21 10300 | 59% |H:10,600. £:10,600
JL3006 | 21 19.800 | 21%
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 12,400 67% 13,300, +:12,800
ALOF (B F ) %[ J13040 [ 21 12400 | 67% |HA:12.800. +:12.800
G A (AE) S | JL3057 | 21 13,600 67% 14,000, +:14,000
e JL3052 | 21 13600 | 67% |H:14.000. £:14.000
KR (73) =B 88 KR () % | JL2123 [ 21 26.000 40% 21,300, 7:27.400, % 1:28,000, H:20,300
BT JLziza | 21 27000 | 38% | H H:19.300, A+:28.400
KR (FFH =& 7% RBR () % | JL2151 | 21 22200 | 46% | :20,000, %:23.700. £:24,700, H:17.000
JL2153 | 21 19200 | 53% |A:17.000. % +:23.700. H:19.800
JL2157 | 21 20500 | 50% | /:18,300, %:24.500. H:21,500
BHE JL2152 | 21 20500 | 50% | :18.300, £ +:23.300. H:17.00
JL2154 | 21 19200 | 53% |A:17.000, %: :22.500
JL2158 | 21 22200 | 46% | H:20.000. :22.500
KBR (753) =t E RBR(RFHF | JL2171 | 21 21,000 43% | F:19.200, % :21.200
JL2173 | 21 19300 | 48% |A:17.200. :19.100
JL2179 | 21 20900 | 44% |H:19.100, % :21,100
PES JL2172 | 21 20900 | 44% [H:19.100. :21.100
JL2174 | 21 19300 | 48% |A:17.200. %:23.500 :19,100
JL2176 | 21 19300 | 48% |A:17.200. £:23500. % :19.100

JAL



MEEZIE21 ) EER(10827~11AIERES)

EREAE 2019/08/27 ~
10/27-31,11/5-9
=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
KR () =ME KR () % [ JL2201 7100 | 51% |H:15.800. £:21500. £:21,600. H:15.900
JL2203 7300 | 50% |/ H:15,800, £:21.400. £:21,500
JL2205 600 | 52% |A:
JL2207 900 | 42% |A:
JL2209 900 | 42% |B
JL2211 500 | 38%
JL2213 500 | 38% 2
JL2215 20,000
[Tz JL2200 16.800 z
JL2202 19,900 A:
JL2204 20.300 A
JL2206 7400 | 50% [A:
JL2208 400 | 50% |A:
JL2210 800 | 46% |A: 400, B:17.400
JL2212 900 | 45% |A: 20100, H:22.200
JL2214 800 | 49% |A: 8,600, H:21.200
KR () =518 KR (5D % | _JL2241 6.300 50% | B £:17.900
JL2243 7200 | _47% [A: :15.000
JL2247 7200 | _a7% |A: :18.500, H:15.000
JL2251 400 | 40% |A: :17.900, H:17.800
HRR JL2240 .700 39% |A:
JL2244 900 | 48% |A: _ £:16.300. H:17.300
JL2246 100 | 44% |A: . £:17.500, B:17.900
JL2250 100 | 44% |A: . H:17.900
KRR (5 =#1l KB (B % [ JL23oi .000 42%
JL2305 800 | 38% |H:11.600. £:12.900, H:12.200
JL2309 900 | 43% | A:10.800. H:11.000
EATIES JL2302 .000 42% & ,900
JL2306 000 | 42% |£+:10900
JL2310 300 | 30% 200, %:13,600. £:11.800
KR (=K% KR (5D % |_JL2361 300 34% & £:16.300
JL2365 900 | 40% |%:15400. £:16.300, H:14.200
JL2367 400 | 33% |%:15400. £:16.300, B:15.800
K% JL2362 ,900 40% _[£:15.400. 1:16.300. H:14,200
JL2364 300 | 34%
JL2366 400 | 290%
KR (5 =Rl KR (5D % | _JL2371 500 39% :16.200
JL2373 7500 | 39% |A: :16.200
JL2375 300 | 47% |A: 7.400. H:16.600
JL2377 800 | 42% |A: :17.600
AR JL2372 800 | 42% |H:16. . :15.400
JL2374 800 | 42% | H:16.200, £1:17500. A:15.400
JL2376 000 | 48% | H:14.700. £:16.000, +:16.100. H:16.200
JL2378 B 500 | 43% |H:16.200. %:17.200, £:15.100. H:16.900
RIR (5D =R KRR (D) % | JL2383 18 13.700 48% | FH:13.100. £+:14.500. H:14.400
JL2385 | 218 14500 | 5% 4.600
JL2389 | 21H 14500 | _45% 14300, B:14.600
AR JL2382 | 218 14500 | 45% 4,600
JL2386 | 21H 14200 | 46% |H:13.600. £:14.300. £:14.500. H:14.600
JL2392 | 218 14500 | 45% |A:14.100. £:14,300. H:14.600
KR (A =2 KB (7D % [ JL2431 18 16.100 39% 7.400
JL2433 | 218 16.100 | 39% 7400, H:15.700
JL2437 | 21H 16.400 | 38% |#1:18.500. H:15.700
JL2441 1H 17200 | 35% |£:20,000. H:19.40
JL2443 | 21H 16.600 | 37% |£:20.000. £:16.400. H:19.400
EEES JL2430 | 218 16600 | 37% |£:17.200. +:18.800. H:16.400
JL2432 | 21H 16.600 | 37% 800, H:16.400
JL2434 | 218 16.400 | 38%
JL2438 | 21H 16.400 | 38% :18.100. B:17.700
JL2a42 | 218 16.400 | 38% :18.100, B:17.700
KR (P -EERE KB (7D % [ JL2401 18 15.400 49%
JL2403 | 218 16200 | 46% |A: .800. H:16.500
JL2407 | 218 16.100 | 46% |A: .000
JL2409 | 218 15300 | 49% |A: 000
JL2411 18 15300 | 49% |A: .000
JL2415 | 218 15300 | 49% |A: 000
JL2419 | 218 16.100 | 46% |A: .500
ERER JL2400 | 218 14700 | 51% |A: 800
JL2402 | 218 14900 | 50% |A: .800
JL2404 | 218 14700 | 51% |A: 500
JL2406 | 21H 14700 | 51% |A: 16.500
JL2410 | 218 14600 | 51% [A: 16.500
JL2a12 | 218 16,600 | 45% |3 17,500
JL2414 | 218 16600 | 45% [A: 17.500
BEE (PED)=HLIE (TR 2 HE (PE) R JL3103 [ 218 22,200 47% [k . 1:25,600
JL3105 | 218 20600 | 51% [H:20.100, % H:20.300. £:20.800
JL3107 | 218 15000 | 64% |A:14.600. £:15500, %:15,900, H:15.400
JL3117 | 218 12200 | 71% |AJK:12.300. %:13500, £:13.900, H:14.200
ALOR (3 F#%) % | JLsioo | 218 12,400 70% 11,700, £:12,900, +:13,300, H:12,500
JL3106 | 21H 14500 | 65% |%:15.000. +:15500. H:15.100
JL3tia | 218 21200 | 49% |4 E:
JL3tig | 218 20000 | 52% |4
AEEUMO=#E |AEEUNMOSE] J14333 ] 218 17.500 TES
iR JL4334 | 218 16600 | 42% |&:
AHERCMO=RE  [2HEOMOR[ Jldd01 | 218 14,700 48% | +:15,100, B:12,90(
JL4403 | 218 14900 | 48% |+:15.100. H:12.90
JL4405 | 21H 14200 | 50% 115,300, £:13,700. H:12.900
JLaa13 | 218 14000 | 51% 114,200, +:11.700. H:12.900
JLa415 | 218 13500 | 53% 113,700, £:11,700. H:12.900
[EES JL4400 | 218 13200 | 54% 170
JL4402 | 21H 15300 | _46% 12,701
JLa408 | 218 15400 | 46% £:12.300. H:12.900
JLa4i2 | 218 15400 | 46% +:12,300, B:14.300
JLaaia | 218 14200 | 50% 14,30
BHERUMO=RA  [2HEBOMOR[ J4341 | 218 14,100 57% 11,700, H:13,100
JL4345 | 218 12600 | 61% H:11.300
JL4347 | 218 13700 | 58% 14,200, £ H:11,300
AR JL4342 | 218 13.800 | 58% . 11.300
JL4346 | 218 12,900 | 61% |A:12,600. £H:11.300
JL4348 | 21H 14100 | 57% |2 £:11.700, H:13.000
HIRGEFR)=-FHF | RGEHTR) [ JL2803 [ 21 15,200 3% |+
JL2805 | 21 15200 | 37% |+
JL2809 | 21 16200 | 33% |+
BHER JL2804 | 21 15.200 37% [T
JL2806 | 21 15200 | 37% |4
JL2810 | 21 16200 | 33% |+
HIRGETFR)-HE | HRGETFR) R JL2821 [ 21 16.900 39% |+
JL2827 | 21 15900 | 43% |+
EE JL2822 | 21 14,900 46% |+
JL2828 | 21 16.900 | 39% |4
IR (FFR) =58 EEES JL2871 | 21 20,100 39% |
JL2877 | 21 18600 | 44% |4
FLIR (BT %[ JL2s72 | 21 19,600 41% |4
JL2876 | 21 18600 | 44% |4
HIRFFR)=LE was JL2901 | 21 10.200 68% |
JL2903 | 21 13600 | 57% |4 :13.200
JL2905 | 21 11900 | 63% £:12,100, B:11.700
JL2907 | 21 14300 | 55% |2 £:14.100, H:16.000
JL2009 | 21 13300 | 58% |2 £:13,100, H:15,000
AR (B T8 %[ JL2o00 | 21 10200 | 68% |4 . £:9500, £:9.700. H:10.400
JL2002 | 21 10200 | 68% |4
JL2904 | 21 10200 | 68% |4
JL2906 | 21 11900 | 63% |%:15.400, £:11.100. H:13,000
JL2910 | 21 11.900 | 63% |£:15.400. £:11.100. H:13.000
HIRFFR)=ES CE JL3403 [ 21 19,500 62% . +:20500
ALOE (i F38) [ J13406 [ 21 19500 | 62% |4 :19.800, H:26.500
BE=LE EEEES JL3531 | 21 24,300 50% |%
JL3537 | 21 24300 | 50%
was JL3530 24300 | 50% 24,900, £:25,600
JL3538 26.300 | 46% |4 H:29.500. £:27.400
1BE=38 EEIES JL3525 22,100 52% |£:22,500, H:23.400
Eets JL3524 22.100 | 52% |&+:23400
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EREEAAE : 2019/08/27 ~
10/27-31,11/5-9
=40} B2 HEMIE

FH EEE B E

AR - EIEIES i
BE=Ek [EEES JL3621 .800 60%
JL3625 800 60%
JL3629 800 60%
JL3631 800 60%
JL3633 800 60%
JL3639 800 60%
JL3641 800 60%
BB JL3620 800 60%
JL3622 800 60%
JL3626 800 60%
JL3630 800 60%
JL3632 800 60%
JL3634 800 60%
JL3642 800 60%

JAL



MEHEZI5I21 1 EEXR(11HA10~20BERS)

EREAE 2019/08/27 ~
T1/10-20
=40} B2 HEMIE
FH EE B [
BAMER | T | #six "
RRECRE) =R G Fimk)| RRECRB)H |_JL593 19.200 49% 4 400
JL501 19200 | 49% |4 1:18.400
JL503 19200 | 49% |4 400
JL505 20900 | 44% |4 1:19.200
JL507 23300 | 38% |4 :19.200
JL509 23300 | 38% |4 19.200
JL511 23100 | 38% |4 :20.100
JL513 20700 | 45% [JK: 25,800, £:26.200, H:21,500
JL515 19900 | 47% |A%:2 :21.600
JL517 18400 | 51% |A%:24.800 1,100, H:21.600
JL519 18400 | 51% |A%£:24.800. £:21.100. H:21.600
JL521 20700 | _45% |7K:19.200, A%:24,800. £:20,900. H:21,900
JL523 20700 | 45% |7k:19.200. A%:24.800, +:20.900. H:21.900
JL525 20700 | 45% | A%:24,800, £:20,300. H:22.100
JL527 21,900 | 42% |A%:25800. £:19.900, H:22.700
JL529 20700 | 45% 25,800, F:18,400, H:22.100
JL531 20000 | 47% 24,800, £:18.400, H:22.100
FLUR (B F %) % |_JL500 21.700 42% :21.900, %+ H:25.800
JL502 23.300 | 38% :25.800
JL594 23300 | 38% :25.800
JL504 700 | 39% :25.800
JL506 600 3 :25.800
JL508 .400 :25.800
JL510 400
JL512 .900
JL514 500
JL516 100
JL518 400
JL520 400
JL522 400
JL524 100
JL526 20,700
JL528 20.700
JL530 18.400
HR (RE) =18/ FR(FE) R [_JL303 18.900 3200, £:24.000
JL305 22,500 4,000, +:24.700. H:19.700
JL307 25,100 :19.500
JL309 26,500 :20,200
JL311 26.500 :20.200
JL313 25,500
JL315 22.700 20.300
JL317 20400 24,400, 1:23.900, H:21,500
JL319 18.900 23,900, H:21.500
JL321 B 18.900 X 22,500, H:23.300
JL323 16 19.600 | 52% 20,900, :19.500. £:24.200. +:22.400. H:23.800
JL325 1H 20,600 125300, +:21,300. H:24.700
JL327 16 .100 :24.50(
JL329 1H 800 :27.000, +:21,100. H:25.200
JL331 16 800 :27.000. +£:20.000. H:25.200
JL333 18 800 %:27.000. +:20.000
JL335 16 500 :27.000. £:20.000
[ JL300 1H 500 3,000, H:18.700
JL302 18 .000
JL304 1H 000
JL306 16 100 1% _[%:26.100. £:26.000. H:20.100
JL308 18 700 2% |2 125400, H:20.100
JL310 18 1.600 7% | A:21.700. £:22.800. £:23.700. H:21.100
JL312 1H 20600 | 50% |#:22.300, +:23000. H:21.300
JL314 16 700 | 55% :22.300, 1:23,000, H:21.300
JL316 1H 600 | 55  1:22.900, H:24.00
JL318 16 600 7% 125,800, +:22.800, H:24.800
JL320 1H 600 7% _|£:26.300. £:21.900. H:24.800
JL322 16 500 % :26.300. 1+:21.900. H:27.000
JL324 18 .900 % | % H:27.000, £:21.900
JL326 16 .900 % H:27.000. £:21.90
JL328 1H .900 % | %:27.000, 1:20,000. H:26,300
JL330 18 000 | 46% |%:25.800. £:20.000, B:24.800
JL332 1H 500 | 55% :19.600, £:24.800. H:23500
R CRE) =4 (B8 | EERCRE)H |_JL01 18 000 52% t:22.900
JL903 1H 600 26,300
JL905 1H 600 26,300
JL907 1H 600 26,300
JL909 | 218 23,500 25,200 ,
JL913 | 218 22,900 3.400, % +:25.400. H:22.000
JLot5 | 218 16500 | 64% [t H:17.900
JLo17 | 218 16.000 | 65% |+ H:17.400
JLo19 | 218 15000 | 67% |%:14,500, £:15100. H:14,600
JL921 | 218 14500 | 68% |% H:15.000. £:14.600
JL923 | 218 16,000 | 65% |t H:17.400
JL925 | 218 16.000 | 65% :27.200, + H:17.400
4R (FRER) F | _JLooo | 218 15,500 66%
JL902 | 218 15500 | 66%
JL904 | 218 14000 | 69%
JL906 | 218 15000 | 67%
JL908 | 218 16,000 | 65%
JL910 | 218 22400 | 51% |£:22.700. A:2540
Jot2 | 218 22400 | 51% 22,700, H:26,20
Jio14 | 218 22400 | 51% |£:22.700. A:26.20
JL916 | 21H 24,600 | 46% |%:25,100, £:22.400. H:26,800
Jio1s | 218 23600 | 48% |+:22.300, A:26.10
JL920 | 218 19300 | 58% |H:25.100
JL922 | 218 17.400 | 62 :20.000
KB (B =ALIR B F )| ABR(FFH% [ JLz001 [ 218 22,900 51% |£:26,600, 1:27,100, H:17,600
JL2005 | 218 22900 | 51% |%1:25.800, H:20.000
JL2009 | 218 11,100 | 76% |+ H:12,500
JL2019 | 218 20000 | 57% |& T H:22.600
ALOR (3 F#%) % | _JL2000 | 218 18,600 60% |2 3:17.400
JL2006 | 218 17700 | 62% :19.400, H:20.400
JL2010 | 218 24,100 | 48% 122,600, H:27.100
JL2016 | 218 24100 | 48% 22,600, H:27.100
KR (BIEE) =#LIR (3 F k)| ABR (BS#E) % | JL2so1 [ 21 18,500 60% 3:16,600
JL2503 | 21 10700 | 77%
JL2505 | 21 9,700 79% [+:10500, H:12.500
ALOR (3 F %) 56| L2502 | 21 10.100 78% [ KIKAK:9.700
JL2504 | 21 10400 | 78% 12,600
JL2506 | 21 24100 | 48% [JJK:23.400, +:22.600. H:27.100
KR (B =48 (BE) | KBR(FFHH | JL2o81 | 21 24,300 37% |#+:25,000, H:21,500
JL2087 |21 10800 | 72%
FR#B(ARER) 5 | JL2084 | 21 10.800 72%
JL2088 | 21 24300 | 37% :25.500
BE=ILIR TR EEEES JL3513 [ 21 20,100 65% |+ H:21,800
JL3515 | 21 18900 | 67% |2 :19.900
ALIR (B FaR) %[ JL3s10 | 21 18,900 67% |2
JL3si2 | 21 20100 | 65% |+
RECHE)=Xi#H3| HRCPE)F | _Juse5 | 21 14,400 69% |7} 118,600, H:18,900
JL567 | 21 15900 | 66% |&: :19.500
JL569 | 21 16700 | 64% |% :18.800
ESTIES JL562 | 21 15200 | 67% |A: 15500, H:18.600
JL564 | 21 15200 | 67% |4 8,600
JL566 | 21 12300 | 73% KA :17.400
R CRE) =R HRCRE)E | _JLss1 | 21 14,600 67% |7} :15,300
JL553 | 21 14800 | 67% |4 . >l :16.200
JL555 | 21 16700 | 62% :15.900, % H:17.800
JL557 | 21 16.700 | 62% X:16.500, % A:17.800
JEIES JL552 | 21 17200 | 61% |+:17.400
JL554 | 21 14300 | 68% |/KA:14.800. %:15.000, £:15.100. H:16.500
JL556 | 21 14600 | 67% |%:15.500. £:13,600. H:16.300
JL558 | 21 13.200 | 70% [/KA:14.600. %:15.500, :13.600. H:16.300
TR CRE) =#IE HRCPE)H | _JL541 4,500 67% 17,800, B:14.100
JL543 400 | 58% 22,500, H:17.700
JL545 500 | 64% +17.400, +:15.300, H:17.600
TS JL540 600 | 60% |%:18.300. +:18.700, H:16.700
JL542 800 | 61% +£:18.300. H:17.700
JL544 .000 | 70% |7K:14.300. 4:15.100, £:15.700. £:15.000, H:18.500




MEHEZI5I21 1 EEXR(11HA10~20BERS)
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11/10-20
=R B4 HEMIE
FH EE EBEH [
BAME | T | @ik "
EEEEETN R CRE) % | JL573 800 | 73% 000
JL575 700 61% 300
JL577 700 | 61% 300
JL579 ,.400 69% ,900, H:16.100
HILFE JL570 .000 68% .100
JL572 .100 67% 200
JL574 700 | 68% 200
JL576 ,.800 70% ,800
R CRIE) =EE R (FE)F [_JL585 .300 59% 700, H:15.100
JL587 ,700 64% 500, H:14.600
JL589 400 | 48%
HEEFR JL584 000 55% ..
JL586 900 | 58% 4300, H:17.200
JL588 ,.400 48%
R (FE)=# R CAE)$ |_JL1a1 600 | 57%
JL143 .300 52%
JL145 600 | 57%
JL147 .900 56%
JL149 300 | 52%
JL151 600 57%
HHR JL140 .600 57%
JL142 .900 56%
JL144 600 | 57%
JL146 .300 52%
JL148 6300 | 52%
JL150 4.600 57%
HR(F@)== R CAE) F |_JL155 000 | 52%
JL157 000 52%
JL159 000 | 52%
ZiR% JL154 000 52%
JL156 000 | 52%
JL158 000 | 52%
HR (FE) =@ R CAE)$ |_JLi61 9.700 65%
JL163 8400 | 33% 11.600
JL165 4600 | 47% |A:15.300. £ H:11.600
JL167 6.500 40% :18,300. £ H:11.600
E=ES JL162 8,500 33% 8.600. 1+ H:11.600
JL164 4.600 47% |+ H:11.600
JL166 7300 | 37% [£:16.900. £ H:11.600
JL168 9.700 65%
HR (FE) =1k HERCAE) % [ JLI75 9.600 49% | H:10.500
JL179 11,100 41%
(%3 JLI74 11100 | 41%
JLI78 B 11,100 | ai%
R CRE) =/ML R (RE)F [ JLis3 18 11.300 54% [7K:9.700, £:12.200. F H:9.800
JL185 18 13200 | 46% |A:12.600. + H:9.800
JL187 18 9.700 61% |+:9.600. H:9.500
JL189 Iz 9.700 61% 600, B:9.500
JL191 18 9.700 61% 600, B:9.500
JL193 18 10200 | 59% |£:12.800. + H:9.800
IMAFE JL182 18 10200 | 59% |7KA:11.300. £:12.100. T H:0.800
JL184 Iz 9.700 61% [7K:11.300
JL186 18 11.300 | 54% |:10.200. %:12.100. £ H:9.800
JL188 18 11300 | 54% |X:10.200. %:12.100, £ H:9.800
JL190 18 12500 | 49% |+ H:9.800
JL192 Iz 12500 | 49% |7K7:9.700, %:12.800. £ H:9.800
R CRE)=FEW HERCAE) # | _JL231 18 12.700 62% |+ H:13.800
JL233 Iz 12700 | 62% [+ H:13.800
JL237 18 13.900 | 59% |A:14.100. A:15.300, £:15.700. £ H:13.800
JL239 18 15,600 | 54% |£:15.500. + H:13.800
JL241 18 15700 | 53% |+ H:13.800
EIES JL232 1H 13500 | 60% |A:12.900. + H:13.800
JL234 18 15500 £:14.300. £ H:13.800
JL236 18 12700 | 62% |£:15.700. £ H:13.800
JL240 18 15300 | 55% |+ H:13.800
JL242 Iz 15700 | 53% |+ H:13.80
RRECAB)=LES FR(RE) % [ _JL253 18 13.300 62% |A£:13.900. £ H:14.200
JL255 Iz 15100 | 56% |A:15.900, + H:14.200
JL257 18 19500 | 44% |+ H:14.200
JL259 Iz 17900 | 8% [+ H:14.200
JL261 15 13.900 | 60% |H%:16.200 £ H:14.200
JL263 fI= 3500 | 61% |A:15.800. %:16.500, £ H:14.200
JL265 218 17,300 50% 3:14,200
JL267 | 218 6900 | 51% 8.600. T H:14.200
%S JL252 | 218 13,700 60% :14,200
JI254 | 218 7300 | 50% 14.200
JL256 218 13,900 60% 14,200
JI258 | 218 3900 | 60% 14.200
JL260 218 12,800 63% 14,200
JI262 | 218 6400 | 53% 14.200
JL264 218 18,300 47% 14,200
JL266 | 218 18400 | 47% 14.200
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 70% 11,100
JL203 | 218 12700 | 67% £:13.100
JL295 218 13,100 66% £:12,100, H:15,300
JL207 | 218 13100 | 66% 12.100. B:15.300
wnFHeE [0 [ 218 13,600 65% 12,10
J202 | 218 3600 | 65% 12,10
JL294 218 13,100 66% . £:13,300, H:15,300
JL206 | 218 1.600 | 70% 11.100. B:15.300
RRCAB)=HE HRCAE)H | J277 | 218 18,900 41% _|7k:18.400, A:18,700, #:19,600, +:20,800, H:18,100
JL279 | 218 21700 | 33% [A:21.200, £ +:21.800. H:20.000
JL283 218 17,600 46% X:17,400, 7K:16,900, H:19,900
JL285 | 218 6900 | 48% A& F:17.100. H:19.400
JL287 218 21,800 33% 3,400, +:18,200, H:23.900
HES JL276 | 218 6.900 | 48% 4.400
JL278 218 20,800 36% 22,500, H:19,100
JL280 | 218 7400 | 46% 6.900, £:19.900, +:20.600. H:21.300
JL284 218 22,300 31% 3,200, +:19.900, H:23.900
JL286 | 218 21100 | 35% 119.900, £:21.200. £:19.000, H:21.700
RRCAB)=-EE HRCRE)E | _J453 | 21 17.700 47% 15,600, H:15.200
JL455 | 21 7700 | 47% 15600, H:15.200
JL457 21 15,200 54% 15,600
JLase | 21 5200 | 54% 15.600
JL461 21 16,300 51% 5,400, H:15,600
JL463 | 21 6.800 | 49% |[£:17.700. 1 1
JL465 21 16,800 49% | %:17,700, £+ H:15,600
e Juasg |21 5,200 54% H:15.600
JL454 21 16,100 51% 15,600
JLas6 | 21 16.100 | 51% +15.600
JL458 21 16,000 52% +:15,400, H:15,600
JL460 | 21 6.000 | 52% £:15.400, H:15.600
JL462 21 16,500 50% 15,200, H:15.600
JL464 | 21 6500 | 50% 15.200, H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 15,200 54%
JLa77 | 21 9400 | 4i%
JL479 21 17,500 47%
JLasl | 21 4800 | 55%
JL483 21 14,800 55% .
JL4ags | 21 6200 | 51% 6.000, H:20.100
JL487 21 20,700 37% 216,000
S JLazs | 21 6200 | 51% 3:15.200
JL4T76 21 17,300 48% 3:15,20
JLazs | 21 4800 | 55% :16.100, H:18.800
JL480 21 14,800 55% 216,100, H:18,800
JLag2 | 21 16100 | 51% 116,500, H:20.700
JL484 21 20,600 38% 17,000
JLage | 21 20600 | 38% 16.000

JAL
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=R B4 BEMTE
FH EE B =
BAME | T | #six "
RRECAB) =B R (HE)F | JLdol 7.600 50% | A& 20700, H:17.200
JL493 7600 | 50% : 20,700, H:17.200
JL495 5000 | 57% |%: :19.100
JL497 7.800 | _49% 400, H:20,100
JL499 900 | 43% 400
B JL490 800 | 47% . H:16.300
JL492 800 | 49% :19.300
JL494 000 |57 3:17.800
JL496 700 7 :18.200, H:20.700
JL498 20,500 2 :16.300, H:22.000
R (AE)=# HR(EE) R [_JL4s1 6.500 4 19.200
JL433 20,000 4 +:21,500, H:18.000
JL435 8,600 | 48’
JL437 16,000 | 55% +:19.100. H:19.800
JL439 9300 | _46% |£:22.000. +:19.700. H:23.700
JL443 20900 | 42% 23700, £:19.200
[ATES JL430 20400 | 43% :16.500
JL432 20400 | 43% :16.500
JL434 6700 | 53% |£1:18.600. H:20.100
JL436 16700 | 53% [%:19.100. £:18,000. H:20,900
JL438 20400 | 43% |%:20900. +:17.900. H:23.300
JL440 9200 | 46% [%:20.900. £:17.200. H:22,600
HR CHE) =AM HRCHE) % [ JL37i 4100 | 66% |£:14.600. £:14.300. H:11.500
JL373 9600 | 52% [%1:20.100. H:17.600
JL375 8600 | 55% [£H:19.100
JL377 20,100 E: 00. H:22.600
JL379 20.100 E: 00. H:23.600
s JL370 ,800 0
JL372 600 00. H:16.600
JL374 800 0
JL376 800 100, H:20.600
JL378 600 X 500, H:19.100
RECAB)=K% FR(HE) % |_JL661 .800 43% |&1:23.400, H:19.700
JL663 23500 | 41% |%:23,700, £:24.100. H:21.400
JL665 23500 | 41% |%:23.700. +:24.200. H:21.400
JL667 22700 | 43% |:X:22,900. £:23.800. £:23,400, H:25.500
JL669 21.200 £:20.800. H:25.600
JL671 20,900 00, £:20,200, H:23.500
EX S JL662 .800
JL664 100 :21.800
JL668 200 300, % H:22.800, £:23.300
JL670 200 00, % H:22.800, +:23.300
JL672 .900 800, H:26.000
JL674 B 400 .200. H:25.800
RRCRE) =Rk FR(FE) % [ JL605 18 1400 .00
JL607 1H 400 .200. H:21.600
JL609 18 20.500 00. H:21.600
JL611 Iz 20,500 00. H:21.600
JL613 18 19.600 .60
JL615 1H 19.600 .60
S JL606 18 19.700 00, H:20.200
JL608 1H 21,600 E 0
JL610 18 20,400 & 00, £:22.000. H:23.100
JL612 1H 4,000 | 45% | Xl £:21.100, H:25.100
JL614 18 4.000 | 45% |l 21,100, H:25.100
JL616 18 500 | 51% |%:24.700. +:19.800, H:24.100
R CRE)=f R (RE) % [_JL623 18 .000 46% :22.300. 1:22.400. H:19.100
JL625 1H 100 | 46% +:22.800. H:18.700
JL627 18 200 | 46% :22.100, 2 1:22.800. H:20.500
JL629 18 700 | 47%
JL631 16 700 | 47%
JL633 1H 000 | 54% . £:20.700. H:22.400
JL637 18 20600 | 50% |3 . H:22.700
JL639 Iz 19.900 | 52% 119,800, A:20.600. %:23,800. £:19.600. H:23.000
A% JL622 18 22,500 45% | +:23.000. H:20.80
JL624 1H 22500 | 45% |H:20,000
JL626 16 600 | 52% |%+:20.300. H:20.000
JL628 Iz 700 | 55% :18.600, £:20.100. £:20,200, H:20.400
JL630 18 100 | 44% 122400, +:21.600. H:23.200
JL632 1H 900 | 44% |%:23400. 1:20.300, H:24.500
JL634 18 900 | 44% :23.400, 1:20.300. H:24.500
JL638 1H 900 | 56% |2:21.400. H:21.00
HECRB)=EH HRCAE)H | Jes7 | 218 20,700 50% | +:22,100, H:19,90(
JL689 | 218 22500 | 45% |%1:23.300, H:21.400
JL6ot | 218 22300 | 46% £:23,100, B:21.200
JL693 | 218 21600 | 47% |%+:21.900, H:22.700
JL695 | 21H 21,100 | _49% 21,900, H:22.70
JL697 | 218 21100 | 49% |%:23.900, A:22.20
B3 JL6s8 | 21H 20900 | 49% 1,800, £:22.500, H:19,000
JL6%0 | 218 21400 | 8% |%:22.800. +:22.700. H:18.900
JL692 | 21H 18,900 | 54% . B:22,101
JL694 | 218 8800 | 54% 1.100. H:23.300
JL696 | 21H 23100 | 44% . £:20500, H:24.700
JL698 | 218 £:19.600, H:24.500
RERAE)-ERS HRCAE)H | _Jedr | 218
JL643 | 218
JL645 | 218
JL647 | 218 22.100
JL649 | 218 23,800
JLes1 | 218 23,900
JL653 | 21H 20800 | 52% . H:24,400
JL655 | 218 22600 | 48% . £:21,900. H:25.000
ERER JLed0 [ 218 21,100 52%
Jie42 | 218 21800 | 50% .700. H:21.900
JL64d | 218 22200 | 49% 4,00
JL646 | 218 20900 | 52% . H:23.300
JL648 | 21H 21300 | 51%
JL650 | 218 24800 | 43% H:26.400
JL652 | 21H 22500 | 48% 4,000, +£:19.700, H:24,800
JL654 | 218 22500 | 48% |%:24.000, £:19.700. H:24.800
R (RRE) =AM () | Hm(RE)F | JL3005 | 21 15,800 37% |2+ H:16.100
JL3009 |21 3800 | 45% £:14.100, £:14.100
KBR (5 % | JL3004 | 21 13.800 45% | A:10,300
JL3006 | 21 9800 | 21%
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 12,400 67% 13,300, 1
ALOF (B F ) %[ J13040 [ 21 2400 | 67% :12.800, 1
G A (AE) S | JL3057 | 21 13,600 67% 14,000, 1
e JL3052 | 21 3600 | 67% :14.000, 1
KR (73) =B 88 ABRURF S | JL2123 | 21 26,000 40% | A:27.400
BT JLziza | 21 26700 | 39% |A+:28.400, A:
KR (B =FF& KR (5 % [ L2151 [ 21 13,400 67%
JL2153 | 21 3400 | 67%
JL2157 | 21 13400 | 67%
BHER JL2152 | 21 3,400 67%
JL2154 | 21 13400 | 67%
JL2158 | 21 3400 | 67%
KBR (753) =t E RBR(RFHF | JL2171 | 21 21,000 43% | £:21,400. 1+ H:23,500
JL2173 | 21 9300 | 48% |£:22.600. 1
JL2179 | 21 20900 | 44% [%:23,500. 1
PES JL2172 | 21 20900 | 44% |%:22.200. 1
JL2174 | 21 19300 | 48% |£:23,500.
JL2176 | 21 9300 | 48% |£:23.500. £ H:25.900

JAL
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T1/10-20
=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
RIR (D =MlE KB (74 % |_JL2201 7.000 51% [£:21.400, £:21.600, H:17.200
JL2203 7300 | 50% :21.400, +:21,600. H:17.500
JL2205 600 | 52% |%&+:20.700
JL2207 800 | 43% :20,700
JL2209 800 | 43% :22.200
JL2211 400 | 38% :23.300
JL2213 400 | 38% :23.300
JL2215 20000 | 42% :21.100
[Tz JL2200 16.800 | 51%
JL2202 19.800 | 43% :20,000
JL2204 20.200 | 42% |4 :20.700
JL2206 7500 | _49% :18,000
JL2208 500 | 49% :18.000
JL2210 800 | 46% :19,000
JL2212 900 | 45% :22.800
JL2214 600 | 49% |3 :22.200
KR () =518 KR (5D % | _JL2241 6.300 50% .
JL2243 7200 | 47% . H:16.900
JL2247 7200 | 47% 8500, H:17.900
JL2251 400 | 40% |4 H:20.800. £:17.900
HRR JL2240 .700 39% 500
JL2244 900 | 48% +19,700, £:16.300. H:19.100
JL2246 800 | 45% |%:21.100. £:17.200, B:20.000
JL2250 7.800 | 45% |%:21.100. H:20,000
RBR (5 =#2L KB (B % [ JL23oi .000 42%
JL2305 800 | 38% |£:12,900. H:12.400
JL2309 900 | 43%
EATIES JL2302 ,900 43%
JL2306 900 | 43%
JL2310 200 | 31% .800
KR (=K% KR (5D % |_JL2361 300 34% .300
JL2365 900 | 40% 300
JL2367 400 | 33% .300
EE JL2362 ,900 40% .300
JL2364 300 | 34% :16.300
JL2366 400 | 290% :16.300
KR (5 =Rl KB (D % [ JL2s7i .300 40% .60
JL2373 7300 | _40% .60
JL2375 100 | 48% 200 B:17.000
JL2377 600 | 42% .10
AR JL2372 600 | 42% 800
JL2374 600 | 42% 1:15.800
JL2376 000 | 48% 500
JL2378 B 500 | 43% 000
RIR (5D =R KRR (D) % | JL2383 18 13.600 48% :14.400. 1:14.500. H:14.300
JL2385 | 218 14500 | 5%
JL2389 | 218 14500 | 45% |+£:14.300
AR JL2382 | 218 14500 | 45%
JL2386 | 218 14100 | _46% [%:14.200. £ H:14.500
JL2392 | 218 14600 | 44% | A% H:14500, £:14.300
KR (A =2 KB (7D % [ JL2431 18 16.100 39% |+:17.400
JL2433 | 218 16100 | 39% |+:17.400. H:15.700
JL2437 | 218 16.400 | 38% £:18.500. B:15.700
JL2441 1H 17200 | 35% |£:20,000. H:19.40
JL2443 | 218 16.600 | 37% :20.000, +:16.400. H:19.400
EEES JL2430 | 218 16600 | 37% |£:17.200. +:18.800. H:16.400
JL2432 | 218 16.600 | 37% 117200, +:18.800. H:16.400
JL2434 | 218 16400 | 38% & 1:17.00
JL2438 | 218 16.400 | 38% +17.200, £:18.100. B:17.700
JL2a42 | 218 16400 | 38% |£:17.200. £:18.100. H:17.700
KR (P -EERE KB (7D % [ JL2401 18 15.200 49% 16.400
JL2403 | 218 16.000 | 47% 500, £:16.600. H:17.000
JL2407 | 218 15.900 | _47% 16.400
JL2409 | 218 15100 | 50%
JL2411 16 15.100 | 50%
JL2415 | 218 15100 | 50%
JL2419 | 218 15.900 | _47%
ERER JL2400 | 218 14600 | 51% |4
JL2402 | 218 14700 | 51% |4
JL2404 | 218 14600 | 51% |+
JL2406 | 218 14600 | 51% |4
JL2410 | 218 14500 | 52% |+:16.800. H:16.90
JL2a12 | 218 16,400 17,400, B:17.90(
JL2414 | 218 6.400 £:17.400, H:17.90
BEE (PED)=HLIE (TR 2 HE (PE) R JL3103 [ 218 20,900 0, +:25,60
JL3105 | 218 7.000 20.700. H:18.400
JL3107 | 218 13,100 £ H:15.800
JL3117 | 218 1.800 13.900. H:14.600
ALOR (3 F#%) % | JLsioo | 218 12,400 14,500, £:15,000, + H:15,500
JL3106 | 218 12.900 :15.200
JL3tia | 218 21,200 +:22,000, H:24.200
JL3tig | 218 19.900
AEEUMO=#E |AEEUNMOSE] J14333 ] 218 17500 . 1 H:19,900
iR JL4334 | 218 6.600 £ H:18.900
AHERCMO=RE  [2HEOMOR[ Jldd01 | 218 14,700 +12,90
JL4403 | 218 4900 12,90
JL4405 | 218 14,200 £:13,700, H:12,900
JLaa13 | 218 14.100 %:14.200, £:11.700. H:13.700
JL4at5 | 218 13,700 L £:11.70
[EES JL4400 | 218 3200 170
JL4402 | 218 15300 | 46% |+:12,900. H:13,70
JLas08 | 218 5400 | 46% |£:15.300. £:12.300. H:13.700
JLaat2 | 218 15400 %:15,700, £:12,300, B:15,100
JLaaia | 218 4200 2,300, A:15.10
BHERUMO=RA  [2HEBOMOR[ J4341 | 218 15,500 14,900, + B:11,700
JL4345 | 218 3500 :13.200, + H:11.400
JL4347 | 218 13,800 3,200, %:14.200, £ H:11.400
AR JLa3a2 | 218 5,000 11.400
JL4346 | 218 14,300 : 11,400
JLa3as | 218 4300 | 56% |+ H:11.700
HREFTFR)=-FF | FAREFFTHR) [ 2803 [ 21 15,200 37% |+ H:16.800
JL2805 | 21 5200 | 37% |+ H:16.800
JL2809 | 21 16200 | 33% [t H:17.800
BHER JL2804 | 21 5,200 37% |+ H:16.800
JL2806 | 21 15200 | 37% |t H:16.800
JL2810 | 21 6200 | 33% |+ H:17.800
HREFTFR) =B | AR TR 5[ L2821 | 21 16.900 39% |+ H:18,500
JL2827 | 21 5900 | 43% |+ H:17.500
EE JL2822 | 21 14,900 46% |+ H:16.500
JL2828 | 21 6.900 | 39% |+H:18.500
IR (FFR) =58 EEES JL2871 | 21 20,100 39% |+ H:22.100
JL2877 | 21 8600 | 44% |+ H:20.500
ALOR (3 F#%) 5| JLosro | 21 19,600 41% |+ H:21,500
JL2876 | 21 8,600 | 44% |+ H:20.600
HIRFFR)=LE was JL2001 [ 21 10.200 68% |+ H:10,400
JL2903 | 21 4600 | 54% :14.300, 13,600, £:16,000. H:13.300
JL2905 | 21 11700 | 63% [t H:11,900
JL2907 |21 4300 | 55% |£:17.300. £:14.100. H:16.000
JL2009 | 21 13300 | 58% |%:16.300. £:13.100. H:15,000
ALUE (Fr Fa%) 5[ JL2o00 [ 21 9.800 69% |+ H:9.900
JL2002 | 21 10200 | 68% |+ H:10.400
JL2904 | 21 0200 | 68% |+ H:10.400
JL2906 | 21 11900 | 63% [%:16.500. £:13.600. H:16.100
JL2910 | 21 1.900 | 63% |%:16.500, £:13.600. H:16.100
HIRFFR)=ES e JL3403 [ 21 20,500 60% | X7K:19.000, 7K:19,500, % 1:22,500
ALOE (i F38) [ J13406 [ 21 20500 | 60% | “kJKA:19.000, H:22.500
BE=LE EEEES JL3531 [ 21 24,300 50% |4 +:27.400
JL3537 | 21 24300 | 50% |%+:27.400
es JL3530 24,300 50% 24,900, +:25,600
JL3538 26.300 | 46% |4 H:29.500. £:27.400
1BE=38 EEIES JL3525 22,100 52% |£:22,500, H:23.400
Eets JL3524 100 | 52% |&+:23400

JAL



MEHEZI5I21 1 EEXR(11HA10~20BERS) JAL

EW#EMAE ;. 2019/08/27 ~

T1/10-20
=40} B2 HEMIE
FH EEE EBEH E
BAME | T | #isix u
BE=Ek [EEES JL3621 .800 60%
JL3625 800 60%
JL3629 800 60%
JL3631 800 60%
JL3633 800 60%
JL3639 800 60%
JL3641 800 60%
S JL3620 800 60%
JL3622 800 60%
JL3626 800 60%
JL3630 800 60%
JL3632 800 60%
JL3634 800 60%
JL3642 800 60%




MEEZI5I21 1 EEXR (1121 ~30BERS)

EREAE 2019/08/27 ~
T1/21-30
=R B4 BEMTE
F6 & =
AR - ]
R CRE)=#LIR 3 Fam)| ERCRE)F |_JL593 19.200
JL501 19,200
JL503 19.200
JL505 20,900
JL507 23.300
JL509 23,300
JL511 23.100
JL513 20,700
JL515 19.900
JL517 18.400
JL519 18.400
JL521 20,700
JL523 20.700
JL525 20,700
JL527 21,900
JL529 20,700
JL531 20,000
ALUR (B F %) 5| JL500 21,700
JL502 23.300
JL594 23,300
JL504 700 E
JL506 ,600 20,
JL508 .400 £:21.200, £:21,600. H:21.500
JL510 400 % |£:21,000, £:21.100. H:22.700
JL512 .900 E 21.100
JL514 500 X: 21,100
JL516 100 :23.900, £:21.100
JL518 400 20,700
JL520 400 20.700
JL522 400 20,700
JL524 100 19.200
JL526 20,700
JL528 20.700
JL530 8,400
HR(CRE)=1&[ BRCRE)$ |_JL303 8,500
JL305 2,100
JL307 4.800
JL309 26,300
JL311 26.300
JL313 25,200 28,700, £:20.400
JL315 300 4,600, H:19.900
JL317 .300 4,400, £:27.300, H:21.100
JL319 .700
JL321 B .900
JL323 18 .900
JL325 1H 100
JL327 18 .700
JL329 1H 700
JL331 18 .700
JL333 1H 700
JL335 18 4.400
[ JL300 18 300 E;
JL302 18 800 k.
JL304 1H 800 x
JL306 18 .900 X 25.900. H:20.000
JL308 1H 500 * 25,200, £:20.000
JL310 18 500 X:21.700. % 800, H:21.100
JL312 1H 20,600 [£:22.300. 300
JL314 16 .800 122300, £
JL316 1H 100 | 54% |%:22.900,
JL318 16 300 | 46% |%:26.200.
JL320 1H 300 [£:26.300,
JL322 16 200 | 41% 126.300.
JL324 Iz 300 | 41% |%:27.100,
JL326 16 300 [ 41% :27.100.
JL328 1H 700 | 40% |%:27.800. 1
JL330 16 2.800 | 45% |£:26.400
JL332 1H 9200 | 53%
RRCAB) =4 (BH) | RR(PE)E [ JL901 18 20,900 54%
JL903 1H 24,600 | 46% :22.900
JL905 18 24600 | 46% 22.900
JL907 1H 24,600 | 46%
JL909 | 218 23700 | 48%
JL913 | 218 22900 | 50%
JLot5 | 218 16,200 | 65% 7,300, + H:17.600
JLo17 | 218 15700 | 66% 6.800, £ H:17.100
JLo19 | 218 15000 [ 67% £:15.100
JL921 | 21H 14500 | 68% 15.000
JL923 | 21H 14800 | 68% 17,100, H:16.100
JL925 | 218 15.600 | 66% 17.900, H:17.000
SR (BE) R |00 [ 218 15,500 66% £:17.800, B:14,400
JL902 | 218 15500 | 66% |£:16.300. £:17.300. H:14.900
JL904 | 218 14000 | 69% £:14,600, H:15.400
JL906 | 218 15000 | 67% |%+:15.100. H:16.400
JL908 | 218 16,000 | 65% 16,800, + H:17.400
JL910 | 218 22400 | 51% |£:22.700. A:2540
Jot2 | 218 22400 | 51% 22,700, H:28,30
Jio14 | 218 22400 | 51% |£:22.700. A:28.30
JL916 | 21H 24,600 | 46% |%:25,100, £:22.400. H:28,400
Jio1s | 218 24600 | 46% |£:23.600. £:22.400. H:26.300
JL920 | 218 19300 | 58% |H:25.100
JL922 | 218 17400 | 62% |H:20.000
RIR (RFH) =R (BT F &) ABR(FF R | JL2o01 | 21H 22,700 51% 22,900, £:26.600, 1:26,900, H:17.500
JL2005 | 218 22900 | 51% |%+:25800, H:20.000
JL2009 | 218 11,100 1,700, £:13.200, H:12,500
JL2019 | 218 20,900 E 1:22.900, H:22.600
ALOR (3 F#%) % | _JL2000 | 218 18,600 22,600, H:17,400
JL2006 | 218 17.700 1,100, 1:19.400. H:20.400
JL2010 | 218 24,100 | 48% |%JK:23,400, £:22,600. H:27.100
JL2016 | 218 24100 | 48% [JJk:23.400, +:22.600. H:27.100
KR (BAZE) =#LIR (3 F#%)| KPR (BAFE) e | JL2501 | 21 18,500 60% |#:21,700, +:21,800, H:16,600
JL2503 | 21 10100 | 78% |A%:10.700. £:13.200. H:12.500
JL2505 | 21 9700 79% _|%:10,700. +:11,200, H:12.500
ALOR (3 F %) 56| L2502 | 21 10.100 78% [ KIKAK:9.700
JL2504 | 21 10400 | 78% 12,600
JL2506 | 21 24100 | 48% |K:23400, +:22.600. H:27.100
KR (B =48 (BE) | KBR(FFHH | JL2o81 | 21 24,300 37% |#+:25,000, H:21,500
JL2087 |21 10800 | 72%
FR#B(ARER) 5 | JL2084 | 21 10.800 72%
JL2088 | 21 24300 | 37% :23.300, H:25.500
EE=FLIR TR EER JL3513 | 21 20,100 65% |£:20,900, 1:22,700, H:21,800
JL3515 | 21 18900 | 67% |& 1 H:19.900
ALOR (3 F#%) | JL3s10 | 21 18,900 67% |2+ H:19,900
JL3si2 | 21 20100 | 65% |:20.900, £:22.700. H:21.800
RECHE)=Xi#H3| HRCRE)E | _JLse5 | 21 14,400 69% |£:16,800, +:17.500, H:17,700
JL567 | 21 15900 | 66% |%:17.400. £:19.300. H:19.500
JL569 | 21 16700 | 64% |£:19,600. £:19.100. H:18,800
ESTIES JL562 | 21 15200 | 67% |A: 15.800, H:18.600
JL564 | 21 15200 | 67% |4 +:15,800, H:18.600
JL566 | 21 12.300 | 73% [&: 15.800
R CRE) =R HRCRE)E | _JLss1 | 21 14,600 67% |4 16.500, H:15.300
JL553 | 21 14800 | 67% |A: 19.300, H:16.200
JL555 | 21 15,900 | 64% [sK:16. +:16.700, £ H:17.800
JL557 | 21 16.700 | 62% X:16.500. % H:17.800
JEIES JL552 | 21 17200 | 61% |+:17.400
JL554 | 21 14300 | 68% |A:14.800, £:15.000. :15.300, H:16.500
JL556 | 21 14600 | 67% |%:15.500, £:14.700. H:16.300
JL558 | 21 13200 | 70% |4 115,000, £:14.100. H:16.300
R CRE) =#I2% RECPE) R | _JL541 ,200 70% |4 18,200, H:14,100
JL543 400 | 58% 22,500, H:17.700
JL545 500 | 64% :15.300, H:17.600
TS JL540 600 | 60% :18.700, B:16.700
JL542 800 | 61% 3:17.700
JL544 000 [ 70% 115,700, £:15.300. H:18.500

JAL



MEEZI5I21 1 EEXR (1121 ~30BERS)

EREAE 2019/08/27 ~
11/21-30
=40} B2 HEMIE
FH EE EBEH [
BAME | T | @ik "
EEEEETN R CRE) % | JL573 800 | 73% |&: 000
JL575 700 61% 300
JL577 700 | 61% |&: 300
JL579 ,.400 69% 900, H:16.100
HILFE JL570 .000 68% [2 .100
JL572 .100 67% 200
JL574 700 | 68% |&: 200
JL576 ,.800 70%
R CRIE) =EE R (FE)F [_JL585 .300 59% [K 6.300, +:18.000, H:15.100
JL587 ,700 64% 5,300, +:17.000, H:14.600
JL589 400 | 48% |&: 0.700
HEEFR JL584 000 55% 6.500, H:16,200
JL586 900 | 58% |&:15. 4700, B:17.200
JL588 ,.400 48% .700
R (FE)=# R CAE)$ |_JL1a1 600 | 57%
JL143 .300 52%
JL145 600 | 57%
JL147 .900 56%
JL149 300 | 52%
JL151 600 57%
HHR JL140 .600 57%
JL142 .900 56%
JL144 600 | 57%
JL146 .300 52%
JL148 6300 | 52%
JL150 4.600 57%
HR(F@)== R CAE) F |_JL155 000 | 52%
JL157 000 52%
JL159 000 | 52%
ZiR% JL154 000 52%
JL156 000 | 52%
JL158 000 | 52%
HR (FE) =@ R CAE)$ |_JLi61 9.700 65%
JL163 8400 | 33% 11.600
JL165 4600 | 47% |H:15.300. £:11.600. H:17.400
JL167 6.500 40% :18.300, +:11.600, H:18,600
E=ES JL162 8,500 33% 8.600. 1+ H:11.600
JL164 4.600 47% |+ H:11.600
JL166 7300 | 37% [£:16.900. £ H:11.600
JL168 9.700 65%
HR (FE) =1k HERCAE) % [ JLI75 9.600 49% | H:10.500
JL179 11,100 41%
(%3 JLI74 11100 | 41%
JLI78 B 11,100 | ai%
R CRE) =/ML R (RE)F [ JLis3 18 11.300 54% [7K:9.700, £:12.200. F H:9.800
JL185 18 13200 | 46% |A:12.600. F H:9.800
JL187 18 9.700 61% [+:10.300. H:9.800
JL189 Iz 9.700 61% |+ H:9.800
JL191 18 9.700 61% | H:0.800
JL193 18 10200 | 59% |£:12.800. F H:9.800
IMAFE JL182 18 10200 | 59% |7KA:11.300. £:12.100. T H:0.800
JL184 Iz 9.700 61% [7K:11.300
JL186 18 11.300 | 54% |:10.200. %:12.100. £ H:9.800
JL188 18 11,300 | 54% |X:10,200, $:12.100, £:10,300, H:9,800
JL190 18 12500 | 49% |+ H:9.800
JL192 Iz 12500 | 49% |7K7:9.700, %:12.800. £ H:9.800
R CRE)=FEW HERCAE) # | _JL231 18 12.700 62% |+ H:13.300
JL233 Iz 12700 | 62% [+ H:13.800
JL237 18 13.900 | 59% |A:14.100. A:15.300, £:15.700. £ H:13.800
JL239 Iz 15600 | 54% [+ H:13.800
JL241 18 15700 | 53% |+ H:13.800
EIES JL232 1H 13500 | 60% |A:12.900. + H:13.800
JL234 18 15.600 £:14.500. = H:13.800
JL236 18 12700 | 62% |£:15.700. £ H:13.800
JL240 18 15300 | 55% |+ H:13.800
JL242 Iz 15700 | 53% [+ H:13.800
RRECAB)=LES FR(RE) % [ _JL253 18 13.300 62% |A£:13.900. £ H:14.200
JL255 Iz 14900 | 57% |A:15.900. %:15.700, £ H:14.200
JL257 18 19500 | 44% |+ H:14.200
JL259 Iz 18000 | 48% [+ H:14.200
JL261 18 13.900 | 60% |H%:16.200 £ H:14.20
JL263 fI= 13500 | 61% |A:15.800. %:18.000, & H:14.200
JL265 218 17,200 50% H:14,200
JL267 | 218 7.000 | 51% :14.200
%S JL252 | 218 13,800 60%
JI254 | 218 7300 | 50%
JL256 218 13,900 60%
JI258 | 218 3900 | 60%
JL260 218 13,000 62%
JI262 | 218 6500 | 52%
JL264 218 18,400 47%
JL266 | 218 18400 | 47%
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 70%
JL203 | 218 12700 | 67%
JL295 218 13,100 66% . H:15,300
JL207 | 218 13100 | 66% . H:15.300
wnFHeE [0 [ 218 13,600 65% 12,10
JL202 | 218 3600 | 65% |%:14.100, H:12.10
JL294 218 13,100 66% 4,300, £:13,300, H:15,300
JL206 | 218 1.600 | 70% 5,600, £:11.100. B:15.300
RRCAB)=HE HRCAE)H | J277 | 218 18,400 43% | /k£:19,600, £:20.400, :20,800, H:17,600
JL279 | 218 21.200 | 34% |%+:21.800. H:19.500
JL283 218 17,600 46% X:16,900, H:19,400
JL285 | 218 6400 | 49%
JL287 218 21,300 34%
HES JL276 | 21H 3400 | 59%
JL278 218 20,300 37%
JL280 | 218 8000 | 4% 119,900, +:20,600. H:20.800
JL284 218 21,800 33% 219,900, H:23,600
JI286 | 21H 20600 | 36% & H:21.200. £:19.000
RRCAB)=-EE HRCRE)E | _J453 | 21 17.700 47% 15,600, H:15.200
JL455 | 21 7700 | 47% . 15600, H:15.200
JL457 21 15,200 54% |5:17.300, +:15600
JLase | 21 5200 | 54% |£:17.300. £:15.600
JL461 21 16,300 51% |4 5,400, H:15,600
JL463 | 21 6.800 | 49% |[£:17.700. 1 1
JL465 21 16,800 49% | %:17,700, £+ H:15,600
[EEES Juasg |21 5,200 54%
JL454 21 16,100 51%
JLas6 | 21 16100 | 51%
JL458 21 16,000 52% :15,600
JL460 | 21 6.000 | 52% 15,600
JL462 21 16,500 50% 15,200, H:15.600
JL464 | 21 6500 | 50% 15.200, H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 15,200 54%
JLa77 | 21 9400 | 4i%
JL479 21 17,500 47%
JLasl | 21 4800 | 55%
JL483 21 14,800 55% .
JL4ags | 21 6200 | 51% 6.000, H:20.100
JL487 21 20,700 37% 216,000
S JLazs | 21 6200 | 51% 3:15.200
JL4T76 21 17,300 48% 3:15,20
JLazs | 21 4800 | 55% :16.100, H:18.800
JL480 21 14,800 55% 216,100, H:18,800
JLag2 | 21 16100 | 51% 116,500, H:20.700
JL484 21 20,600 38% 17,000
JLage | 21 20600 | 38% 16.000

JAL



MEEZI5I21 1 EEXR (1121 ~30BERS)

EREAE 2019/08/27 ~
T1/21-30
=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
HR(RE)=-F4 HRCHE) % [ _JLdo1 7700 | 50% |A:17.600. A%:18.600. £:20.700. B:17.200
JL493 7700 | 50% 7,600, A %:18,600, +£:20.700. H:17.200
JL495 5000 | 57% |£:18.800. £:18.600. H:19.100
JL497 7.800 | _49% +18.800, +:16.400. H:20,100
JL499 900 | 43% |&H:20800. %
EES JL490 800 | 47% +£:19.900.
JL492 800 | 49% |%:18800. *:
JL494 000 |57 +:18.800. H:17.800
JL496 .700 7 :22.400, +:18.200. H:20.700
JL498 20,600 1 :20,500, £:23,300, £:16,300, H:22.000
R CRE)=#l R (HE)F |_JL431 16.500 4% | R£:17.200, £:19.200
JL433 20,000 4 :20,900, % +:21,500. H:18.000
JL435 18.600 | 48" £ £:19.600
JL437 16,000 | 55% +:19.100. H:19.800
JL439 19300 | 46% |£:22.000. +:19.700. H:23.700
JL443 20900 | 42% 23700, £:19.200
[ATES JL430 20400 | 43% :16.500
JL432 20400 | 43% :16.500
JL434 16700 | 53% |%1:18.600. H:20.100
JL436 16.700 | 53% ,000. H:20.900
JL438 20400 | 43% 900, B:23.300
JL440 9200 | 46% 200, H:22,600
HR CHE) =AM R CRE) % | JL371 4100 [ 66% 300, B:11.500
JL373 9600 | 52% :17.600
JL375 8600 | 55%
JL377 20100 | 51% 00. H:22.600
JL379 20.100 | 51% 00. H:23.600
EZIES JL370 .800 59% 60
JL372 600 | 52% 100, B:16.600
JL374 800 | 54% 0
JL376 800 | 54% 100, H:20.600
JL378 600 | 60% 00, H:19,100
RECAB)=K% HRCRE)# |_JL661 600 43% 24,400, H:19.500
JL663 23300 | 42% 26.100. H:21.200
JL665 23.300 | 42% 26.100. H:21.200
JL667 23200 | 42% . 23,800, +:25.000, H:26.000
JL669 500 | 46% 300, H:25.900
JL671 000 | 47% . £:23.800, H:23.700
R JL662 600 | 51% .700. B:19.700
JL664 900 | 45% 24,100,
JL668 1400 : 22.800
JL670 1400 B 22,800,
JL672 4,100 ZE
JL674 B 3,600 A
RRCRE) =Rk FR(FE) % [ JL605 18 1.000 %
JL607 1H 2.400 -
JL609 18 20.600
JL611 1H 20,600 B
JL613 18 19.700
JL615 1H 19.700 700
S JL606 18 19.600 & 600, £:23.100, H:20.100
JL608 Iz 21,500 *: 2,500, +:22.400
JL610 18 20.600 & 2 +:22.200. H:23.200
JL612 18 4,600 D :24.000, +:21.700. H:25.800
JL614 16 4.600 J %:24.000 :25.800
JL616 1H 100 [A: 124, 24,800
R CRE) =} HRCAE) & | JL623 18 .700 * 2.30 25.800, H:18.800
JL625 18 .00 *x: 2,800, +:24.200. H:18.400
JL627 18 .700 X 2,800, +:24.200. H:20.200
JL629 Iz 1400 *x: 1.800. £:25.400
JL631 18 1400 X :21.800. +:25.400
JL633 1H .000 K:20.000. %:20.800, £:25.000. H:22.500
JL637 16 20.600 9,600, H:22.800
JL639 18 20,400 1.100. %:23.800, + H:23.600
BAR JL622 18 22,400 800, H:20.700
JL624 1H 22,300 800
JL626 16 .300 . £:20.000. H:19.800
JL628 1H 500 100, H:20.300
JL630 18 100
JL632 1H 500 . £:20,900. H:25.200
JL634 1H 500 . £:20.900. H:25.200
JL638 1H 100 18.200
RRCAB) =2k HRCAE)H | Jes7 | 218 20,400 24,600, H:19,500
JL689 | 218 22,100 3300, +:25.000. H:21.000
JL6ot | 218 22,100 , £:24,600, H:21,000
JL693 | 218 21.800 H:23.000
JL695 | 21H 21,500 H:23,200
JL697 | 218 21,400 22.600
B3 JL688 | 21H 20,700 22,200, H:18.800
JL6%0 | 218 22,500 23,500, H:19.600
JL692 | 21H 19,000 . H:22,200
JL694 | 218 19.200 . H:23.700
JL696 | 21H 23,600 . H:25,400
JL698 | 218 22.200 . £:20.100. H:25.100
RR(PE)-ERE HRCAE)H | _Jedr | 218 21,200 :20,400
JL643 | 218 23,800 0. H:20.400
JL645 | 218 23,600 . H:21,000
JL647 | 218 19.800 25,500, H:22.100
JL649 | 218 21,300 . H:23,800
JLes1 | 218 20.100 . H:24.100
JL653 | 21H 21,500 . B:25,200
JL6s5 | 218 22.200 E; . £:26.800. H:24.700
ERER JLed0 [ 218 21,500 £ H:21,100, 1:23,600
JLe42 | 218 21,500 K 7K:21.400, F:21.800, %:22.700. £:23.300
JL64d | 218 22,400 24,20
JL646 | 218 21,500 2000, H:23.800
JL648 | 21H 21,400 22,700, H:23,20
JL650 | 218 24,400 K:24.800. :25.500, +:21,500. H:26.000
JL652 | 21H 23,400 %:24,000, £:20,600, H:25,900
JL654 | 21H 23400 | 46% |£:24.000, +:20.600. H:25.900
R (RRE)=KBR () | FR(RE) S | JL3005 | 21 15,800 37% |£:17.000
JL3009 |21 3800 | 45%
KR (FH % | JL3004 [ 21 10,300 59% | A X:10.800
JL3006 | 21 9800 | 21%
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 12,400 67% | F:12.900, £:13,700
ALOF (B F ) %[ J13040 [ 21 2400 | 67% :12.900, £:13.200
G HE (M) % | J13057 [ 21 13,600 67% |£:14,400
e JL3052 | 21 3600 | 67% |£:14.400
KR (73) =B 88 ABRURF S | JL2123 | 21 26,000 40% | :27.400, £ 1:28,000. H:26.900
BT JLziza | 21 26700 | 39% |A+:28.400, H:29.000
KR (B =FF& AR (RFHF [ JL2151 [ 21 13,900 66% | £:13,400
JL2153 | 21 3900 | 66%
JL2157 | 21 13.900 | 66%
BHER JL2152 | 21 3,900 66%
JL2154 | 21 13.900 | 66%
JL2158 | 21 3900 | 66% |£:13.400
KBR (753) =t E RBR(RFHF | JL2171 | 21 21,000 43% |£:21,400, 1:25.200. B:23500
JL2173 | 21 9300 | 48% |£:22.600. TH:
JL2179 | 21 20900 | 44% [%:23,500. 1
PES JL2172 | 21 20900 | 44% |%:22.200. 1
JL2174 | 21 19300 | 48% |£:23,500.
JL2176 | 21 9300 | 48% |£:23.500. £

JAL



MEEZI5I21 1 EEXR (1121 ~30BERS) JAL

EW#EMAE ;. 2019/08/27 ~

T1/21-30
=40} B2 HEMIE
FH EE EBEH [
BAME | T | #six "
RIR (D =MlE KB (74 % |_JL2201 7.000 51% 900. H:17.200
JL2203 7500 | _49% 800, H:17.700
JL2205 000 | 51%
JL2207 800 | 43% :20,700
JL2209 800 | 43% :22.200
JL2211 400 | 38% :23.300
JL2213 400 | 38% :23.300
JL2215 20000 | 42% :21.100
[Tz JL2200 16.800 | 51%
JL2202 19.800 | 43% :20,000
JL2204 20.200 | 42% |4 :20.700
JL2206 7500 | _49% :18,000
JL2208 500 | 49% :18.000
JL2210 100 | 45%
JL2212 200 | 45% . H:23.100
JL2214 900 | 48% . H:22,500
KR () =518 KB (B % [ JL2241 7.200 47%
JL2243 7700 | 46% 400, H:17.400
JL2247 7700 | 46% £:19.000. H:18.400
JL2251 9900 | 39% £ 18.400. H:21.300
HRR JL2240 20.200 38% 9,00
JL2244 7.800 | 45% £:17.200, H:20,000
JL2246 7.800 | 45% £:17.200, B:20.000
JL2250 7.800 | 45% 20,00
KRR (5 =#1l KB (B % [ JL23oi .900 43%
JL2305 900 | 37% 5:12.500
JL2309 000 | 42%
EATIES JL2302 .000 42%
JL2306 900 | 43%
JL2310 500 | 29%
RIR (FFH) =K% KR (5D % |_JL2361 300 34% .300
JL2365 900 | 40% 300
JL2367 400 | 33% .300
K% JL2362 ,900 40% ,300
JL2364 300 | 34% .300
JL2366 400 | 290% 300
KR (5 =Rl KR (5D % | _JL2371 600 49% :16.600
JL2373 600 | 49% :16.600
JL2375 100 | 55% 7.900. H:17.700
JL2377 600 | 49%
RIEF JL2372 .200 51%
JL2374 200 | 51%
JL2376 3200 | 54%
JL2378 B 4700 | 49% 6.000, H:18.400
RIR (5D =R KRR (D) % | JL2383 18 13.600 48%
JL2385 | 218 14500 | 5% X
JL2389 | 21H 14500 | _45% 14600, B:15.800
AR JL2382 | 21H 14500 | 45% |AH:14.600. %:15.100
JL2386 | 218 14500 | _45% |H:14.600
JL2392 | 218 14500 | 45% |A:14.600. %:15200. H:15.300
KR (A =2 KB (7D % [ JL2431 18 16.100 39% 7.400
JL2433 | 218 16.100 | 39% 7400, H:15.70
JL2437 | 21H 16.400 | 38% |£:18.500. £:20.000. H:15.700
JL2441 1H 17200 | 35% |£::20,000. H:19.40
JL2443 | 21H 16.600 | 37% |£:20.000. £:16.400. H:19.400
EEES JL2430 | 218 16600 | 37% |£:17.200. +:18.800. H:16.400
JL2432 | 21H 16.600 | 37% 800, H:16.400
JL2434 | 218 16.400 | 38%
JL2438 | 21H 16.400 | 38% 100, H:17.700
JL2a42 | 218 16.400 | 38% 00. H:17.700
KR (P -EERE KB (7D % [ JL2401 18 15.300 49% 0
JL2403 | 218 16.000 | 47% .40
JL2407 | 218 16.400 | _45% .40
JL2409 | 218 15700 | 8% 0
JL2411 18 15.800 | _47% 0
JL2415 | 218 15800 | 47% 0
JL2419 | 218 16.600 | 45% 0
ERER JL2400 | 218 14700 | 51%
JL2402 | 218 14800 | 51%
JL2404 | 218 15100 | 50%
JL2406 | 218 15.100 | 50%
JL2410 | 218 5200 | 49%
JL2a12 | 218 17300 | _42%
JL2ata | 218 7300 | 42%
BEE (PED)=HLIE (TR 2 HE (PE) R JL3103 [ 218 20,900 50°
JL3105 | 218 7.000 | 59% . £:20.700. H:18.400
JL3107 | 218 13,100 | 69% . £ H:15.800
JL3117 | 218 1.800 | 72% . H:14.600
ALIR (#Fa%) % JL3100 | 218 12,400 70% 113,300
JL3106 | 218 12.900 | 69% :15.200
JL3114 | 218 21,200 | 49% 22,900, H:24.200
JL3tig | 218 19400 | 54%
AEEUMO=#E |AEEUNMOSE] J14333 ] 218 17.500 39% H:19.900
iR JL4334 | 218 6.600 | 42% :18.900
AEEUMO=1EME | AEE MO S| JL4401 | 218 14,700 48% . H:12,900
JL4403 | 218 4900 | 8% 15300, H:12.900
JL4405 | 218 14000 | 51%
JLaa13 | 218 2000 | 58%
JL4at5 | 218 14000 | 51%
[EES JL4400 | 21H 13200 | 54%
JL4402 | 21H 15300 | _46% :13.700
JLa408 | 218 15400 | 46% :12.500, H:13.700
JLa4i2 | 218 15400 | 46% 00, £:12,500, H:15.100
JLaaia | 218 14200 | 50% 500, H:15.100
AHEEUMO=IEA | AEEUMO | JL4341 | 218 15,700 52% H:14,600
JL4345 | 218 13400 | 59% 13,500,  H:12.500
JL4347 | 21H 13,800 | 58% 14,800
AR JLa3a2 | 218 14200 | 57% |4 H:13.200
JL4346 | 218 13400 | 50% |A& H:12.500
JLa3as | 218 14200 | 57% |A%:14.300. £ A:14.500
HREFTFR)=-FF | FAREFFTHR) [ 2803 [ 21 15,200 37% |+ H:16.800
JL2805 | 21 15200 | 37% |+ H:16.800
JL2809 | 21 16200 | 33% [t H:17.800
BHER JL2804 | 21 15.200 37% |+:19.300, H:16.800
JL2806 | 21 15200 | 37% |+:18,000. H:16.800
JL2810 | 21 16.200 9,000, H:17.800
HIRGETFR)-HE | HRGETFR) R JL2821 [ 21 16.900 18,500
JL2827 | 21 15.900 17.500
EE JL2822 | 21 14,900 % +:18,900. H:16.500
JL2828 | 21 16.900 118,500
HIRFTFR) =38 HER JL2871 | 21 20,100 122,100
JL2877 | 21 18.600 :20.500
FLIR (BT %[ JL2s72 | 21 19,600
JL2876 | 21 18.600
HIRFFR)=LE e JL2901 | 21 10.200 10,400
JL2903 | 21 14300 13600, £:14.900. H:13.300
JL2905 | 21 12700 £ H:12.900
JL2907 | 21 14300 %:17.300, £:14.400. H:16.000
JL2009 | 21 13300 %:16,300, £:13.400, H:15,000
ALOR (3 F %) | _JL2000 | 21 9.100 71% | A%:9.800, £ H:9.500
JL2002 | 21 10200 | 68% [+ H:10.400
JL2904 | 21 10200 | 68% |+ H:10.400
JL2906 | 21 11900 | 63% [%:15.200, £:11.100. H:14,500
JL2910 | 21 11.900 | 63% |£:15.200. £:11.100. H:14.500
HIRFFR)=ES CE JL3403 [ 21 19,000 63% 20,500, % +:22,500
ALOE (i F38) [ J13406 [ 21 20500 | 60% |“kJKA:19.000, H:22.500
BE=LE EEEES JL3531 [ 21 24,300 50% |4 +:27.400
JL3537 | 21 24300 | 50% |%+:27.400
es JL3530 24,300 50% 24,900, +:25,600
JL3538 26.300 | 46% |4 H:29.500. £:27.400
1BE=38 EEIES JL3525 22,100 52% |£:02,500, + H:23,400
Eets JL3524 22.100 | 52% |&+:23400




MEEZI5I21 1 EEXR (1121 ~30BERS)

EREAE 2019/08/27 ~
T1/21-30
=40} B2 HEMIE
o | =Ea e
BE=Ek [EEES JL3621 800
JL3625 800
JL3629 800
JL3631 800
JL3633 800
JL3639 800
JL3641 800
S JL3620 800
JL3622 800
JL3626 800
JL3630 800
JL3632 800
JL3634 800
JL3642 800

JAL



MEEZIS21 1 EER(12A1~58BFED)

EREAE 2019/08/27 ~
12/15
=40} B2 HEMIE
F6 @xm B0 =
BAME | 7% | #six "
RRECRE) =R G Fimk)| RRECRB)H |_JL593 21,800 45% | 4:18.100
JL501 21800 | 45% |A:18.100
JL503 21,800 | 45% |A:18.100
JL505 26,000 | 35% |A:20,700. H:25.000
JL507 26.000 | 35% |A:21.900. H:25.000
JL509 26,000 | 35% |A:21,900, H:25.000
JL511 25000 | 37% |A:21.700
JL513 4600 | 38% |A:19.800
JL515 2.000 | 45% |A:19.200
JL517 1.800 | 45% |A:17.500
JL519 1.800 | 45% |A:17.500
JL521 20800 | 48% |:19,600
JL523 20.800 | 48% |A:19.600
JL525 20600 | 48% |A:19,800, H:20.900
JL527 20.700 | 48% 1300
JL529 20600 | 48% |7:20,300, H:20.900
JL531 20.600 | 48% [A:18.800. H:20.900
FLOR (BT F %) F|_JL500 20600 | 48% [7:20.700. H:17.500
JL502 21,900 | 45% 700
JL594 21,900 | 45% 700
JL504 21,300 | 47% .800
JL506 20400 | 49% 800
JL508 17500 | 56% | H:20.300
JL510 17.500 | 56% :21.300
JL512 18700 | 53% :22.500
JL514 20300 | 49% :22,500
JL516 20.900 21,100, H:22.500
JL518 21100 | 47% 23,000
JL520 21,100 | 47% :23.000
JL522 21100 | 47% :23,000
JL524 20.900 | 48% :23.000
JL526 9600 | 51% :21,900
JL528 9600 | 51% |H:20.900
JL530 7500 | 56% |H:20.900
HR CRE) =18 FR(FE)F [_JL303 7,600 7% | 7:26.000
JL305 7.600 7% | 426,000
JL307 28,600 X:27.000
JL309 28,600 %
JL311 28.600
JL313 28,600 %
JL315 4.800 3% | A:22.500. H:25.300
JL317 7.600 7% [4:27.700
JL319 7.600 7
JL321 B 4,900 3% 18,800, H:25.400
JL323 18 25,900 1% _|A:20.500, H:26.800
JL325 Iz 7,600 7% | A:27.800
JL327 18 2100 | 49% |A:27.800. H:24.200
JL329 Iz 7.600 | 37% |A:27.800
JL331 18 7.600 | 37% |A:27.800
JL333 18 26700 | 39% |A:27.800. H:27.600
JL335 18 7.600 | 37% |A:27.800
[ JL300 1H 1000 | 52%
JL302 16 2400 | 49% 21,000
JL304 Iz 2400 | 49% 21,000
JL306 16 26200 | 40% 25.500
JL308 1H 25700 | 41% 23.400
JL310 16 000 | 50% 22.400
JL312 1H 400 | 49% 22,900
JL314 16 500 | 46% | A:22.400 90!
JL316 Iz 500 | 46% | K:21.400 60!
JL318 18 400 | 44% | A:25.400 .90
JL320 18 400 | 44% | K:25400 .90
JL322 18 26500 | 39% |A:27.400 .60
JL324 1H 23800 | 45% :26.900
JL326 16 23800 | 45% 26.900
JL328 1H 27000 | 38% |4
JL330 16 25100 | 42% :27.600
JL332 18 500 | 51% :22.700
R CRE) =4 (B8 | EERCRE)H |_JL01 18 .700 53% | A:19.100, H:20.80(
JL903 18 200 | 52% |A:21.200. H:20.80
JL905 18 300 | 52% |A:21.200. H:20.80
JL907 18 300 | 52% |A:21.200. H:20.80
JL909 | 218 21,900 | 54% |£:20,500, H:20.80
JL913 | 218 21900 | 54% |£:20.200. A:20.50
JLot5 | 218 12,400 | 74% 13,800
JL917 | 218 2400 | 74% |H:13.800
JLo19 | 218 15100 | 69% 14,600
JL921 | 218 4600 | 70% 15.000
JL923 | 218 16,800 | 65% 18,300
JL925 | 21H 6.800 | 65% 18.300
4R (FRER) F | _JLooo | 218 16,300 66% 15,300
JL902 | 21H 6300 | 66% 15.800
JL904 | 218 14600 | 70% 16.300
JL906 | 21H 15100 | 69% 17.300
JL908 | 218 13700 | 72% 14,900
JL910 | 218 9400 | 60% 21.900
Jot2 | 218 19400 | 60% 21,900
Jio14 | 218 19.400 | 60% 21.900
JL916 | 218 21,200 | 56% 22,700
Jio1s | 218 21200 | 56% 22.700
JL920 | 218 19300 | 60% 21,900
JL922 | 218 17.400 | 64% 19.200
KB (B =ALIR B F )| ABR(FFH% [ JLz001 [ 218 26,600 45% 25,300, :22,900, H:19.500
JL2005 | 218 26600 | 45% | A:22.900, H:20.000
JL2009 | 218 11500 | 76% 13,000
JL2019 | 218 20900 | 57% 20,000
ALAR (3 F %) | JL2000 | 218 18,600 62% 17.400
JL2006 | 218 17.700 | 64% 20.400
JL2010 | 218 24,100 | 51% [%k:23,400, B:27.100
JL2016 | 218 24100 | 51% 7K:23.400, B:27.100
KR (BIEE) =#LIR (3 F k)| ABR (BS#E) % | JL2so1 [ 21 19,400 60% 16.500
JL2503 | 21 10700 | 78% :13.200
JL2505 | 21 9,700 80% 13,000
ALIE (Fr Fa%) 5[ JLos02 [ 21 9700 80% :10.100
JL2504 | 21 10400 | 79%
JL2506 | 21 24100 | 51% |JK:23.400, H:27.100
KR (B =48 (BE) | KBR(FFHH | JL2o81 | 21 24,500 40% | A:24,300, H:24.200
JL2087 |21 10800 | 74%
FR#B(ARER) 5 | JL2084 | 21 10.800 74%
JL2088 | 21 24300 | 40% |H:25.500
BE=ILIR TR EER JL3513 | 21 20,900 65% 22,700
JL3515 | 21 18.900 | 68% :19.900
ALIR (B FaR) %[ JL3s10 | 21 18,900 68% 19.900
JL3si2 | 21 20900 | 65% |H:22.700
RECHE)=Xi#H3| HRCRE)E | _JLse5 | 21 16.600 66% | :14,300
JL567 | 21 17500 | 64% |A:15.200
JL569 | 21 18100 | 63% |A:15.600. H:18.300
ESTIES JL562 | 21 18100 | 63% |A:16.100. H:18.200
JL564 | 21 17300 | 64% |A:15.500, H:17.400
JL566 | 21 14000 | 71% |A:12.700. H:16.500
R CRE) =R RRCPE) % [ _Js51 | 21 14,600 69% |A:12.600. H:15.700
JL553 | 21 17.700 | 62% |A:14.600. H:17.400
JL555 | 21 17100 | 63% |A:15.200. H:17.400
JL557 | 21 17500 | 62% |A:15.800. H:17.400
JENTES JL552 | 21 16.500 65% | A:14,500, H:15.100
JL554 | 21 15.900 | 66% |A:14.000. H:16.900
JL556 | 21 15600 | 67% |A:14.100, H:17.400
JL558 | 21 14700 | 68% |A:13.200. H:16.500
TR CRE) =#IE FRCHE) F [_JL541 4,900 68% |A:12,700, H:15,000
JL543 900 | 52% |A:19.100
JL545 700 | 66% | A:13,200. H:16.900
TS JL540 400 | 64% | A:13,600. H:14.200
JL542 500 | 64% 400
JL544 300 | 65% |A:13.700. H:18.800




MEEZIS21 1 EER(12A1~58BFED) JAL

EW#EMAE ;. 2019/08/27 ~

12/15
=40} B2 HEMIE
F6 @ B0 =
BAME | T | #5% "
RECAB) =/ HEREE)F [ _JL573 .900 69% | A:12.400
JL575 900 | 67% |A:14.800. H:15.600
JL577 900 | 67% |A:14.800. H:15.700
JL579 100 | 69% |A:13.400. H:17.000
HILFE JL570 .300 66% |A:14.000, H:15.500
JL572 100 | 69% |A:13,900. H:16.100
JL574 100 | 69% |A:13.900. H:16.100
JL576 700 | _70% | H:16.700
R CRIE) =EE R (FE)F [_JL585 .000 60% [A:13.900, H:16.000
JL587 000 | 57% |A:13,300. H:17.000
JL589 .700 3 :19.900
EER JL584 ,000 7% [ A:15,200. H:15.000
JL586 500 1 :17.500
JL588 7700 | 53% |H:20.900
R (FE)=# R CAE)$ |_JL1a1 600 | 60%
JL143 600 | 57% |H:14.900
JL145 600 | 60% |H:16.300
JL147 900 | 59% |H:17.300
JL149 600 | 57% |HB:17.300
JL151 600 | 60% |H:17.300
HHR JL140 .600 60%
JL142 900 | 59% |H:16,300
JL144 600 | 60% |H:16.300
JL146 600 | 57% |H:17.300
JL148 600 | 57% |HB:17.300
JL150 600 | 60%
HR(F@)== R CAE) F |_JL155 000 | 55%
JL157 000 | 55%
JL159 .000 | 55%
=R% JL154 000 | 55%
JL156 .000 | 55%
JL158 000 | 55%
HR (FE) =@ R CAE)$ |_JLi61 9.700 68%
JL163 8600 | 38% |A.19,000. H:11.400
JL165 7400 | _42% |A:14.600. H:11.400
JL167 6500 | 45% |H:11.400
E=ES JL162 8,500 38% :11.400
JL164 4600 | 51% [H:11.400
JL166 7300 | _42% |B:11.400
JL168 9.700 68%
EAC:DETA BERCRE)$ |_JL175 9.600 4
JL179 11.100 7%
(%3 JL174 11.100 7
JLI78 B 11.100 7%
R CRE) =/ML HRCHE)H [ JL183 18 9.700 4% :9.800
JL185 Iz 13,200 1% |7K:13.600, H:9.800
JL187 18 9.700 4 :10.300
JL189 Iz 9.700 4% | H:9.800
JL191 18 9.700 4 800
JL193 18 10200 | 62% 800
INRFE JL182 18 10200 | 62% 800
JL184 Iz 9.700 64%
JL186 18 10200 | 62% |H:9.800
JL188 18 10200 | 62% |H:10.300
JL190 18 12500 | 54% 2.700. H:9.800
JL192 Iz 9.700 64% 800
R CRE)=FEW HERCAE) # | _JL231 18 12.700 65% .800
JL233 18 12700 | 65% 800
JL237 18 13.900 | 62% 100, :15.300. H:13.800
JL239 Iz 15400 | 57% 800
JL241 18 15700 | 57% 800
[EIES JL232 1H 13300 | 63% 700, H:13.800
JL234 18 15600 | 57% 800
JL236 18 12700 | 65% 800
JL240 18 15600 | 57% 800
JL242 Iz 15700 | 57% .
RRECAB)=LES FR(RE) % [ _JL253 18 13.000 65% |A:13.600, H:14.100
JL255 18 17.000 | 54% |A:16.400. H:14.100
JL257 18 19500 | 47% |H:14.100
JL259 Iz 17.900 | 52% |HA:14.100
JL261 15 13.900 | 62% |H:16.200. H:14.200
JL263 1H 13300 | 64% 5600, H:14.100
J1265 | 21H 17200 | 54% 14,100
JL267 | 218 17300 | 53% |A:17.800. H:14.100
3ES JL252 [ 218 14,100 62%
JL254 | 218 17300 | 53% 14100
JL256 | 21H 13900 | 62% 14,200
JL258 | 218 13900 | 62% 14.200
JI260 | 21H 13300 | 64% 14,100
JL262 | 218 16500 | 55% 14100
Ji264 | 21H 18,400 | 50% 14,100
JL266 | 218 18400 | 50% 14100
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 72% 11,100
JL203 | 218 12700 | 69% 13.300
Ji295 | 21H 13,100 | 68% 15,300
JL207 | 218 13100 | 68% 15.300
WwOs#% | Jleso | 218 13,600 67% 12,100
JL202 | 218 13600 | 67% 12100
Ji204 | 21H 13,100 | 68% 15,300
JL206 | 218 11,600 | 72% 15.300
RRCAB)=HE HRCAE)H | J277 | 218 18,400 47% | 4:18,700, B:17.700
JL279 | 218 21.200 | _39% [H:19.500
Ji283 | 21H 16900 | 51% |A:17,600. H:19.400
JL285 | 218 16900 | 51% |A:17.100, H:19.400
Ji287 | 21H 21,300 | 38% 23,400
HER JL276 | 218 13400 | 61% |H:14.500
Ji278 | 21H 20300 | 41% 18,600
JL280 | 218 16900 | 51% 20,800
Ji284 | 21H 21800 | 37% 23,600
JI286 | 21H 20600 | 40% [/K:19.900, H:21.200
HECRB) =8 HRCRE)E | _J453 | 21 17.700 50% |7:18,500, H:15.200
JL455 | 21 17.700 | 50% |A:18.500. H:15.200
JLa57 | 21 15200 | 57%
JLase | 21 15200 | 57%
JLa61 | 21 16,300 | 54% 15,600
JL463 | 21 16.800 | 53% |H:15.600
JL465 | 21 16,800 | 53% 15,600
[ JLas2 | 21 15200 | 57% |A:15.900. H:15.600
JLass | 21 16,100 | 55% 15,600
JLas6 | 21 16.100 | 55% |H:15.600
JLasg | 21 16,000 | 55% 15,600
JL460 | 21 16.000 | 55% |H:15.600
JLa62 | 21 16500 | 54% |A:16,800. H:15.600
JL464 | 21 16500 | 54% |A:16.800. H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 15,200 57% 16.000
JLa77 | 21 19.400 | 46% |H:16.600
JLa79 | 21 17500 | 51% 16,800
JLasl | 21 14800 | 58% |H:17.500
JL483 | 21 14800 | 58% 17,500
JL4ags | 21 16400 | 54% |A:16.200. H:20.100
JL4g7 | 21 20700 | 42%
BiR Juaza | 21 16.200 54% :15.200
JLaze | 21 17300 | 51% 15,200
JLazs | 21 14800 | 58% |H:18.800
JL480 | 21 14800 | 58% 18,800
JLag2 | 21 16100 | 55% |H:20.700
JLags | 21 20600 | 42% 21,700
JLage | 21 20600 | 42% |H:21.700




MEEZIS21 1 EER(12A1~58BFED)

EREAE 2019/08/27 ~
12/15
=40} B4 BEMTE
F6 @ B0 =
BAME | T | @5k "
RRECAB) =B R (HE)F | JLdol 7.600 53% [A:18.500, H:17.200
JL493 7600 | 53% |A:18,500, H:17.200
JL495 5000 | 60% |H:19.100
JL497 7.800 | 53% |H:20.100
JL499 900 | 47% | B:20.800
EES JL490 800 50% :16.300
JL492 800 | 53%
JL494 000 | 60% |H:17.800
JL496 700 | 50% | H:20.700
JL498 20500 | 45% |H:22,000
R (AE)=# HRCHE) % [ _JL4s1 16500 | 57% 17.200
JL433 20000 | 48% |4:20,900. H:18,000
JL435 18600 | 51%
JL437 16,000 | 58% |H:19.800
JL439 19300 | 50% |H:23.700
JL443 20900 | 45% |H:23.700
[ATES JL430 20400 | 47% |H:16.500
JL432 20400 | 47% |H:16.500
JL434 16700 | 56% |H:20.100
JL436 16700 | 56% |H:20.900
JL438 20400 | 47% |H:23.300
JL440 9200 | 50% |H:22.600
HR CHE) =AM HRCHE) % [ JL37i 4100 | 68% |H:11.500
JL373 9600 | 55% |H:17.600
JL375 8600 | 57 :19.100
JL377 20,100 4% :22.100
JL379 20.100 4 .100
e s JL370 800 1% 600
JL372 600 | 55% 600
JL374 800 | 57% 600
JL376 800 | 57 100
JL378 600 | 62% 600
RECAB)=K% FR(HE) % |_JL661 .600 44% _[7:20.200
JL663 600 | 42% |A:20.700. H:25.00
JL665 600 | 42% | A:20.700. H:25.00
JL667 600 | 42% | F:25.000. :20.300, H:25,900
JL669 25000 | 41% | H:25.400. £:19.900. H:25.900
JL671 25000 | 41% | H:25.400, A:19.400. H:25.300
EX S JL662 7.400 59%
JL664 500 | 54% 300
JL668 100 | 55% | X:19.900. 7K:19.400, 7:19.000. H:20.300
JL670 100 | 55% | X:19.900. 7K:19.400, A:19,000. H:20.300
JL672 300 | 50% 0
JL674 B 20900 | 51%
RRCRE) =Rk FR(FE) % [ JL605 18 .600 49%
JL607 1H 600 | 49%
JL609 18 600 | 49% K:19.900
JL611 1H 600 | 49%
JL613 16 600 | 49% B:25.800
JL615 1H 600 | 49% B:25.800
RS JL606 18 19.400 58% H:19.900
JL608 1H 18,600 | 60% 0
JL610 18 19.400 | 58% H:20.400
JL612 1H 20900 | 55%
JL614 18 20900 | 55%
JL616 1H 800 | 59% .900. H:20.800
R CRE)=f R (RE) % [_JL623 18 .600 46% | :19.400
JL625 Iz 600 | 46% |:19.000
JL627 16 600 | 46% | H:24.300. A:19.00
JL629 1H 600 | 46% | H:24.600. A:21.50
JL631 16 600 | 46% | H:24.600. A:21.50
JL633 Iz 600 | 46% |A:21.500. H:25.00
JL637 18 17700 | _59% |H:19.500
JL639 1H 24,600 | 44% |X:23.600, :20400. H:25.900
BAR JL622 18 19.500 55% :19.400
JL624 1H 19500 | 55% |7K:20.400. H:21.500
JL626 18 17400 | 60% |7KA:16.800. H:17.200
JL628 Iz 16.100 | 63% |H:17.600
JL630 18 20000 | 5.
JL632 Iz 20000 | 54% |H:21.400
JL634 1H 20000 | 5. H:21.400
JL638 fI= 15300 | 65% |H:17.900
HECRB)=EH HRCAE)H | Jes7 | 218 23,600 46% | A:19.400
JL689 | 218 23600 | 46% [7:20.000
JL6ot | 218 23600 | 46% |A:21,500, H:24.60
JL693 | 218 23600 | 46% |A:21.000. A:2540
JL695 | 218 23600 | 46% 24,600, :21,000, H:25,900
JL697 | 218 23600 | 46% |7:20.400. H:25.90
BT JLess | 21H 18,600 57% |7k H:19.400
JL6%0 | 218 19200 | 56% |/KH:19.400
JL692 | 21H 18,800 | 57% [/KH:19,900
JL6%4 | 218 18200 | 58% |/K:19.400. /:18.800. H:20.800
JL696 | 21H 20700 | 53% |H:22,000
JL698 | 218 19.600 | 55% |H:22.000
RR(PE)-ERE HR(CAE)F [ Je4l | 218 26,400 43% _|7K:28,000, A:19.40(
JL643 | 218 27100 | 41% |7K:28.000, %:19.90
JL645 | 218 28,100 | 39% |7K:29,000, A:20.90
JL647 | 218 25500 :26.700, :17.700
JL649 | 218 27,700 . K:22,80
JLes1 | 218 27000 | 1% |J . £:22.60
JL653 | 218 26,100 | 43% |/ 19,800, H:26.200
JL655 | 218 27000 | 41% |7K:28.800, A:21.80
ERER JL640 [ 218 18,200 61% |7k H:19.400
Jie42 | 218 18.600 | 60%
JL64d | 218 19600 | 57% [/KH:20,400
JL646 | 218 19300 | 58" :20.500, H:21.000
JL648 | 21H 18,300 | 60% |:18,200. H:19.400
JL650 | 218 20700 | 55% 22,000
JL652 | 21H 20800 | 55% 22,700
JL654 | 218 20800 | 55% |H:22.700
R (RRE)=KBR () | FR(RE) S | JL3005 | 21 15,800 43% 6,400, £:17,000
JL3009 |21 13800 | 50% |H:14.100
KBR (5 % | JL3004 | 21 13.800 50% X:14,100
JL3006 | 21 19700 | 29% K:19.300
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 13,200 67% 14,100, A:13,700, F:13,600
ALOF (B F ) %[ J13040 [ 21 13200 | 67% |H:13.600. £:
G A (AE) S | JL3057 | 21 14,400 67% 14,800, 1
e JL3052 | 21 14400 | 67% |H:14.800.
KR (73) =B 88 ABRURF S | JL2123 | 21 26,000 44% | A:27.400,
BT JLziza | 21 26700 | 42% |A:28.400, A
KR (B =FF& KR (5 % [ L2151 [ 21 10,900 75%
JL2153 | 21 13.900 | 68%
JL2157 | 21 13.900 | 68%
BHER JL2152 | 21 13.900 68%
JL2154 | 21 13.900 | 68%
JL2158 | 21 10900 | 75%
KR (75 =Rk KBR(RFD % | JL2171 | 21 22,900 42% | :19,800, H:25.200
JL2173 | 21 21300 | 46% |A:18.200, A:23.400
JL2179 | 21 19700 | 50% 24,300
PES JL2172 | 21 19700 | 50% |H:23.100
JL2174 | 21 18200 | 54% 24,300
JL2176 | 21 18200 | 54% |H:24.300

JAL
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KR () =ME KR () % [ JL2201 23700 | 36% |A:16.200. H:23.900
JL2203 22600 | 39% |A:16.600, H:22.900
JL2205 20.900 | 44% |A:16.300
JL2207 21600 | 42% |A:18,800. H:21.800
JL2209 19.900 | 46% :18.800, H:21.100
JL2211 20300 | 45% :22.200
JL2213 20.300 | 45% :22.200
JL2215 000 | 49% | H:20.000
[Tz JL2200 000 | 57%
JL2202 800 | 49% :19,000
JL2204 200 | 48% :19.700
JL2206 500 | 55% :17.000
JL2208 500 | 55% :17.000
JL2210 800 | 52% :18,000
JL2212 8600 | 50% |H:22.300
JL2214 7400 | 53% :21,700
KR () =518 RIR (5 | JL2241 7.900 49% | :16.300
JL2243 20400 | 42% |A:17.200
JL2247 7.900 | _49% |A:16.700
JL2251 700 | 47% :20,200
HRR JL2240 .000 46% :17.900
JL2244 400 | 53% 400
JL2246 900 | 52% .900
JL2250 900 | 52% 900
RBR (5 =#2L KB (B % [ JL23oi .000 49%
JL2305 200 39% | A:11.600
JL2309 000 | 49% |A:10.800
EATIES JL2302 .000 49%
JL2306 000 | 49%
JL2310 200 | 39%
KR (=K% RIR (5 % | JL2361 .200 29% | AK:14.300, H:18.900
JL2365 900 | 46% .900
JL2367 400 | 40% .900
EE JL2362 ,900 46% .900
JL2364 300 | 4% :17.300
JL2366 400 | 36% :17.600
KR (5 =Rl RIR (5 | JL2371 .100 49% | A:13.600, H:15.800
JL2373 100 | 49% |A:13,600. H:15.800
JL2375 500 | 57% |A:11.400. H:13.200
JL2377 100 | 58% :14.300
AR JL2372 900 | 59% .800
JL2374 900 | 59% 800
JL2376 400 | 64% 600
JL2378 B 500 | 57% |H:13.900
RIR (5D =R KB () % | JL2383 18 14.600 49% [ A:13.100
JL2385 | 218 14600 | 49%
JL2389 | 218 14300 | 50% |H:14.600
AR JL2382 | 218 14600 | 49%
JL2386 | 218 13.600 | 53% |H:14.600
JL2392 | 218 14600 | 49%
KR (A =2 KB (7D % [ JL2431 18 16.600 42% | 4:16.100
JL2433 | 218 16.600 | 42% |A:16.100
JL2437 | 218 20000 | 31% |A:16.400
JL2441 1H 17200 | 40% .400
JL2443 | 218 16.600 % .400
EEES JL2430 | 218 16.600 % 400
JL2432 | 218 16.600 % .400
JL2434 | 218 16.400 3
JL2438 | 218 16.400 7.700
JL2a42 | 218 16.400 3 700
KR (P -EERE KB (7D % [ JL2401 18 14.800 54 .000
JL2403 | 218 15500 | 52% .200
JL2407 | 218 15500 | 52% 100
JL2409 | 218 14700 | 55% .200
JL2411 16 14700 | 55% .200
JL2415 | 218 14700 | 55% .200
JL2419 | 218 15500 | 52% 500
ERER JL2400 | 218 14200 | 56% 500
JL2402 | 218 14200 | 56% 500
JL2404 | 218 14200 | 56% 100
JL2406 | 218 14200 | 56% 100
JL2410 | 218 14200 | 56% 100
JL2a12 | 218 16,000 | 51% 17.800
JL2414 | 218 6000 | 51% 17.800
BEE (PED)=HLIE (TR 2 HE (PE) R JL3103 [ 218 20,900 53% 21,300
JL3105 | 218 6900 | 62% 17.900
JL3107 | 218 12,800 | 71% 14,500
JL3117 | 218 0800 | 76% 13.400
ALIR (#Fa%) % JL3100 | 218 12,200 72% 14,100
JL3106 | 218 12600 | 72% |A:12.800. H:13.900
JL3tia | 218 21200 | 52% |A:21,700, H:25.100
JL3tig | 218 18.800 | 58% |H:19.400
AEEUMO=#E |AEEUNMOSE] J14333 ] 218 15,700 50% |A:15,200, H:17.300
iR JL433a | 218 4400 | 5% 16.400
AEEUMO=1EME | AEE MO S| JL4401 | 218 14,700 53% 12,900
JL4403 | 218 4900 | 52% 12.900
JL4405 | 218 14000 | 55% 12,900
JLaai3 | 218 4200 | 5% 13.900
JL4at5 | 218 14,000 | 55% 13,900
[EES JL4400 | 218 3200 | 57% 12.100
JL4402 | 218 15300 | 51% 12,700
JLas08 | 218 5400 | 50% 13.900
JLaat2 | 218 15400 | 50% 15,300
JLaaia | 218 4500 | 53% 15.000
AHEEUMO=IEA | AEEUMO | JL4341 | 218 14,100 60% 13,100
JL4345 | 218 3700 | 61% 12.300
JL4347 | 218 14300 | 59% |A:13,800. H:12.300
AR JLa3a2 | 218 4200 | 60% 12.300
JL4346 | 218 13400 | 62% 12,300
JLa3as | 218 3800 | 61% :12.800
HIRGEFR)=-FHF | RGEHTR) [ JL2803 [ 21 15,200 42% 16.800
JL2805 | 21 5200 | 42% :16.800
JL2809 | 21 16,200 | 38% 17.800
BHE JL2804 | 21 7500 | 33% |A:15.200. H:19.300
JL2806 | 21 16,400 | 38% |A:15.200. H:18,000
JL2810 | 21 7400 | 34% |A:16.200. H:19.000
HIRGETFR)-HE | HRGETFR) R JL2821 [ 21 16.900 44% 18,500
JL2827 | 21 5900 | 47% :17.500
PEES JL2822 | 21 17100 | 43% |A.14.900. H:18.900
JL2828 | 21 7.600 | 42% |A:16.900. H:19.300
IR (FFR) =58 EE] JL2871 | 21 22,200 38% |A:20,100, H:24.400
JL2877 | 21 22500 | 37% :18.600, H:24.800
FLIR (BT %[ JL2s72 | 21 19,600 45% 21,500
JL2876 | 21 8600 | 48% |H:20.600
HIRFFR)=LE e JL2901 | 21 10.200 70% 10.400
JL2903 | 21 5300 | 56% X:18.300. 7K:19.000, H:16.300
JL2905 | 21 14600 | 58% 14,900
JL2907 |21 4200 | 59% :15.400
JL2009 | 21 13200 | 62% 14,400
ALUE (Fr Fa%) 5[ JL2o00 [ 21 9.100 74% :9.300
JL2002 | 21 10200 | 70% 10,400
JL2904 | 21 0200 | 70% :10.400
JL2906 | 21 15600 | 55% |A:14.300. H:15.500
JL2910 | 21 5600 | 55% |A:14.300. H:15.500
HIRFFR)=ES CE JL3403 [ 21 19,800 63% |A:19,000, H:20,500
ALOE (i F38) [ J13406 [ 21 9.000 | 65% :19.900, H:22.500
BE=LE EHEES JL3531 | 21 26,300 49% | A:23300
JL3537 | 21 26300 | 49% [A:23.300
es JL3530 23,300 54 23,900
JL3538
BE=H8 EEIES JL3525
Eets JL3524
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BE=Ek [EEES JL3621 .800 :9.300
JL3625 800 :9.300

JL3629 800 :9.300

JL3631 800 :9.300

JL3633 800 :9.300

JL3639 800 :9.300

JL3641 800 :9.300

BB JL3620 800 :9,300

JL3622 800 :9.300

JL3626 800 :9.300

JL3630 800 :9.300

JL3632 800 :9.300

JL3634 800 :9.300

JL3642 800 :9.300
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F6 @xm B0 =
BAME | 7% | #six "
RRECRE) =R G Fimk)| RRECRB)H |_JL593 21,800 45% | A:18.100, 400
JL501 21800 | 45% |A:18.100, £:19.400
JL503 21,800 | 45% |4
JL505 26000 | 35% |4 27,700, H:25.000
JL507 26000 | 35% 28,600, H:25.000
JL509 26000 | 35% 28,600, H:25.000
JL511 25000 | 37% 28,600
JL513 4600 | 38%
JL515 2.000 | 45%
JL517 1.800 | 45%
JL519 1.800 | 45%
JL521 20800 | 48%
JL523 20.800 | 48%
JL525 20600 | 48% :20,900
JL527 20.700 | 48% :21.300
JL529 20600 | 48% 100, H:20,900
JL531 20.600 | 48% .700._B:20.900
FLUR (B F %) % |_JL500 20.600 48% .400, H:17.500
JL502 21,900 | 45% 700
JL594 21,900 | 45% 700
JL504 21,300 | 47% 3:19.800
JL506 20400 | 49%
JL508 17500 | 56% |£:20.100. £:20400. H:20.300
JL510 17500 | 56% |%:20.100, £:19.900. H:21,300
JL512 18700 | 53%
JL514 20300 | 49%
JL516 20.900 | 48% :
JL518 21100 | 471% |&
JL520 20,100 | 47% |&
JL522 21100 | 471% |®
JL524 20900 | 48% |&
JL526 9600 | 5% [&
JL528 9600 | 51% |2
JL530 7500 | 56% |% H:20.900
HR CRE) =18 FR(FE)F [_JL303 7,600 7% [7K:26.000, £+ H:26.800
JL305 7.600 7% | A:26.000. 2+ H:27.800
JL307 28,600 :27.000. £+ 5:28.800
JL309 28,600 % | %t H:28.800
JL311 28.600 %1 0:28.800
JL313 28,600 E: :28.800
JL315 4.800 3% | £:22.500, £ +:28.800. H:24.900
JL317 7.600 7% | A:27.700. £ +:27.800
JL319 7.600 7% | 1:27.800
JL321 B 4,900 3% | A:18.800, % +:27.800
JL323 18 25,900 1% | A:20.500, £ +:27.800
JL325 Iz 7,600 7% | %1 :27.800
JL327 18 2100 | 49% |A:20.900. % +:27.800. H:24.200
JL329 Iz 7.600 | 37% 7.800
JL331 16 7.600 | 37% 7.800
JL333 Iz 26700 | 39% | 1:27.800, H:27.600
JL335 16 7.600 | 37% 7.800
[ JL300 1H 7.800 | 36% 1,000, :21.500
JL302 16 2400 | 49% +H:27.800
JL304 1H 2400 | 49% + A:27.800
JL306 18 7.800 | 36% | KIKA:26.200. 2:27.60
JL308 Iz 7.800 | 36% | JXIKA:25.700. £:27.40
JL310 18 7.800 | 36% | JKKA:22.000. £:22.40
JL312 Iz 7.800 | 36% | JKIKA: 2.30
JL314 18 7.800 | 36% | 00 %:22.300
JL316 1H 7.800 | 36% | 00. %:22.900
JL318 18 7.800 | 36% 00, £:27.100
JL320 1H 4400 | 44% :27.100, + H:28.800
JL322 18 26500 | 39% #:28.600. T H:28.800
JL324 1H 23800 | 45 28,800
JL326 18 23800 | 45% H:28.800
JL328 18 27,000 | 38% :28.600. T H:28.800
JL330 18 25100 | 42% H:27.800
JL332 1H 500 | 51% 27,800
R CRE) =4 (B8 | EERCRE)H |_JL01 18 .700 53% 21.100, H:20.800
JL903 1H 200 | 52% 23,300, £:20.800
JL905 1H 300 | 52% . H:20.800
JL907 1H 300 | 52% . H:20.800
JL909 | 218 21,900 | 54%
JL913 | 218 21900 | 54%
JLot5 | 218 12,400 | 74%
JLo17 | 218 2400 | 74%
JLo19 | 218 15100 | 69% |#H:14,600
JL921 | 218 4600 | 70% |£:15.100. H:15.000
JL923 | 218 16,800 | 65% |+ H:18,300
JL925 | 218 %:25.400, T H:18.300
4R (FRER) F | _JLooo | 218 £:17,800, H:15.300
JL902 | 218 +:17.300. B:15.800
JL904 | 218 6.300
JL906 | 218 . :17.300
JL908 | 218 13700 | 72% |t H:14,900
JL910 | 218 9400 | 60% |£:19.700. H:21.90
Jot2 | 218 19400 | 60% 19,700, B:21.90
JL914 | 218 19400 | 60% |£:19.700. H:21.90
JL916 | 218 21,200 | 56% 21,600, £:19,400, B:22,700
Jio1s | 218 21200 | 56% |£:21.600, +:19.400. H:22.700
JL920 | 218 19,300 | 60% |+:18,700. H:21.90
JL922 | 218 7400 | 64% |H:19.200
KB (FFH=#LIR (i FiR)| ABR(PEFHF | JL2001 | 218 26,600 45% | F:25.300, A:22.900, +:27,100, H:19,500
JL2005 | 21H 26600 | 45% |A:22.900, % +:25.800. H:20.000
JL2009 | 218 11,500 | 76% |+ H:13,000
JL2019 | 218 20900 | 57% |%1:22.900. H:20.000
ALOR (3 F#%) % | _JL2000 | 218 18,600 62% |%+:22,600, H:17.400
JL2006 | 218 7700 | 64% |£:21.100. +:19.400. H:20.400
JL2010 | 218 24,100 | 51% |%k:23,400, £:22,600. H:27.100
JL2016 | 218 24100 | 51% [“k:23.400, +:22.600. H:27.100
KR (BAZE) =#LIR (3 F#%)| KPR (BAFE) e | JL2501 | 21 19,400 60% [£:21.700, £:21,800, H:16.500
JL2503 | 21 0700 | 78% |+H:13.200
JL2505 | 21 9,700 80% | +:11,200, H:13.200
ALOR (3 F %) 56| L2502 | 21 9.700 80% |#+H:10.100
JL2504 | 21 10400 | 79%
JL2506 | 21 24100 | 51% [JK:23.400, £:22.600. H:27.100
KR (B =48 (BE) | KBR(FFHH | JL2o81 | 21 24,500 40% | :24,300, £ +:25000, H:24.200
JL2087 |21 0800 | 74%
FR#B(ARER) 5 | JL2084 | 21 10.800 74%
JL2088 | 21 24300 | 40%
BE=ILIR TR EEEES JL3513 | 21 20,900 65%
JL3515 | 21 8900 | 68%
ALIR (B FaR) %[ JL3s10 | 21 18,900 68%
JL3si2 | 21 20900 | 65%
RECHE)=Xi#H3| HRCRE)E | _JLse5 | 21 16.600 66%
JL567 | 21 7500 | 64%
JL569 | 21 18100 | 63%
ESTIES JL562 | 21 8200 | 62%
JL564 | 21 16,300 | 66%
JL566 | 21 4000 | 71% 4300, H:16.000
R CRE) =R HRCRE) S | _JLss1 | 21 14,600 69% 15,700
JL553 | 21 6.900 | 64% 8.300, H:17.900
JL555 | 21 17100 | 63% 5,800, H:17.400
JL557 | 21 7500 | 62% 6.400, H:17.400
JENTES JL552 | 21 16.500 65% :15,100
JL554 | 21 15100 | 68% : 4,800, H:16.900
JL556 | 21 14600 | 69% 5,600, 7:13.300, £:13,900, £:14.200. H:17.400
JL558 | 21 3700 | 71% 114700, A:12.400. %:13.000, +:13.300. H:16.500
TR CRE) =#IE HRCPE)H | _JL541 4,900 68% 12,700, £:16.200, B:15.000
JL543 900 | 52% 19.100
JL545 700 | 66% :13.200, %:13.400. £:14,500. H:16.900
ElEES JL540 400 | 64% 3.600, £:14.000. £:15.700, H:14.200
JL542 500 | 64% 17.900, H:17.400
JL544 300 [ 65% 113700, £:13.600. £:15.300. H:18.800
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EEEEETN R CRE) % | JL573 900 | 69% 7.300
JL575 .900 67% 5,800, H:15.600
JL577 900 | 67% :15.700
JL579 .100 69% 5,500, H:17.000
HILFE JL570 .300 66% .200, +:18.700, H:15.500
JL572 .100 69% +:15.200, H:16.100
JL574 100 | 69% 15.200, H:16.100
JL576 ,700 70% 16,700
R CRIE) =EE R (FE)F [_JL585 .000 60% 18.000, H:16.000
JL587 000 57 600, +:17.400, H:17.000
JL589 .700 3 900
HEEFR JL584 000 7 100, +:15.900, H:15.000
JL586 500 1 . 800, B:17.500
JL588 1.700 53% | H:20.900
R (FE)=# R CAE)$ |_JL1a1 600 | 60%
JL143 .600 57%
JL145 600 | 60%
JL147 .900 59%
JL149 600 | 57%
JL151 .600 60%
HHR JL140 .600 60%
JL142 .900 59%
JL144 600 | 60%
JL146 .600 57%
JL148 600 | 57%
JL150 .600 60%
HR(F@)== R CAE) F |_JL155 000 | 55%
JL157 000 55%
JL159 .000
ZiR% JL154 000
JL156 .000
JL158 000
HRCRE)=RE HERCRE) % |_JLi61 9.700
JL163 8,600 11.400
JL165 7.400 11.400
JL167 6.500 :11,400
E=ES JL162 8,500 :11.400
JL164 4.600 51% |+ H:11.400
JL166 7300 | 42% [£:16.900. £ H:11.400
JL168 9.700 68%
EAC:DETA BERCRE)$ |_JL175 9.600 4
JL179 11,100 7%
(%3 JL174 11.100 7
JLI78 B 11.100 7%
R CRE) =/ML R (RE)F [ JLis3 18 9.700 4%
JL185 Iz 13,200 1% _|7K:13.600, £ H:10.300
JL187 18 9.700 4 $:12.200. £ B:10.200
JL189 1H 9,700 4% |£:12.200. £ H:10.300
JL191 18 9.700 4% |+ H:10.300
JL193 18 10200 | 62% |%:12.800
INRFE JL182 18 10200 | 62% [+ H:10.300
JL184 Iz 9.700 64%
JL186 18 10200 | 62% |EH:10.300
JL188 Iz 10200 | 62% [+ H:10.300
JL190 18 12500 | 54% |7K:12.700. £ H:10.300
JL192 18 9,700 64% |%:12.600, T H:10.300
R CRE)=FEW HERCAE) # | _JL231 18 12.700 65% |+ H:13.800
JL233 Iz 12700 | 65% [+ H:13.800
JL237 18 13.900 | 62% |A:14.100. A:15.300, £:15.700. £ H:13.800
JL239 Iz 15400 | 57% [+ H:13.800
JL241 18 15700 | 57% |+ H:13.800
[EIES JL232 1H 13300 | 63% |A:12.700. £ H:13.800
JL234 18 15600 | 57% |#:14.500. £ H:13.800
JL236 18 12700 | 65% |£:15.700. + H:13.800
JL240 18 15600 | 57% |+ H:13.800
JL242 Iz 15700 | 57% [+ H:13.800
RRECAB)=LES FR(RE) % [ _JL253 18 13.000 65% |A%:13.600. £ H:14.100
JL255 Iz 17.000 | 54% |A:16.400. %:15.800, £ H:14.100
JL257 18 19500 | 47% [tH:14.100
JL259 Iz 17900 | 52% [+ H:14.100
JL261 15 13.900 | 62% |H%£:16.200 £ H:14.200
JL263 1H 3300 | 64% 116.300, £ H:14.100
JL265 218 17,200 54% 3:14,100
JL267 | 218 7300 | 53% 118,900, £ H:14.100
3ES JL252 [ 218 14,100 62%
JI254 | 218 7300 | 53%
JL256 218 13,900 62% 14,200
JI258 | 218 3900 | 62% 14.200
JL260 218 13,300 64% 0
JI262 | 218 6500 | 55% 0
JL264 218 18,400 50% 0
JL266 | 218 18400 | 50% 0
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 72%
JL203 | 218 12700 | 69% 100
JL295 218 13,100 68% . H:15,300
JL207 | 218 13100 | 68% . H:15.300
WwOs#% | Jleso | 218 13,600 67%
JL202 | 218 3600 | 67% |%:14.100, H:12.10
JL294 218 13,100 68% 14,300, +:13,300, H:15,300
JL206 | 218 1.600 | 72% |%:15.600, +:11.100. H:15.300
RRCAB)=HE HRCAE)H | J277 | 218 18,400 47% 8,700, 19,600, £:20,800, H:17,700
JL279 | 218 21.200 | 39% |%F:21.800. H:19.500
JL283 218 16,900 51% +:17.600, H:19.400
JL285 | 218 16.900 | 51% 17100, +:17.600. H:19.400
JL287 218 21,300 38% & H:23,400, 1:18,200
HER JL276 | 21H 13400 | 61% |+ H:14.500
JL278 218 20,300 41% &1:22,500, H:18,600
JL280 | 218 6900 | 51% 19.900, +:20.600. H:20.800
JL284 218 21,800 37% £:23,200, :19,900, H:23,600
JI286 | 21H 20600 | 40% & H:21.200. £:19.000
RRCAB)=-EE HRCRE)E | _J453 | 21 17.700 50% 15,600, H:15.200
JL455 | 21 7700 | 50% . 15600, H:15.200
JL457 21 15,200 57% |5%:17.300, +:15600
JLase | 21 5200 | 57% |£:17.300. £:15.600
JL461 21 16,300 54% |4 5,400, H:15,600
JL463 | 21 6.800 | 53% |£:17.700. 1
JL465 21 16,800 53% |5:17,700, £ H:15,600
[EEES Juasg |21 5,200 57%
JL454 21 16,100 55%
JLas6 | 21 16.100 | 55%
JL458 21 16,000 55% :15,600
JL460 | 21 6.000 | 55% 15,600
JL462 21 16,500 54% 15,200, H:15.600
JL464 | 21 6500 | 54% 15.200, H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 15,200 57%
JLa77 | 21 9400 | 6% |4
JL479 21 17,500 51%
JLasl | 21 4800 | 58%
JL483 21 14,800 58% .
JL4ags | 21 6.400 | 54% 8,000, £:16.000. H:20.100
JL487 21 20,700 42% 216,000
S JLazs | 21 6200 | 54% 3:15.200
JL4T76 21 17,300 51% 3:15,20
JLazs | 21 4800 | 58% :16.100, H:18.800
JL480 21 14,800 58% 216,100, H:18,800
JLag2 | 21 16100 | 55% 116,500, H:20.700
JL484 21 20,600 42% 17,000
JLage | 21 20600 | 42% 16.000
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12/6-12
=R B4 BEMTE
RRECAB) =B R (HE)F | JLdol 7.600 * 20700, H:17.200
JL493 7.600 20,700, H:17.200
JL495 5.000 E: :19.100
JL497 7.800 :20,100
JL499 .900
i JL490 800 +:19,
JL492 800 £:18.800, 1:19.300
JL494 000 +:18.800. H:17.800
JL496 700 22 :18.200, H:20.700
JL498 20,500 6300, H:22.000
R (AE)=# TR CRIE) % | _JL431 16,500 19.200
JL433 20,000 +:21,500, H:18.000
JL435 18.600
JL437 16.000 +:19.100. H:19.800
JL439 19.300 [£:22.000. +:19.700, H:23.700
JL443 20,900 [£H:23.700. £:19.200
[ATES JL430 20.400 :16.500
JL432 20,400 :16.500
JL434 16.700 £ £:18.600, H:20.100
JL436 16.700 :19.100, 118,000, H:20,900
JL438 20.400 [£:20.900. £:17.900, B:23.300
JL440 9,200 [£:20.900. £:17.200, B:22,600
HR CHE) =AM HRCHE) % [ JL37i 4,100 114600, +:13.800. B:11.500
JL373 9600 :17.600
JL375 8.600 :19.100
JL377 20,100 :20,700, :17.600. H:22.100
JL379 20.100 £:20.700, +:17.600. H:21.100
s JL370 ,800 1% [+:17.600, H:15.600
JL372 600 | 55% |H:16.600
JL374 800 | 57% |+:18.200,
JL376 800 | 57
JL378 600 | 62%
ER(CRE)=K5 HERCRE) % |_JL661 .600 44¢
JL663 600 | 42%
JL665 4600 | 42 125,
JL667 25000 | 41% | JJK:24.600, A:20, 121,300, H:25.900
JL669 25000 | 41% [H:25400. & 21,300, +:23.900, H:25.900
JL671 25000 | 41% |H:25.400, A:19.400. £:21,300, £:23.400. H:25300
EX S JL662 17.400 59% |+
JL664 19500 | 54% %
JL668 20300 | 52% [H .40, A:19.000. £:20.700
JL670 20300 | 52% 400, A:19.000. £:20,700
JL672 21,300 | 50% |& 100
JL674 B 20900 | 51% |% 100
RRCRE) =Rk FR(FE) % [ JL605 18 .600 49% |4
JL607 Iz 600 | 49% |/ 119,500, £:21.300. H:24.600
JL609 18 600 | 49% |4
JL611 1H 600 | 49% |4
JL613 18 600 | 49% |H:24. #£:21.300. H:25.800
JL615 1H 600 | 49% |A:24. :21,300, H:25.800
S JL606 18 19.400 | 58% |7K:20. £:20.000. H:19.900
JL608 1H 18600 | 60% |/K:18.800. % +:19.500, H:19.000
JL610 18 19.400 | 58% |A:18.200. :18.300. £:19.500, H:20.400
JL612 1H 20900 | 55% |+:18.800. H:21.90
JL614 18 20900 | 55% |7
JL616 1H 800 | 59% |k . £:18.300. H:20.800
R CRE)=f R (RE) % [_JL623 18 .600 46% |4 800
JL625 Iz 600 | 46% |4 f:24.200
JL627 18 600 | 46% |A: 19500, +:24.200
JL629 1H 600 | 46% |A: 18700, +:25.400
JL631 16 600 | 46% |A: . 18700, +:25.400
JL633 Iz 600 | 46% |k: 400+ H:25.000
JL637 18 17700 | 50% |2 .800. H:19.500
JL639 1H 24600 | 4% | 20,400, %:20.700, H:25.900
BAR JL622 18 19.500 55% [ :19.400
JL624 1H 19500 | 55% |7 :19.900, H:21.500
JL626 18 16.800 | 61% |k 17.300. H:17.200
JL628 1H 16.100
JL630 18 20,000
JL632 1H 20,000 . H:21.400
JL634 15 20,000 . H:21.400
JL638 1H 15.300
RRCAB) =2k HRCAE)H | Jes7 | 218 23,600 26,500
JL689 | 218 23,600 25,000
JL691 | 21H 23,600 H:24.600
JL693 | 218 23,600 19,700, H:25.400
JL695 | 218 23,600 19,700, H:25.900
JL697 | 218 23600 | 46% | 500, H:25.900
B3 JL688 | 218 18600 | 57% | 119,500, £:20.400
JL6%0 | 218 19200 | 56% | :20.400
JL692 | 21H 18,800 | 57% | :19,100
JL694 | 218 18200 | 58% |ik: 800, %:19.500, £:19.100. H:20.800
JL696 | 21H 20700 | 53% |%: 18,300, B:22,000
JL698 | 218 19600 | 55% | 22,000
RR(PE)-ERE HRCAE)H | _Jedr | 218 26,400 17.700
JL643 | 218 27.100 21.300
JL645 | 218 28,100 22,300, +:28,200
JL647 | 218 25500 26.700. :17.700, £:19.200
JL649 | 218 27,700 . :22,800, £:19,900
JLes1 | 218 27,000 ok: . K:22.600. £:20,800
JL653 | 21H 26,100 7 £:19.200, %:21,200, H:26.200
JL655 | 218 27,000 ok: K:21.000. £:21.100
ERER JL640 | 21H 18,200 7 %:18,100, £:19.700
JLe42 | 218 18,600 | 60% |£:19.500. +:20.100
Ji64d | 218 19600 | 57% |:X:20,200. 7k H:20,400. %:20,900. £:21.100
JL646 | 218 19300 | 58% |k :21.000, +:19.400
JL648 | 218 18,300 | 60% . £:17,900, H:19.400
JL650 | 218 20700 | 55% . H:22.000
JL652 | 21H 20800 | 55% E . H:22,700
JL654 | 21H 20800 | 55% £:19.500, H:22.700
R (RRE)=KBR () | FR(RE) S | JL3005 | 21 15,800 43% 17,000, £:15.900
JL3009 |21 13.800 | 50%
KBR (5 % | JL3004 | 21 13.800 50%
JL3006 | 21 19300 | 30% :20.200, £:19.700
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 13,600 66%
ALOF (B F ) %[ J13040 [ 21 13200 | 67%
G A (AE) S | JL3057 | 21 14,400 67%
e JL3052 | 21 14400 | 67%
KR (73) =B 88 ABRURF S | JL2123 | 21 26,000 44% -
BT JLziza | 21 26700 | 42% |AT:28.400, A:
KR (B =FF& KR (5 % [ L2151 [ 21 10,900 75%
JL2153 | 21 13.900 | 68%
JL2157 | 21 13.900 | 68%
BHER JL2152 | 21 13.900 68%
JL2154 | 21 13.900 | 68%
JL2158 | 21 10900 | 75%
KR (75 =Rk KBR(RFD % | JL2171 | 21 22,900 42% | A:19,800, £:20.100, £ H:25.200
JL2173 | 21 21300 | 46% |A:18.200, £ A:
JL2179 | 21 19700 | 50% |%:22,100. 1
PES JL2172 | 21 19700 | 50% |£:21.000.
JL2174 | 21 18200 | 54% |%:22,100. 1
JL2176 | 21 18200 | 54% |£:22.100. £ H:24.300
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12/6-12
=40} B2 HEMIE
F6 @ B0 =
BAME | T | gk "
KR () =ME KR () F [ L2201 23700 | 36% |A:16.200. £:20.300, £ H:23.900
JL2203 22600 | 39% |A:16,600. £:20.500. F:22,800, H:22.900
JL2205 20.900 | 44% |A:
JL2207 21600 | 42% [A:
JL2209 19.900 | 46% £:20.100, H:21.100
JL2211 20300 | 45%
JL2213 20.300 | 45%
JL2215 000 | 49%
[Tz JL2200 000 | 57% |+
JL2202 800 | 49% |%:
JL2204 200 | 48% |&:
JL2206 500 | 554 |%:
JL2208 500 | 55% |&:
JL2210 800 | 52% .
JL2212 8600 | 50% |£:22.800.
JL2214 7400 | 53%
KR () =318 KB (B % [ JL2241 7.900 49%
JL2243 20400 | 42% [k
JL2247 7900 | 4% |A:
JL2251 700 | 47% |&
HRR JL2240 .000 46%
JL2244 400 | 53% |%:19,000. £:15.800, H:18,400
JL2246 900 | 52% |£:20.100. £:16.300, B:18.900
JL2250 900 | 52% |%:20,100. H:18.900
KRR (5 =#1l KB (B % [ JL23oi .000 49%
JL2305 200 39% | A#:11.600
JL2309 000 | 49% |A£:10.800
EATIES JL2302 .000 49%
JL2306 000 | 49%
JL2310 200 | 39% 1.800
KR (=K% KB (7D % [ JL236i .200 29% 6.000. + F:18.900
JL2365 900 | _46% :16.900
JL2367 400 | 40% .900
K% JL2362 ,900 46% ,900
JL2364 300 | 4% 300
JL2366 400 | 36% 600
KR (5 =Rl KR (5D % | _JL2371 .100 49% 15.800
JL2373 100 | 49% 15.800
JL2375 500 | 57% 400, 1
JL2377 100 | 58% 900,
RIEF JL2372 .900 59% 300,
JL2374 900 | 59% 300,
JL2376 400 | 64% 100,
JL2378 B 500 | 57% .700. B
RIR (5D =R KRR (D) % | JL2383 18 14.600 49% 50
JL2385 | 218 14600 | 49%
JL2389 | 21H 14300 | 50% |% 1 H:14.600
AR JL2382 | 218 14600 | 49%
JL2386 | 21H 13.600 | 53% |£:14.300. £ H:14.600
JL2392 | 218 14600 | 49%
KR (A =2 KB (7D % [ JL2431 18 16.600 42% | A£:16.100, +:17.400
JL2433 | 218 16.600 | 42% |A%:16.100. £:17.400
JL2437 | 218 20000 | 31% |A:16.400. 0
JL2441 1H 17200 | 40% |£::20,000. H:19.40
JL2443 | 21H 16.600 % | %:20.000, £:16.400. H:19.400
EEES JL2430 | 218 16.600 % | %:17.200, £:18.800. H:16.400
JL2432 | 21H 16.600 % 7.200. %:18.800. B:16.400
JL2434 | 218 16,400 3
JL2438 | 21H 16.400 8.100. B:17.700
JL2a42 | 218 16,400 3 8,100, H:17.700
KR (P -EERE RIR (5 % | _JL2401 18 14.800 54 3:18.000
JL2403 | 218 15500 | 52% :19.200
JL2407 | 218 15500 | 52%
JL2409 | 218 14700 | 55% .200
JL2411 18 14700 | 55% .200
JL2415 | 218 14700 | 55% .200
JL2419 | 21H 15500 | 52% 500
ERER JL2400 | 218 14200 | 56% 500
JL2402 | 218 14200 | 56%
JL2404 | 218 14200 | 56%
JL2406 | 218 14200 | 56%
JL2410 | 218 14200 | 56%
JL2412 | 218 16,000 | 51%
JL2ata | 218 6000 | 51%
BEE (PED)=HLIE (TR 2 HE (PE) R JL3103 [ 218 20,900 53% £:25,300, B:21,300
JL3105 | 218 6900 | 62% 20.100. H:17.900
JL3107 | 21H 12,800 | 71% £:14.900
JL3117 | 218 0800 | 76% 2900, H:13.400
ALOR (3 F#%) % | JLsioo | 218 12,200 72% 3:14,100
JL3106 | 218 12600 | 72% 4500, £:14.900. H:13.900
JL3114 | 218 21,200 | 52% 24,700, £:22,900, H:25.100
JL3tig | 218 18.800 | 58%
AEEUMO=#E |AEEUNMOSE] J14333 ] 218 15,700 50% . 1 B:17,300
iR JL4334 | 218 4400 | 5% . T H:16.400
AHERCMO=RE  [2HEOMOR[ Jldd01 | 218 14,700 53% 12,90
JL4403 | 218 4900 | 52% 1290
JL4405 | 21H 14000 | 55% £:13.90
JLaa13 | 218 4200 | 5% £:12.10
JLa415 | 218 14,000 | 55%
[EES JL4400 | 21H 3200 | 57%
JL4402 | 21H 15300 | 51% |+:13,900.
JLas08 | 218 5400 | 50% |£:15.200. . H:13.900
JLa4i2 | 218 15400 | 50% |£:15.700. . H:15,300
JLaaia | 218 4500 | 53% % H:15.000. £:12.500
BHERUMO=RA  [2HEBOMOR[ J4341 | 218 14,100 60% [+ H:13,100
JL4345 | 218 3700 | 61% |+ H:12.300
JL4347 | 21H 14300 | 59% |A:13.800. £ H:12.300
AR JL4342 | 218 4200 12.300
JL4346 | 218 13,400 12,300
JL4348 | 21H 3.800 12.800
HIRGEFR)=-FHF | RGEHTR) [ JL2803 [ 21 15,200 16,800
JL2805 | 21 5.200 16.800
JL2809 | 21 16.200 17.800
BHER JL2804 | 21 7.500 15.200, & B:19.300
JL2806 | 21 16.400 15,200, + H:18,000
JL2gio | 21 7.400 16.200, & H:19.000
HIRGETFR)-HE | HRGETFR) R JL2821 [ 21 16.900 18,500
JL2827 | 21 5.900 17.500
EE JL2822 | 21 17.100 14,900 :18,900
JL2g2s | 21 7.600 16.900 :19.300
HIRFTFR) =38 HER JL2871 | 21 22,200 20,100 :24,400
JL2877 | 21 22,500 18.600 :24.800
FLIR (BT %[ JL2s72 | 21 19,600 21,500
JL2876 | 21 8.600 20,600
HIRFFR)=LE e JL2901 | 21 10.200 10,400
JL2903 | 21 9.000 5300 %:13.600, £:19.600. H:16.300
JL2905 | 21 14,600 14,900
JL2907 | 21 4200 117300, 1:14.400. H:15400
JL2900 | 21 13,200 6,300, £:13.400. H:14.400
ALUE (Fr Fa%) 5[ JL2o00 [ 21 9.100 9.300
JL2002 | 21 10200 | 70% |+ H:10.400
JL2904 | 21 0200 | 70% |+ H:10.400
JL2906 | 21 16400 | 52% |A:14.300, %:15.200. £:11,100, H:18,600
JL2910 | 21 6400 | 52% |A:14.300, %:15.200. £:11.100, H:18.600
HIRFFR)=ES e JL3403 [ 21 19,800 63% | A:19,000, £:22,500, H:20,500
ALOE (i F38) [ J13406 [ 21 9.000 | 65% |A%:19.900. £:20500. H:22.500
BE=LE EHEES JL3531 | 21 26,300 49% | A:23300
JL3537 | 21 26300 | 49% [A:23.300
was JL3530 23300 | 54% |% H:23,000, £:24,500
JL3538 25200 | 51% | H:28100. £:26.300
1BE=38 EEIES JL3525 23,400 52% |A:22.100, £:22.500
Eets JL3524 100 | 54% | +:23400

JAL
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=40] B4 HEMIE
F6 @ B0 =
BEAMABR el L .

1ER=3 5 EEEES JL3621 .800 £:9.500, £ H:9
JL3625 800 29,500, £ B9
JL3629 800 2:9.500, & B9
JL3631 800 9,500, £ B9
JL3633 800 2:9.500, & B9
JL3639 800 9,500, £ B9
JL3641 800 2:9.500, & B9
BB JL3620 800 :9.500, + H:9
JL3622 800 2:9.500, & B9
JL3626 800 29,500, £ B9
JL3630 800 2:9.500, & B9
JL3632 800 29,500, £ B9
JL3634 800 2:9.500, & B9
JL3642 800 :9.500, £ B8




MEEZI5I21 1 EEXR(12R13~26 BB RS)

EREAE 2019/08/27 ~
12/13-26
=40} B2 HEMIE
F6 @xm B0 =
BAME | 7% | #six "
HRCHE) =R (FF/R)| HmRCAE) % [ _JL503 21,800 | 45% |%:19.400
JL501 21800 | 45% [%£:19.400
JL503 21,800 | 45% |%:19.400
JL505 26,000 | 35% |A:25,600. % 1700, H:25.000
JL507 24500 | 39% 1400, :27.800. £:28.600, H:25.000
JL509 24500 | 39% 1400, K:27.800. F:28,600, H:25.000
JL511 25000 | 37% 1800, %:24.500. 1:28.600
JL513 4600 | 38%
JL515 2.000 | 45%
JL517 1.800 | 45%
JL519 1.800 | 45%
JL521 20800 | 48%
JL523 20.800 | 48% |4
JL525 20600 | 48% :24,700, H:20.900
JL527 20.700 | 48% |%:26.100, £:20.600. H:21.300
JL529 20600 | 48% 20,900
JL531 20.600 | 48% 0900
FLOR (BT F %) F|_JL500 20,600 48% |4 ,400, H:17.500
JL502 21,900 | 45% 700
JL594 21,900 | 45% 700
JL504 21,300 | 47% 3:19.800
JL506 20400 | 49% :19.800
JL508 17500 | 56% |£:20.100. £:20400. H:20.300
JL510 17500 | 56% |%:20.100, £:19.900. H:21,300
JL512 18700 | 53% 19.900
JL514 20300 | 49% 19.900
JL516 20900 | 48% 22,500, £:19.900
JL518 21100 | 47%
JL520 21,100 | 47%
JL522 21100 | 47%
JL524 20.900 | 48%
JL526 9600 | 51%
JL528 9600 | 51%
JL530 7500 | 56% |
HR CRE) =18 FR(FE)F [_JL303 7.700 36% ¥
JL305 7.700 | 36% 223,100
JL307 28,600 K:27.000. %:28.200
JL309 28,600 %
JL311 28.600
JL313 28,600 s | A:28.700. £:28,300
JL315 4.800 3% | X:26.800. JkK:26.000. H:24.900
JL317 7,600 7% | KK:27.700. :28,700., %:24.200
JL319 7.600 7% | AoK:27.700. A:29.200. £:24.100
JL321 B 4,900 3% | :26.800, 7K:26,000. 7:19.600, £:24.100
JL323 18 25.900 1% | K:26.400. A:25.800. £:25.100
JL325 Iz 7,600 7% | £:26.100
JL327 18 2100 | 49% |X:24.000. 7K:23.200. £:25.800. £:26.100. H:24.200
JL329 Iz 7.600 | 37% |A:28.200. %:29.30
JL331 18 7.600 | 37% |A:28.200. £:29.30
JL333 Iz 26700 | 39% |JH:27.600, /K:27.700. %:30.300, £:24.100
JL335 16 7.600 | 37% |A:28.200. £:30.300
[ JL300 18 1000 | 52% |%:21.500, +:22.400. H:20900
JL302 16 2400 | 49% |H:20.900
JL304 1H 2400 | 49% |H:20.900
JL306 18 26200 | 40% £:27.600. B:24.500
JL308 Iz 25700 | 41% |%+:27.400, H:22.400
JL310 16 900 | 50% |%:22.400. +:23.300
JL312 1H 400 | 49% |%:22.300. $:22.900
JL314 16 500 | 46% %£:22.300, £:22.900
JL316 1H 500 | 46% 22,900, H:24.100
JL318 18 400 | 4% 127,100, +:23.800. H:25.800
JL320 Iz 400 | 4% 127,100, +:22,900. H:25.800
JL322 18 26500 | 39% > H:28.600. £:24.900
JL324 1H 23800 | 45% 1.700. H:26.800
JL326 18 23800 | 45% 1.700. H:26.800
JL328 1H 27000 | 38% & H:28,600. 1:24.300
JL330 16 23.200
JL332 1H 500, H:22.700
R CRE) =4 (B8 | EERCRE)H |_JL01 18 .800. 1:21.100, H:20.800
JL903 1H 700, H:20.800
JL905 1H 700, H:20.800
JL907 1H .700. H:20.800
JL909 | 218 .80
JL913 | 218 20,50
JLot5 | 218 13,80
JLo17 | 218 13.80(
JLo19 | 218 14,600
JL921 | 218 115100, H:15.000
JL923 | 218 18300
JL925 | 218 :25.400, + H:18.300
4R (FRER) F | _JLooo | 218 £:17,800, H:15.300
JL902 | 218 +:17.300. B:15.800
JL904 | 218 6.300
JL906 | 218 . :17.300
JL908 | 218 13700 | 72% |t H:14,900
JL910 | 218 9400 | 60% |£:19.700. H:21.90
Jot2 | 218 19400 | 60% 19,700, B:21.90
JL914 | 218 19400 | 60% |£:19.700. H:21.90
JL916 | 218 21,200 | 56% 21,600, £:19,400, B:22,700
Jio1s | 218 21200 | 56% |£:21.600, +:19.400. H:22.700
JL920 | 218 19,300 | 60% |+:18,700. H:21.90
JL922 | 218 17.400 H:20.400
RIR (RFH)=FLIR (BT F &) ABR(FFF | JL2oo1 | 21H 26,600 F:25,300, £:22,900, +:27,100, H:19,500
JL3911 | 218 26,600 0. 900, % 1:25.800, H:19.500
JL2005 | 218 26,600 22,900, 25,800, H:20,000
JL3917 | 218 11.700 (7k:11.300, :12.800, H:13.200
JL2009 | 218 11,500 | 76% |A:11.700. £ H:13,000
JL2019 | 218 20900 | 57% |%1:22.900, H:20.000
ALOR (3 F#%) % | _JL2000 | 218 18,600 62% |2 +:22600, H:17,400
JL3912 | 218 15300 | 69% |XJK:11.300. A%:17.700. H:14.200
JL2006 | 21 17700 | _64% |%:21.100. £:19.400. H:20,400
JL2010 |21 24100 | 51% |JJK:23.400, £:22.600. H:27.100
JL3918 | 21 24100 | 51% |2k:23,400, £:22,600. H:27.100
JL2016 | 21 24100 | 51% |JJk:23.400, +:22.600. H:27.100
KR (BAZE) =#LIR (3 F#%)| KPR (BA#E) e | JL2501 | 21 19,400 60% [£:21.700, £:21,800, H:16.500
JL2503 | 21 10700 | 78% |+ H:13.200
JL2505 | 21 9,700 80% | +:11,00, H:12.900
ALOR (3 F %) 56| L2502 | 21 9.700 80% |#+H:10.100
JL2504 | 21 10400 | 79%
JL2506 | 21 24100 | 51% [”:23.400, 7K:18.700. £:20.800. £:22.600. H:27.100
RIR (B =48 (BE) [ KBR(FEFDH [ JL3oa1 | 21 24,500 40% | :24,300, £ +:25000, H:24.200
JL2081 |21 24500 | 40% |A:24.300, £ +:25.000. H:24.200
JL2087 | 21 10800 | 74%
PR GRER % [JLsoa2 | 21 10800 | 74% |7K:10.500. :10.400
JL2084 | 21 10800 | 74%
JL2088 | 21 24300 | 40% |H:25500
BE=ILIR TR EEEES JL3513 [ 21 20,900 65% |+ H:22,700
JL3515 | 21 18900 | 68% |& 1 H:19.900
ALIR (B F#R) %[ JLas10 | 21 18,900 68% |2
JL3si2 | 21 20900 | 65%
RECHE)=Xi#H3| HRCRE)E | _JLse5 | 21 15,400 68%
JL567 | 21 16.300 | 66% | A:17.600. k:22.100, 7K:21.400, A:22.700. F:17.400, B:17.500
JL569 | 21 17200 | _65% | A:18.400. :20,800, 7K:20,200, A:21.100. £:18,200, H:18,300
ESTIES JL562 | 21 18200 | 62%
JL564 | 21 17.800 | 63% :17.400
JL566 | 21 13500 [ 72% 4,300, B:15.500
R CRE) =R HRCRE) S | _JLss1 | 21 16.200 65% :15,700
JL553 | 21 18700 | 60% :18.300
JL555 7.100 | 63% 3:17.400
JL557 700 | 62% 16.400. B:17.400
JENTES JL562 .700 66% 15.800, H:15.100
JL554 100 [ 68% 14,800, B:16.900
JL556 600 | 69% 14,200, B:17.400
JL558 3700 [ 71% 13.300, B:16.500
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B CRE) =8I R (HE)F | JL541 .700 72% [ A:15.700, X:19.800, 7k:19.300, 7:17.100, +:18.200. H:15.800
JL543 .900 52 A£:19.100
JL545 400 | 71 :15.800, J(:16.700. 7K:16.200. A:17.400. £:14.500. H:16.900
ElEES JL540 600 4 7K:16.400, #:16.300, £:14,000, £:15.700, H:14.200
JL542 500 4% | % 117.900. B:17.400
JL544 700 4 2 300, 3,600, +:15.300, H:18,800
RECAB)=HIA HEREE)F [ _JL573 .900 69% [A:23.200. 7.300, H:15.000
JL575 .900 67% | 5,800, H:15.600
JL577 900 | 67% [A:
JL579 .100 69% | :17.000
HILFE JL570 .300 66% | A: :15.600
JL572 100 69% | :16.100
JL574 100 | 69% [k 100
JL576 ,700 70% 700, +:14,400, H:16.700
HR CHE)=HiE R CAE) § |_JL585 3900 | 63% 7900, £:18.000. B:16.000
JL587 7.000 55% 600, £:17.400
JL589 7700 | 53% .900
R JL584 7.800 53% .900, H:15.000
JL586 7300 | 54% £:13.800. H:17.500
JL588 7700 | 53% |
RRECABR)=H& R HE)F | JLi4l 600 60%
JL143 200 58%
JL145 600 | 60%
JL147 .900 59%
JL149 200 | 58%
JL151 .600 60%
HHR JL140 .600 60%
JL142 .900 59%
JL144 600 | 60%
JL146 .200 58%
JL148 200 | 58%
JL150 .600 60%
ER(AR)== BRCRE)$ |_JL1s5 .200
JL157 200 o
JL159 .200
ZiR% JL154 200 o
JL156 .200
JL158 200 3
HRCRE)=RE HERCRE) % |_JLi61 9.700 68
JL163 8600 | 38% 11.400
JL165 7400 | 42% 11.400
JL167 .500 45% 11,400
HER JL162 8,500 38% |4 :11.400
JL164 B 4600 | 51% [+H:11.400
JL166 18 17.300 | _42% 16.900. £ B:11.400
JL168 Iz 9.700 68%
R CRE) =R R (RE)F [ JLi75 18 9.600 4%
JL179 Iz 11.100 7%
[Z3 JL174 18 11.100 7%
JLI78 Iz 11.100 7%
R CRE) =/ EEACCEDEN INTRTX] 18 9.700 4%
JL185 Iz 13,200 1% _|7K:13.600, £ H:10.300
JL187 18 9.700 4% | AL H:10.200, £:12.200
JL189 Iz 9.700 4% |£:12.200. £ H:10.300
JL191 18 9.700 4 300
JL193 18 10200 | 62% 800
INEE JL182 18 10200 | 62% 300
JL184 Iz 9.700 64%
JL186 18 10200 | 62% |EH:10.300
JL188 18 10200 | 62% .800. .300
JL190 18 12500 | 54% 700 1 300
JL192 Iz 9.700 64% |4:12.800, 1 .300
R CRE)=FEW RERERCPE)H | JL231 18 15.700 57% :12.700. 1 .800
JL233 Iz 15700 | 57% |%:12.700. 800
JL237 18 15700 | 57% |+t H:13.800
JL239 Iz 15500 | 57% |A:15.700. %:15.400, T H:13.800
JL241 18 15700 | 57% |+ H:13.800
[EIES JL232 1H 13300 | 63% |A:12.700. :13.900,  H:13.800
JL234 18 15700 | 57% |7K:15.600. %:14.500. £ H:13.800
JL236 18 12700 | 65% |sKA:14.300. %:15.700. & H:13.800
JL240 15 15600 | 57% |A:15.700. T H:13.800
JL242 1H 5700 | 57% |+H:13.800
HECAB)=LES HERCAE)H | JL253 | 218 15,900 57% |7K:16,000, 7:16,600, £:13,900. 1 H:14,100
JL255 | 218 7.000 | 54% |A:16.200. %:15.800, £ H:14.100
JL257 218 19,500 47% | K:19.700, £ H:14,100
JI259 | 218 8000 | 51% J B:14.100
JL261 218 17,400 53% |7K4 16,200,
JL263 | 218 5900 | 57% KA 18.100, 1
JL265 218 17,300 53% |7K4 18,300,
JL267 | 218 7300 | 53% |A:17.800. %:18.900, + H:14.100
LB% JL252 218 14,100 62% |7K:14,200, A:14,600, £:15,700
JI254 | 218 7300 | 53% |sKA:17.400. £ H:14.100
JL256 218 13,900 62% |£:17,900, £ H:14,100
JL258 | 218 3900 | 62% [%:17.900, £ H:14.100
JL260 218 13,300 64% | AK:13,900. 17,300, £ H:14,100
JL262 | 218 6500 | 55% |A:16.600. %:19.500, + H:14.100
JL264 218 19,100 48% |7K:19.600, £ H:14,100
JL266 | 218 19100 | 48% |7K:19.600. %:20.100, £ H:14.100
HEERCAE)=LOFH | BRREESE [ J201 | 218 11,500 72% [+:12,600, H:11,10
JL203 | 218 12700 | 69% % H:13.300. £:13.100
JL295 218 13,100 68% 12,100, H:15,300
JL207 | 218 13100 | 68% £:12.100. H:15.300
=ESE JL290 218 13,600 67% 14,100, H:12,10(
JL202 | 218 3600 | 67% |%:14.100, H:12.10
JL294 218 13,100 68% 14,300, +:13,300, H:15,300
JL206 | 218 1.600 | 72% |%:15.600, £:11.100. H:15.300
RRCAE)=HE HRCAE)H [ J277 | 218 20,800 40% 19.600
JL279 | 218 21800 | 37%
JL283 218 21,200 39%
Ji285 | 21H 20000 | 42%
JL287 21 21,300 38% , £:18,200
HER JL276 | 21 3400 | 61% :14.500
JL278 21 20,300 41% :18,600
JL280 | 21 6900 | 51% :20.800
JL284 21 21,800 37% :23,600
JL286 | 21 21200 | 39% £:19.600
HECRB) =8 HRCRE) R | _J453 | 21 19,900 44%
JL455 | 21 9.900 | 44% .
JL457 21 18,600 48% | A:15,800 17,300, £ H:15.600
JLase | 21 8600 | 48% |A:15.800. %:17.300, £ H:15.600
JL461 21 16,300 54% |%:17,200, 1+:15.400, H:15,600
JL463 | 21 6.800 | 53%
JL465 21 16,800 53%
[EEES Juasg |21 5,200 57%
JL454 21 16,100 55%
JLas6 | 21 16.100 | 55%
JL458 21 16,000 55% :15,600
JL460 | 21 6.000 | 55% 15,600
JL462 21 16,500 54% +:15,200, H:15.600
JL464 | 21 6500 | 54% 15.200, H:15.600
HECRB) =& HRCRE) R | J4a75 | 21 17.400 51%
JLa77 | 21 21400 | 40%
JL479 21 19,900 44%
JLasl | 21 7200 | 52%
JL483 21 17,200 52% i
JLags | 21 6.400 | 54% 8,000, £:16.000. H:20.100
JL487 21 20,700 42% | $:22,200, 1:16,000
S JLa74 | 21 6200 | 54% & 1:17.700. H:15.200
JL4T6 7,300 51% £:18,100. H:15,20
JL478 4800 | 58% |%:17.200. £:16.100. H:18.800
JL480 4.800 58% :17.200, £:16.100, H:18,800
JL482 6100 | 55% |£:17.200. £:16.500. H:20.700
JL484 20,600 42% 17,000
JL486 20600 | 42% |& f:16.000
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RRECAB) =B R (HE)F | JLdol 21,600 43% .700, £ H:21.700
JL493 21,600 | 43% 700, F H:21.700
JL495 20.100 | 47% 800
JL497 7.800 | 53% 400, H:20,100
JL499 900 | 47% 16.400
EES JL490 ,300 49% 16.900
JL492 800 | 53% :19.300
JL494 000 | 60% +:18.800. H:17.800
JL496 700 22 :18.200, H:20.700
JL498 20,600 :16.300, H:22.100
R CRE) =t HRCPE)F |_JL431 .500 :17.200
JL433 800 1,500
JL435 100 :23.300, £::19.600
JL437 800 £:19.100
JL439 9700 :22.000, H:23.700
JL443 20,900 2 H:23.700. £:19.200
[ATES JL430 20.400 :16.500
JL432 20,400 :16.500
JL434 16.700 £ £:18.600, B
JL436 16.700 19,100, 18, :20,900
JL438 20.400 [£:20.900. £:17.900, B:23.300
JL440 9,200 £:17.200. H:22.600
RECRE) =1L RM FR(HE)F |_JL3ni 4.100 4,60 13.800. H:11.500
JL373 9600 7.60
JL375 8.600 9.10
JL377 20,100 0700, £:17.600. H:22.100
JL379 20.100 0700, +:17.600. H:21.100
s JL370 ,800 7.600, H:15,600
JL372 600 6.60
JL374 800 8200, H:18.600
JL376 800 0600, £:17.100. H:19.100
JL378 600 600, £:14.500
R (FE) =K% WRCRIE) % | _JL661 4,400 0. +:24.300
JL663 25,900
JL665 25.900 :20.900
JL667 25,900 21,300
JL669 25.900 :21.300, £:23.900
JL671 25,400 21,200, +:23.400. H:25.200
EX S JL662 17.400 0
JL664 20,000 .300. H:19.300
JL668 20300 400, A:19.000. £:20.700
JL670 20,300 400, A:19.000. £:20,700
JL672 21.300 100
JL674 B 20,900 100
RRCRE) =Rk HRCHE) & |_JL605 18 24,500 47% |k .300
JL607 18 26500 | 43% |J
JL609 18 25300 | 45% |4
JL611 18 25300 | 45% |J
JL613 18 25900 | 4% |K4
JL615 Iz 25900 | 44% [/k:28.000, £:21.300
L] JL606 18 19.400 | 58% [7K:20.400. /:19.800. %£:18.200. £:20.000. H:19.900
JL608 Iz 18600 | 60% |ikK: 19,500, H:19.000
JL610 18 19.400 | 58% :18.300. £:19.500. H:20.400
JL612 1H 20900 | 55% |+:18.800. H:21.90
JL614 18 20900 | 55% |+:18.800. 90
JL616 1H 18800 | 59% |/K:18,900. %:21.40 8,300, H:20.800
R CRE)=f R (RE) % [_JL623 18 25,900 1% 19,400, H:25.300
JL625 1H 24,300 2%
JL627 18 24,300 4% :26.
JL629 18 25,900 1% .00
JL631 18 25,900 1% .00
JL633 18 25,900 1% 300, 7:28.000, £:20.200
JL637 18 21,900 | 50% 800, :25.800. £:18.200. H:19.500
JL639 18 25900 | 41% 300, 7:28.000, £:20.700
BAR JL622 18 19.500 55% .40
JL624 1H 19500 | 55% 800, £:19.900, H:21.500
JL626 18 18.400 | 58% 800, :18.900, £:17.400
JL628 1H 17.300 | 60% 800, 7:18.900, H:17.500
JL630 18 20000 | 54 119500, 1:19.401
JL632 1H 20000 | 54% .200. H:21.400
JL634 15 20000 | 54 200, H:21.400
JL638 1H 16700 | 62% | 400, %:18.300, H:17.900
RRCAB) =2k HR(HE)F | Jes7 | 218 25,600 41% [k +:26.500, kA:27,500, £:18.500
JL689 | 218 26500 | 39% |/K7:28.000, £:20.700
JL6o1 | 218 25900 | 41% |4 K:28,0 :20,700, H:25.600
JL693 | 218 25900 | 41% [7K:27.300, A28, :19.700
JL695 | 218 25900 | 41% |K:27,300, A:28,000, %:19,700
JL697 | 218 25900 | 1% |7K:27.300, A:28.000. £:21.500
B3 JL688 | 218 18700 | 57% |/KH:19,500. %:19,600, £:20,500
JL6%0 | 218 19200 | 56% |/KH:19.400, % +:20.400
JL692 | 21H 18,800 | 57% [/KH:19,900. A:19.300, £ £:19,100
JL6%4 | 218 18200 | 58% |7K:19.400. 7K:18.800. £:19.500, +:19.100. H:20.800
JL696 | 21H 20700 | 53% |# . H:22,000
JL698 | 218 19600 | 55% | . H:22.000
RR(PE)-ERE HRCAE)H | _Jedr | 218 26,400 43% 7] . £:18,200
JL643 | 218 27100 | 1% ] 1300
JL645 | 218 28,100 | 39% |3} K:28,000, %:22,300, +:28.200
JL647 | 218 27100 | 1% |A: 25,900, #:19.200, + H:25.500
JL649 | 218 27,700 | _40% |3} 00, %:21,200
JLes1 | 218 27000 | 41% [k 000, %:20.800
JL653 | 218 26,100 | 43% |/ . £:21,200, H:26.200
JL655 | 218 27000 | a1% [k :21.100, H:26.900
ERER JL640 | 218 18200 | 61% | 19,700, H:19.400
JLe42 | 218 18700 | 59% |X:18.600. 7kK:20400. %:19.500. £:20.100
JL64d | 218 19600 | 57% |7K:24.400, A:23.700, £:20,900, +:21.100. H:20,400
JL646 | 218 19300 | 58% |7K:26.400. A:25.700, % H:21.000, £:19.400
JL648 | 218 18700 | 59% /KA £ H:19,400, £:18,400
JL650 | 218 27100 | 41% 0800, £:21.400. +:19.400. H:22.000
JL652 | 218 20800 | 55% |J 22,100, £:19.700, B:22,700
JL654 | 218 20800 | 55% £:22.100, £:19.700. H:22.700
R (RRE)=KBR () | FR(RE) S | JL3005 | 21 15,800 43% 17,000, £:15.900
JL3009 |21 13.800 | 50% . 14.100
RBR () % | JL00a | 21 10300 | 63% 10,600, +£:10.600
JL3006 | 21 19300 | 30% |H:19.700. %:20.200. £:19.700
R (RRE) =ALIR (3 F#%)|_ S (RRE) % | JL3049 | 21 13,600 66%
ALOF (B F ) %[ J13040 [ 21 13200 | 67% |H:13.600. £:
G A (AE) S | JL3057 | 21 14,400 67% 14,800, 1
e JL3052 | 21 14400 | 67%
KR (7+53) =ERfE ABRURF S | JL2123 | 21 26,000 44%
BT JLziza | 21 26700 | 42%
KR (A =F &% KBR (#FH % | JL2151 | 21 10,900 75% |
JL2153 | 21 13.900 | 68% |7K:22.600. A:21.200
JL2157 | 21 13900 | 68% |7K:20,900. :19.800
BHE JL2152 | 21 13.900 | 68% |7K:19.400. A:17.500
JL2154 | 21 13900 | 68% |/K:18,100, :16.200
JL2158 | 21 10900 | 75% |sK:21. 18.100
KR (75 =Rk RBR(RFHF | JL2171 | 21 22,900 42% _|£:20,100. 1 H:25.200
JL2173 | 21 21300 | 46% [+
JL2179 | 21 19700 | 50% |4 -22.100, £ H:24.300
PES JL2172 | 21 19700 | 50% |%:
JL2174 | 21 18200 | 54%
JL2176 | 21 18200 | 54% |£:22.100. £ H:24.300
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RIR (D =MlE KB (FFFH) % | JL2201 23700 36% | 4:22.800, £:20,300, F H:23.900
JL2203 22600 | 39% |AE:22,800, £:20,500. H:22.900
JL2205 20.900 | 44% |k
JL2207 21600 | 42% |A:
JL2209 19.900 | 46% A £:20.100, H:21.100
JL2211 20300 | 45% |%
JL2213 20.300 | 45% |4 .
JL2215 000 | 49% |A: 17,900, H:20,000
[Tz JL2200 000 | 57% |4
JL2202 800 | 49% |4 000
JL2204 200 | 48% |4 700
JL2206 500 | 55% |A: ,400. B:17.000
JL2208 500 | 55% |A: 1400, B:17.000
JL2210 800 | 52% |4 £:18.20 400, 6:18.000
JL2212 8600 | 50% 800, £:19. :22.300
JL2214 7400 | 53% . . :21.700
KR () =318 KB (B % [ JL2241 7.900 49%
JL2243 20400 | 42% X
JL2247 7.900 | _49% |£:18.400
JL2251 700 | 47% 20,200, £:17.500
HRR JL2240 .000 46% :17.900
JL2244 400 | 53% |%:19,000. £:15.800, H:18,400
JL2246 300 | 51% 6.900. £:20.500, £:16.700. H:19.300
JL2250 900 | 52% 20,100, H:18.900
KRR (5 =#1l KB (B % [ JL23oi .000 49%
JL2305 200 | 39% |%:11.600
JL2309 000 | 49% |%:10.800
EATIES JL2302 .000 49%
JL2306 000 | 49%
JL2310 200 | 39% £:11.800
KR (=K% RIR (5 % | JL2361 .200 29% t H:18.900
JL2365 900 | _46% 5400, £ H:16.900
JL2367 400 | 40% 5400, £ H:16.900
K% JL2362 ,900 46% 3:16,900
JL2364 300 | 4% 5700, £ H:17.300
JL2366 400 | 36% 3:17.600
KR (5 =Rl KB (D % [ JL2s7i .400 38% :
JL2373 400 | 38% |A:
JL2375 800 | 46% |A: :13.200
JL2377 200 | 48% |A: 2900, H:14.300
RIEF JL2372 .200 48% |B:
JL2374 200 | 48% |A:
JL2376 700 | 53% |A:
JL2378 B 200 | 48% |A:
RIR (5D =R KRR (D) % | JL2383 18 14.600 49% @
JL2385 | 218 14600 | 49%
JL2389 | 21H 14600 | 49% | A XK:14.300
AR JL2382 | 218 14600 | 49%
JL2386 | 21H 13.600 | 53% |£:14.300. £ H:14.600
JL2392 | 218 14600 | 49%
KR (A =2 RIR (5 % | JL2431 18 16.600 42% 100, £:17.400
JL2433 | 218 16600 | 42% 100, F:17.400
JL2437 | 21H 20000 | 31%
JL3921 1H 17200 | 40%
JL2441 18 17.200 | _40% 401
JL2443 | 218 16.600 % 400, H:19.400
ELES JL2430 18 16.600 % .800. H:16.400
JL2432 | 218 16.600 % 800, H:16,400
JL2434 | 21H 16.400 .
JL2438 | 218 16.400 % _[%:17.000, £:18.100, H:17.700
JL3922 | 21H 16.400
JL2442 | 218 16,400 % _[%:17.000, £:18.100. H:17.700
KR (P -ERE RIR (5 % | JL2401 18 14.800 5. #:17.900. + H:18.000
JL3953 | 218 14800 | 54%
JL2403 | 21H 15500 | 52 9.400. £ H:19.200
JL2407 | 218 15500 | 52%
JL2409 | 21H 14700 | 55% 200
JL2411 18 14700 | 55% .200
JL2415 | 21H 14700 | 55% .200
JL2419 | 218 15500 | 52% . 500
BERBR JL2400 18 14.200 56% :17.900. 1 .500
JL2402 | 218 14200 | 56% |£:17.900. 500
JL3954 | 21H 14200 | 56%
JL2404 | 218 14200 | 56% |&+H:19.100
JL2406 | 21H 14200 | 56% |&tH:19,100
JL2410 | 218 14200 | 56% |&+ H:19.100
JL2412 | 218 16,000 | 51% 18,200, £ B:17,800
JL2a14 | 218 16.000 | 51% |£:18.200. £ H:17.800
B B (&) =fLIR (3 F % B 52 (haf) | JL3103 [ 21H 20,900 53% 4,300, 1:25,300, H:21,300
JL3105 | 218 16.900 | 62% |£:19.400. £:20.100. H:17.900
JL3107 | 21H 12,800 | 71% 14,500, £:14,900
JL3117 | 218 10800 | 76% |£:12.500. +:12.900. H:13.400
ALIR (FFFa) %[ Jsio0 | 218 14,100 68% 13,600, 12,300, K:15,600, A:15.900, %:12,600
JL3106 | 218 12600 | 72% +:14.900. H:13.900
JL3114 | 218 21,200 | 52% 22,900, H:25,600
JL3tig | 218 19.900 | 55% 20.200. 7:18.800, £:19.400
AEEUMO=#E |AEEUNMOR] J14333 | 218 15,700 50% |+
iR JL4334 | 218 14400 | 54% |£:14.900. £ H:16.400
AHERCMO=RE  [2HERCOMOR[ Jldd01 | 218 14,700 53% |+:15,200, H:12.900
JL4403 | 218 14900 | 52% |+:15.300. H:12.900
JL4405 | 218 14800 | 52% 14,000, £:15,300, £:13,900, H:12,900
JLaa13 | 218 14200 | 54% |/KA:14.800. %:15.200, :12.100. H:13.900
JLa415 | 218 14,000 | 55% |[7K:14.200, A:14,500, £:15,800, +:12,100. H:13,900
[EES JL4400 | 218 13200 | 57% |:15.000. +:13.700. H:12.100
JL4402 | 21H 15300 | 51% |+:13,900. H:12.70
JLa408 | 218 15400 | 50% |% £:12.500. H:13.900
JLaai2 | 218 15400 | 50% |2 12,500, B:15.300
JLaaia | 218 14500 | 53% |2 13.600. H:15.200
AHEEUMO=IEA | AEEUMO | JL4341 | 218 16,100 54% | K T H:13400
JL4345 | 21H 13700 | 61% |A:15, :12.300
JL43a7 | 21 14500 | 59% /KA :15.800, £ H:12,300
AR JLa3az |21 14700 | 58% A :12.300
JL4346 | 21 14200 | 60% |A :12.300
JLa3as | 21 14600 | 50% A& :13.400
HIRGEFR)=-FHF | RGETR) [ JL2803 [ 21 15,200 42% |4
JL2805 | 21 15200 | 42% |4
JL2809 | 21 16200 | 38% |4
BHER JL2804 | 21 17.500 33% 5.200, £ H:19.300
JL2806 | 21 16,400 | 38% 5200, & H:18,000
JL2gio | 21 17400 | 34% |£:16.200. £ H:19.000
HIRGETFR)-HE | HRGETFR) R JL2821 [ 21 16.900 44% 18,500
JL2827 | 21 15.900 | 47% 17.500
EE JL2822 | 21 17.100 43% |£:14,900. + H:18,900
JL2828 | 21 17.600 | 42% |A:18.100. %:16.900, £ H:19.300
IR (FFR) =58 EE] JL2871 | 21 22,200 38% |£:20,100, £ H:24,400
JL2877 | 21 22500 | 37% |A:23.200, £:18.600. T H:24.800
FLIR (BT %[ JL2s72 | 21 19,600 45% |+ H:21,500
JL2876 | 21 18.600 | 48% |+ H:20.600
HIRFFR)=LE [IT=E JL2901 | 21 10.200 70% 20,500, %:22.200, £ H:10.400
JL2003 | 21 19200 | 44% |7K:20.500. :22.200, %:13.600, £:19.600. H:17.100
JL2905 | 21 14600 | 58% 20,700, 14,900
JL2907 | 21 14200 | 59% |X:15.600. 7k K:17.000. %:17.300, £:14.400. H:15.400
JL2900 | 21 13200 | 62% |X:14.600. 7K:14.100, #:16,000, £:16.300. £:13,400, H:14.400
ALUR (BT F %) %[ JL2000 | 21 9.100 74% _|7K:14.000. 7:14.300
JL2002 | 21 10200 | 70% |7K:15.900. A:15.500,
JL2904 | 21 10200 | 70% |/KA:15.700. £ H:10.4
JL2906 | 21 16400 | 52% |A:15.300, %:15.200, £:11,100, H:18,600
JL2910 |21 16400 | 52% |A:15.300, %:15.200, £:11.100, H:18.600
HWIRFFR)=ES e JL3403 20,500 62% | A£1:20,700
ALIE (i F3%) %[ J1.3406 20500 | 62% .000
BE=LE EEEES JL3531 26,300 49%
JL3537 26.300 | 49% |A:23.300
was JL3530 23300 | 54% |A:27.600, % H:23,900. £:24.500
JL3538 25.200 :25.600, % H:28.100. £:26.300
1BE=38 EEIES JL3525 23,400 22,500
Eets JL3524 22.100 | 54% |&+:23400
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12/13-26
=40] B4 HEMIE
F6 @ B0 =
AR | T | g "
fEm=-= 5 Ee RS JL3621 .800 £:9.500, £ H:9.
JL3625 800 29,500, £ B9
JL3629 800 £:9.500. & B9
JL3631 800 9,500, £ B9
JL3633 800 £:9.500. & B9
JL3639 800 9,500, £ B9
JL3641 800 £:9.500. & B9
BB JL3620 800 :9.500, + H:9
JL3622 800 £:9.500. & B9
JL3626 800 29,500, £ B9
JL3630 800 £:9.500. & B9
JL3632 800 29,500, £ B9
JL3634 800 £:9.500. & B9
JL3642 800 :9.500, £ B8
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o 11 11/2 11/3 11/4
- &% *#‘EZ’E BB 7E| BEHTE| BB 7E| BEHMIE
BAME EEE B R e
R CRE)=#LIR 3 k)| ERCRE)F |_JL593 21.600 24.700 21.900 21.400
[ JL501 21,600 24,700 21.900 21.400
[JL503 21,600 | 24700 | 21.900 | 21.400
[ JL50S 26,200 26.800
[JL507 28.300 27.300
[ JL509 28,300 27.300
L 7,300 27.300
L! 7.500 26.200
L 800 23.100
L! 000 23.100
L519 000 23.100
L521 .900 23.100
[ JLs523 900 23.100
[JL525 .200 23.200
[ JLs27 7.300 24,200
[ JL529 7.300
JL531 7.300
FLIR (B F i) % |_JL500 23,900
[JLs502 24,900
[ JL594 24,900
[ JL504 23.800
[ JL506 23,000
[ JL508 700
JL 700
JL 200
JL 600
JL 25.400
JL 25,400
[ JL520 26.200
[ JL522 26,200
[ Jis24 27000
[ JL526 26,700
[ Jis28 23.800
JL530 23.800
R CRE) =18/ FR(FE)F [ JL303 21.600
[ JL30s 22,200
JL307 24,800
[ JL3og 26,300
JL 26.300
JL 26,200
JL 000
JL ,.800
JL319 800
JL321 B 800
JL323 E 000
JL325 B 000
JL327 E 23.500
JL329 B 27.200
JL331 E 27.200
JL333 B 28,200
JL335 E 28.200
RER JL300 B 1.300
JL302 E 800
JL304 B 800
JL306 E 500
JL308 B 000
JL31 E 600
JL31 B 600
JL31 E 600
JL31 B 600
JL318 E 4.300
JL320 B 4,200
JL322 E 4.200
JL324 B 25,500
JL326 E 25.500
JL328 B 25,500
JL33 E 25.500
JL33 B 22,700
ERCRE) =4 (%) | BRCAB)E |_JLO B 29.800
JLO0: B 30.200
JL905 E 30.700
JL907 B 30.700
JLI09 21H 30,700
JL913 | 21H 30.700
JL915 21H 29,600
JLo17 | 21H 29,600
JL919 21H 29,600
JLo2i | 21H 24,800
JL923 21H 31,500
JL925 | 21H 34,100
R (GRER) % |_JL900 | 218 25,600
JLo02 | 21H 25,600
JLI04 21H 27,400
JL906 | 21H 28,000
JLI08 21H 28,000
JL910 | 21H 28,000
JL912 21H 30,400
JLot4 | 21H 30.400
JL916 21H 30,400
JLoi8 | 21H 31.100
JL920 21H 30,400
JL922 | 21H 29.100
RIR (RFH)=FLIR (B Fa&)| ABR(BEFF | JL2001 | 218 22,100
JL2005 | 21H 23,100
JL2009 21H 18,000
JL2019 | 21H 21,800
FLBL (B T) % |_JL2000 | 21H 24,600
JL2006 | 21H 23,800
JL2010 21H 24,600
JL2016 | 21H 25.300
KR (BAZE) =#LIR (3 F#%)| KPR (BAFE) S | JL2501 | 21 25500
JL2503 | 21 16.500
JL2505 21 16,000
ALOR (B Fa) %[ JL2s02 | 21 20900
JL2504 21 18,500
JL2506 | 21 25.300
KR (FFD) =048 () | KRB F | JL2081 | 21 21.600
JL2087 |21 19.500
hE (BVER) % | JL2084 | 21 20,100
JL2088 | 21 24,600
BE=HLIR (TR EEEES JL3513 | 21 27,300
JL3515 | 21 29.300
LR (FFa%) %[ _JL3510 | 21 29,300
JL3512 | 21 29.300
B CRE)=k#5] HR(CFIE) % | JL565 21 18,300
JL567 | 21 18,300
JL569 21 22,500
ES T JL562 | 21 20.600
JL564 21 20,600
JL566 | 21 17.200
R CRE) =R HRCPIE) % [_JL551 | 21 16,800
JL553 | 21 18,600
JL555 21 18,800
JL557 | 21 23.700
VENIE:3 JL552 21 20,300
JL554 | 21 17.600
JL556 21 16,400
JL558 | 21 16.200
R CRE) =8I HECRE) % L 15,500
L 26.800
L! ,.800
T2 Lt .700
L! ,200
L 900
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o 11 11/2 11/3 11/4
=) @ | e | W E | M TE BT
waop | ERA | wRE | sEam | Ems

EEEEETN R CAE) F |_JL578 200 16,200

L575 ,.400 17.400
L577 400
L57 .500
HILFE L57 8.700
L57. 7.600
L57. 600
L57 .500
R (CRE)=HE HECRE) % |_JL585 ,900
[ JLs87 400
L589 100
A% [ JLs84 ,000
[JL586 400
L588 ,200
RRECAR) =% HR(EE)F [ JL 4.600
JL 1.700
JL 4.600
JL 6.700
JL 7.700
JL 4.600
HHR JL 4.600
JL 4.900
JL 6.700
JL 6.700
[ 7.700
J 4.600
HR(F@)== RRCAE)$ |_Jl 600
J 600
J 600
=R% J 600
[ 000
J ,000
R CRE)=IE RERCPE)® | J 300
[l ,600
[ 100
J ,300
HER Ji 200
J .600
[ 600
J ,000
HR (FE) =1k RECAE) S | JL 200
JL ,200
Witz 5 J 200
JL B 200
HR () =M RRCAE)$ | JL B 12.300
oL E 13,000
JC E 12.800
JL B 12,300
JC E 12.300
JL B 12,300
RS [ Lt B 12.300
JL B 11,800
[ L E 11.800
oL E 12,300
[ L E 12.300
JL B 9,700
R CRE)=FEW HRCHAE)# | _JL231 B 14.500
JL233 B 16,200
JL237 B 15.200
JL239 B 15,700
JL241 E 16.200
EIES JL232 B 14,200
JL E 16.000
JL B 16,000
JL! B 16.100
JL B 16,600
RRECAB)=LES HRCAE) & | JL25 B 14.500
JL255 B 17,700
JL257 B 17.800
JL259 B 17,700
JL261 E 16.500
JL263 B 17.100
JL265 21H 16,700
JL267 | 21H 17.700
IN-%3 JL252 21H 15,300
JL254 | 21H 16,500
JL256 21H 17,000
JL258 | 21H 17.000
JL260 21H 14,700
JI262 | 21H 16.500
JL264 21H 16,700
JL266 | 21H 19.800
HEECRE)=WOFH [ ®BROEE)HE [ JL291 | 21H 14,500
JL293 | 21H 16,100
JL295 21H 16,100
JL297 | 21H 16.700
WO JL290 21H 16,600
JL292 | 21H 16,600
JL294 21H 17,100
JL296 | 21H 18,100
HRCHE)=HE RRCAB) R [ JL277 | 218 23,500
JL279 | 21H 24,500
JL283 21H 23,500
JL285 | 21H 20,600
JL287 21H 23,000
HES JL276 | 21H 18,700
JL278 21H 22,000
JL280 | 21H 19,100
JL284 21H 22,200
JL286 | 21H 20.400
RRCAB)=-EE HRCRE) S | _Ju4s3 | 21 17.600
JL455 | 21 17.600
JL457 21 17,000
JL459 | 21 17.000
JL461 21 17,000
JL463 | 21 18,100
JL465 21 18,100
BER JLa52_| 21 16.500
JL454 21 16,500
JL456 | 21 16.500
JL458 21 16,000
JL460 | 21 16,000
JL462 21 17,000
JL464 | 21 17.000
HECRB) =& HRCRE)E | Jua75 | 21 17,100
JLa77 | 21 19.700
JL479 21 18,800
JLasi | 21 17.700
JL483 21 17,700
JL48s | 21 21,900
JL487 21 21,900
BIR JLa7s | 21 18.400
JL476 21 19,000
JLa7s | 21 17.800
JL480 21 17,800
JLas2 | 21 17.800
JL484 21 21,400
JL486 | 21 21.700
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o 11 11/2 11/3 11/4
- @ *#‘EZ’E B 7E | EH7E| BEMTE| BIEITE
wagm | SRE | ERE | @R et
RRCRE) =54 RERCRE) % L491 .900
[ JL493 ,900
[_JL495 .900
497 ,.900
L499 20,800
RS [ _JL490 ,900
[ _JL492 700
L494 ,700
[ JL496 .000
498 ,.600
R CRE) =t RERCRE) % 431 .300
433 ,200
L435 600
L437 300
JL43! 1400
JL44. .100
PANES JL43! 900
[JL432 ,.900
JL434 300
[ JL436 7.800
JL43! .900
JL44 ,.300
B CRE) =4t A HERCRE) S |_JL37 .600
JL3T. ,600
JL37! 20.600
JL3T 2,600
JL37! 2.600
s JL37 7.600
JL37T: 9.600
JL37. 9.600
JL37. 1.600
JL37 20,600
ER(CRE)=K5 HRCRE)E |_JL66 23.100
[_JL66: 23,100
|_JL665 23.100
[ JL667 22,600
[ JL669 21.300
JL671 25,800
K%% | _JL662 900
[ JL664 200
[_JL668 .000
JL670 .000
JL672 .700
JL674 B 26,800
HECRB)=R& FHRCHE) [ JL60S B .000
JL607 B 100
JL609 B 400
JL611 B 400
JL613 B 100
JL615 B 29,500
W% JL606 B 9700
JL608 B 1,600
JL61 B 1.000
JL61 B 7,800
JL61 B 28,800
JL61 B 7,800
R CRE) =} HRCHE) & [ JL623 B .700
JL625 B 200
JL627 B .200
JL629 B 400
JL631 B 1400
JL633 B 20,000
JL637 B 20.800
JL639 B 21,300
AR JL622 B 22.200
JL624 B 22,200
JL626 B 19.700
JL628 B 18,800
JL B 26.500
JL B 26,500
JL B 27.500
JL B 20,000
R CHE)=EH HRCPE) % | JLes7 | 218 20,700
JL689 | 21H 22,100
JL691T 21H 22,100
JL693 | 21H 21,500
JL695 21H 21,000
JL697 | 21H 27,500
S JL688 21H 20,600
JL690 | 21H 21.200
JL692 21H 19,200
JL694 | 21H 20.200
JL696 21H 22,900
JL698 | 21H 27,500
RERAE)-ERS HROPAE)H [_JL6d1 [ 218 20,200
Ji643 | 21H 22.800
JL645 21H 23,500
Ji647 | 21H 21.400
JL649 21H 21,400
JL651 | 21H 21.400
JL653 21H 21,800
JL655 | 21H 27.800
EREBH JL640 21H 20,600
Ji642 | 21H 21.300
JL644 21H 21,300
Ji646 | 21H 20.900
JL648 21H 21,400
JL650 | 21H 23,100
JL652 21H 28,800
JL654 | 218 27.800
R (RRE) =AM () | Hm(RE)F | JL3005 | 21 18,200
JL3009 | 21 21,700
KBx (25} % [ JL3004 21 18,200
JL3006 | 21 21.700
FRR (R =ALAR (37 F )| S (kM) % | JL3049 [ 21 22,700
07 (3 F38) % | JL3040 | 21 26.800
RN () =18 BAU(AE) S | JL3057 | 21 26,700
Ftia] JL3052 | 21 26.700
KR (7+53) =ERfE ABR(RF S | JL2123 | 21 29,300
BT JL2124 | 21 29.300
K (B =H& KB (FFH % | JL2ist | 21 22,700
JL2153 | 21 20,300
JL2157 21 18,500
BHR JL2152 | 21 7.600
JL2154 21 21,000
JL2158 | 21 23500
KR (75 =Rk KRB (P % | JLai7t | 21 20,700
JL2173 | 21 4600
JL2179 21 19,900
HER JL2172 [ 21 9.700
JL2174 21 13,200
JL2176 | 21 3.200
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Ny 11/1 11/2 11/3 11/4
- @ *#‘EZ’E B 7E | EH7E| BEMTE| BIEITE
wagm | SRA | ERE | EA8 | SRS
KR (FFH =& RIR () & [ JL2201 .000 18.800
[ L2203 700 20,300
[ JL2205 700 20.300
[ L2207 600 17,500
[ JL2209 1.300 24.400
2211 4,200 25,900
JL2213 4,200 25.900
L2215 23,200 23,400
Wwa% [ JL2200 200 19.900
[ L2202 200 21,100
[ JL2204 600 22.400
[ JL2206 200 20.200
[ JL2208 200 20.200
L221 200 21,400
JL221 .700 25.000
JL221 000 22800
KR () =318 KR (5 % | JL224 .300 |15,
[ JL224: 200 17,
[ JL224 800 [ 17
JL225 2,000 22
FRE | JL224 8700 18.
[ JL224: 7.800 19,
[ JL224i 8.300 [0,
JL2250 7.400 2
KR (7D =Fall RER () % |_JL2301 000 i
[ L2305 600 E
JL2309 .000 | 1
HLFE [ JL2302 000 K
| JL2306 .000 K
JL2310 500 12,
RIR (FFH) =K% RIR (5 % | JL2361 .200 16.
[JL2365 000 6.
JL2367 .000 17
EE [ JL2362 ,000
JL2364 .200
JL2366 200
KR () =R KIR (5 | JL237 .700
[ JL237: 7.700
JL237 6.300
JL237 7.000
W% JL237 .700
[ JL237: 700
JL237 100
JL237 B .900
KR (5 =RER RIR (5 % | JL238 B 14.400
[ JL2385 B 15,300
JL2389 B 15.300
BEARS [ JL2382 H 14.400
| JL2386 B 14.400
JL2392 B 15,400
KR (D =28 RIR (5 % | JL2431 B 17.100
JL2433 B 20,300
JL2437 B 20.300
JL B 18,300
JL: B 18.000
EE JL! H 17.100
JL: B 17.100
JL B 17.100
JL: B 18.300
JL244 B 19,600
AR (R =-ERS RIR (5 | JL240 5] 15.500
JL240 B 15,500
JL2407 B 16.900
[ JL2409 B 15,800
JL2411 B 17.200
JL2415 B 17,200
JL2419 B 17.400
ERB% | J2400 B 14,000
[ JL2402 B 13.800
JL2404 B 13,200
[ JL2406 B 13.200
JL2410 B 14.200
JL2412 | 218 18,300
JL2414 | 218 18.300
B B (P ED) =fLIR (3 F %] £ &2 (hah) S| JL3103 [ 21H 26,200
JL3105 | 218 20,000
JL3107 | 218 13,800
JL3117 | 218 14300
FLUE (F T %) %[ JL3100 | 218 14,500
JL3106 | 218 13.800
JL3114 | 218 25,600
JL3118 | 218 23,600
AEEUMO=#E  |AEEUMOS] JI4333 | 218 18,100
iR JL433a | 218 17.200
AEEUMO=1ERE | AEE MO S| JL4401 | 218 14,700
JL4403 | 218 14.900
JL4405 | 218 15,300
JL4413 | 218 14700
JL4415 | 218 15,600
[EES JL4400 | 218 13.200
JL4402 | 218 15300
JL4408 | 218 15.400
JL4ai2 | 218 15,700
JLaaia | 218 15.200
ZEERMR-EA | BBECMR) | JL43al | 216 20,300
JL4345 | 218 16.000
JL4347 | 218 17.400
AR JL4342 | 218 19.800
JL4346 | 218 16,300
JL4348 | 218 16.500
HREFTFR)=-FF | FAREFR) F[ L2803 [ 21 15,600
JL2805 | 21 15.600
JL2809 | 21 18,200
BHR JL2804 | 21 18.100
JL2806 | 21 15,600
JL2810 | 21 16.600
HREFTFR) =B | AR FFR) 5[ JL2s21 | 21 16.900
JL2827 | 21 18.400
S JL2822 | 21 17.400
JL2828 | 21 17.900
IR (FH TR =38 E-ES JL2871 | 21 22,400
JL2877 | 21 21,800
FLUE (F T %) 5| JL2872 | 21 19,600
JL2876 | 21 18.500
HIRFFR)=LE es JL2901 | 21 14,500
JL2903 | 21 14500
JL2905 |21 17.000
JL2907 | 21 15.700
JL2909 | 21 14,700
ALOR (B F#%) %[ JL2000 [ 21 10.900
JL2902 | 21 17.300
JL2904 | 21 14.900
JL2906 | 21 16.100
JL2910 | 21 16.100
HIEFFR)-ES CE JL3403 | 21 27,300
#L0R (37 F58) 9| JL3406 | 21 26,500
B‘EE EE] JL3531 | 21 28,000
JL3537 | 21 28,000
was 3530 28,400
JL3538 31,300
BE=H8 BRI 3525 22,500
et d JL3524 23,400

JAL



MEEZIS21 1 EER(11A1~4BBED)

EEMAE . 2019/08/27 ~

o 11/1 11/2 11/3 11/4
- g | e | MEIE| BB TE| BEIMIE
waop | ERA | wRE | sEam | Ems

] FE 800 200 | 8800 200
,.800 1200 | 8.800 ,200

.800 1200 | 8.800 .200

,.800 1200 | 8.800 ,200

.800 1200 | 8.800 .200

,.800 1200 | 8.800 ,200

.800 1200 | 8.800 .200

=A% 800 200 | 8,800 200

.800 1200 | 8.800 .200

,.800 1200 | 8.800 ,200

.800 1200 | 8.800 .200

,.800 1200 | 8.800 ,200

.800 1200 | 8.800 .200

,.800 1200 | 8.800 ,200

JAL



MEHEZI5I21 1 EEXR(12A27~31 BERS)

EREAE 2019/08/27 ~
relmsr e |22 | 12/28 | 12/26 | 12/30 [ 12/31
=R B4 - BEIMTE| BEMIE| BEIMTE| BEMIE| BEIMIE
BAME EEE B R e B
RRECRE) =R G Fik)| RmCRE)H | _JL593 21,800 | 28.900 | 28.900 |
[ JL501 21,800 28,900 28,900
[ JL503 21,800 700 .700
[ JL505 26,500 .700 700
[ JL507 28,900 .700 .700
[ JL509 28,900 .700 700
L 28,900 700 .700
L 25,800 .700 700
L 7.900 700 .700
L 7.900 .700 700
L519 .900 .700 .700
L521 600 .700 700
[ _JL523 600 .700 .700
[ JL525 600 .700 700
[ _JL527 500 .700 .700
[ JL529 30,500 .700 700
JL531 26.900 .700 .700
FLIR (B F i) % |_JL500 400 400
[ JL502 600
[ JL594 600
[_JL504 .900
[ JL506 20,400
[_JL508 20.100
JL 20,100
JL 22.500
JL 22,500
JL 22.500
JL 23,000
[ _JL520 23.000
[ JLs22 23,000
[ _JL524 23.000
[ JL526 21,900
[ _JL528 20.900
JL530 20,900
R CRE) =18/ FR(FE)F [ JL303 27.700
[ JL305 27,700
JL307 28.300
[ JL309 28,700
JL: 28.700
JL 28,700
JL: 27.000
JL 31,600
JL319 32.200
JL321 B 28,100
JL323 B 7.100
JL325 B 1,000
JL327 B 7.100
JL329 B .000
JL331 B .000
JL333 B 100
JL335 B .000
[ JL300 B 1400
JL302 B .000
JL304 B 000
JL306 B .900
JL308 B 400
JL31 B 300
JL31 B .900
JL31 B .900
JL31 B 000
JL318 B 25,300
JL320 B 25300
JL322 B 25,300
JL324 B 26,700
JL326 B 26.700
JL328 B 26,700
JL33! B 25,300
JL33; B 24,000
ERCRE) =4 (%) | BRCAB)E |_JLO B .900
JL9! B .700
JL905 B .700
JL907 B .00
JL909 | 218 21,700
JL913 | 218 21,700
JL915 | 218 21,200
JL917 | 218 21.200
JL919 | 218 20,700
JL921 | 218 20.700
JL923 | 218 30,400
JL925 | 218 32,900
PHE(BRER) % | JL900 | 218 15,300
JL902 | 218 6.800
JL904 | 218 12,600
JL906 | 218 2700
JL908 | 218 18,400
JL910 | 218 8600
JL912 | 218 18,600
JL914 | 218 8.600
JL916 | 218 20,500
JL918 | 218 20500
JL920 | 218 18,700
JL922 | 218 1.700
RIR (RFH)=FLIR (B Fa&)| ABR(BFF | JL2001 | 218 27,100
JL3911 | 218 28,500
JL2005 | 218 28,500
JL3917 | 218 21,700
JL2009 | 218 21,700
JL2019 | 218 24,400
FLUR (37 T #%) % |_JL2000 | 218 21,500
JL3912 | 218 19.900
JL2006 | 21 20,900
JL2010 | 21 21,900
JL3918 | 21 21,900
JL2016 | 21 9.400
KR (BAZE) =#LIR (3 F#%)| KPR (BAFE) S | JL2501 | 21 19,400
JL2503 | 21 24,000
JL2505 | 21 26,000
ALOR (B Fa) %[ JL2s02 | 21 9.900
JL2504 | 21 19,900
JL2506 | 21 22.800
KB (FD) =048 () | KIR(BFHF | JL3941 | 21 26,800
JL2081 | 21 22,000
JL2087 | 21 21,500
ShHE (TR % | JLso42 | 21 9.200
JL2084 | 21 9,700
JL2088 | 21 23,600
BE=HLIR (TR EEEES JL3513 | 21 26,000
JL3515 | 21 27,000
FLUE (F T #%) %[ JL3510 |21 23,100
JL3512 | 21 24,200
HR(PE)=%E5] HRCPIE) % [_JL565 | 21 23,400
JL567 | 21 23400
JL569 | 21 29,700
ESTIES JL562 | 21 9.000
JL564 | 21 17.300
JL566 | 21 4.900
R CRE) =R HRCRE) S | JLS51 21 21,200
JL553 | 21 21,600
[ UL555 7.900
557 .900
JENTES 552 ,900
[ _JL554 .000
[ JL556 900
L558 200

JAL



MEHEZI5I21 1 EEXR(12A27~31 BERS) JAL

EW#EMAE ;. 2019/08/27 ~

ELTE 12/27' 12/28" 12/29' 12/30‘ 12/31'

=40} B2 BEITE| BEIMIE| HEMIE| BEIMTE| HEMIE

Fi?gﬂﬁ EEE e R e B

B CRE) =8I RRECRE)# Lt .900 X ¥ 34,800

L! .900
L 800
ElEE L 800
L .900
L! .500
ECAC: R N RERCRE) % L! .900
L57 600
L57 600
L57 600
HILR L57 100
L57. ,200
L57 .200
L57 ,300
HR(CRE) =K HHRCRE) % |_JL585 ,200
[JL587 25,200
JL589 2,500
R | JL584 8.200
|_JL586 7.600
JL588 7.700
RRECABR)=H& HR(EE)F [ JL 500
JL .500
JL 500
JL .500
JL 500
JL 20.500
HHR JL .200
JL 200
JL .200
JL 200
[ JL148 .200
JL150 200
ER(AR)== HRCRE)E |_JL155 ,000
JL157 000
JL159 .000
=R% JL154 500
|_JL156 7.500
JL158 6,200
R CRE)=IE FR(HE)F | JL161 7.300
[l 4,600
[l 2.000
20,200
HER 19.700
E 15,600
B 16.900
E 19,600
R CRE) =R HRCAE) & [ JL175 B 18.300
JLI79 B 18,300
W% JL174 B 12.600
JLI78 B 12,600
ERCRE) =/ HRCPE)$ | _JL183 B 14.500
[JLi8s B 15,000
JL187 B 15.500
JL189 B 16,000
JL191 B 13.100
JL193 B 12,600
INES%E | JLis2 B 10.800
JL184 B 10,800
JL186 B 10.800
[ JLiss B 10,800
[ JL190 B 10.800
JL192 B 10,800
R CRE)=FEW HR(HE) F [ JL231 B 18.100
JL233 B 18.100
JL237 B 18.100
JL239 B 18,900
JL241 B 18.900
[EIES JL232 B 13,900
JL: B 15.300
JL B 15,700
JL! B 15.700
JL B 15.700
RRCAB)=ES HRECAE)H [ JL253 | 21H 19,500
JL255 | 218 23,300
JL257 21H 23,900
JL259 | 218 22.500
JL261 21H 23,500
JL263 | 218 23500
JL265 21H 20,800
JL267 | 218 20,600
LB% JL252 21H 16,200
JL254 | 218 17.600
JL256 21H 17,900
JL258 | 218 17.900
JL260 21H 19,500
JL262 | 218 19.500
JL264 21H 20,100
JL266 | 218 20.100
HEECRE)=WOFH [ ®BROEE)HE [ JL291 | 21H 21,400
JL293 | 218 24,900
JL295 21H 24,600
JL297 | 218 24,600
WO JL290 21H 17,500
JL292 | 218 17.500
JL294 21H 16,500
JL296 | 218 16.000
R (PE)=HE HRCPE) % | U277 | 218 28,900
JL279 | 218 28,900
JL283 21H 28,900
JL285 | 218 28,900
JL287 21 28,900
HER JL276 | 21 19.700
JL278 21 23,000
JL280 | 21 22,000
JL284 21 23,200
JL286 | 21 21.200
RRCAB)=-EE HRCRE) S | _Ju4s3 | 21 22,600
JL455 | 21 26.100
JL457 21 28,600
JL459 | 21 27.600
JL461 21 26,600
JL463 | 21 24,100
JL465 21 24,100
e JL452 | 21 15.900
JL454 21 17,300
JL456 | 21 17.300
JL458 21 17,300
JL460 | 21 17.300
JL462 21 17,700
JL464 | 21 17.700
HECRB) =& HRCRE)E | Jua75 | 21 25,100
JL477 | 21 26,800
JL479 21 28,900
JLasl | 21 27.800
JL483 21 28,800
JL485 | 21 27.300
JL487 21 25,000
B JL474 | 21 28,900
L476 28,900
L478 28,900
[ JL480 28,900
[ _JLas2 28,900
L484 28,900
L486 28,900




MEHEZI5I21 1 EEXR(12A27~31 BERS)

EREAE 2019/08/27 ~
relmsr e |22 | 12/28 | 12/26 | 12/30 [ 12/31
=40 B2 - BEMIE| BEIMTE| BEMIE| BEIMTE| BEMIE
BAME EEE B R e B
RRCRE) =54 RERCRE) % L491 31.200 600
[ JL493 31,200 600
[_JL495 31,500 600
497 29,700
L499 300
BEI%E | _JL490 900
[ _JL492 300
L494 800
[ JL496 .000
498 600
R CRE) =t RERCRE) % 431 28.800
433 30.800
L435 30,800
1437 31,300
JL43! 29.300
JL44 28,300
PAES JL43! 20.400
[ JL432 20,400
JL434 18.600
[JL436 19,100
JL43! 20.900
JL44 20,900
RECRE) =1L RM R (PE)F [ JL37 24,600
JL3T 25,600
JL37! 27.600
JL3T 30,100
JL37! 30,000
s JL37 18.600
JL37T: 20.600
JL37 20,600
JL37. 19.600
JL37 17.600
ER(CRE)=K5 HER(CPE) % |_JL66 29,000
[ JLG6: 29,000
|_JL665 29,000
[ JL667 30,800
[ JL669 1.300
JL671 1.300
K%% | _JL662 7.900
[ JL664 300
[_JL668 400
JL670 400
JL672 .700
JL674 B 000
RRCRE) =Rk FHRCHE) [ JL60S B 29.000
JL607 B 29,000
JL609 B 000
JL611 B 000
JL613 B 100
JL615 B 100
W% JL606 B 19.400
JL608 B 19,400
JL61 B 19.400
JL61 B 20,900
JL61 B 20.900
JL61 B 21,400
R CRE) =} HRCHE) & [ JL623 B 29.000
JL625 B 29,000
JL627 B 29,000
JL629 B 800
JL631 B 800
JL633 B 800
JL637 B 600
JL639 B 600
AR JL622 B 19.900
JL624 B 19,900
JL626 B 19.900
JL628 B 17,900
JL B 18.300
JL B 17,900
JL B 17.900
JL B 18.700
R (PE)=5E HRCPE) % | JLes7 | 218 29,000
JL689 | 218 29,000
JL691 | 218 29,900
JL693 | 218 30,800
JL695 | 218 31,600
JL697 | 218 30,800
EEES JL688 | 218 18,400
JL6%0 | 218 19.200
JL692 | 218 17,900
JL694 | 218 19.400
JL6%6 | 218 17,900
JL698 | 218 17.900
ERAB)-ERS HRCPE) % | Jeal | 218 29,000
JL643 | 218 29,000
JL645 | 218 29,000
JL647 | 218 28,800
JL649 | 218 30,800
JL651 | 218 30,800
JL653 | 218 34,100
JL655 | 218 34,100
ERER JL640 | 218 24,400
JL642 | 218 20,500
JL64d | 218 25,800
JL646 | 218 26.900
JL648 | 218 19,900
JL650 | 218 27.800
JL652 | 218 25,700
JL654 | 218 25,700
R (RRE) =AM () | Hm(RE)F | JL3005 | 21 17,500
JL3009 | 21 13.800
KR (1) % | JL3004 | 21 10,300
JL3006 | 21 20.200
FRR (R =ALAR (37 F )| S (kM) % | JL3049 [ 21 13,700
07 (3 F38) % | JL3040 | 21 13.200
RN () =18 BAU(AE) S | JL3057 | 21 14,400
Ftia] JL3052 | 21 14.400
KR (7+53) =ERfE ABR(RF S | JL2123 | 21 29,300
BT JL2124 | 21 26,500
K (B =H& KB (FFH % | JL2ist | 21 40.300
JL2153 | 21 40.300
JL2157 | 21 40,300
BHR JL2152 | 21 40.300
JL2154 | 21 40,300
JL2158 | 21 40.300
KR (75 =Rk KRB (P % | JLai7t | 21 36.400
JL2173 | 21 36,400
JL2179 | 21 36.400
PES JL2172 | 21 36.400
JL2174 | 21 36.400
JL2176 | 21 36.400

JAL



MEHEZI5I21 1 EEXR(12A27~31 BERS) JAL

EW#EMAE ;. 2019/08/27 ~

ELTE 12/27' 12/28" 12/29' 12/30‘ 12/31'
=40 B2 =5 HEHTE| BEMIE | BHEMTE| HEMIE| BHEHIE
BAME EEE B R e B
KR (FFH =& RIR () & [ JL2201 .000 000 000 000
[ JL2203 000 000 00
[ JL2205 .000 000 00
[ JL2207 000 ,000 ,000
[ JL2209 .000 000 00
L2211 000 000 00
JL2213 .000 000 00
L2215 000 000 00
Wwa% [ JL2200 .000 000 00
[ JL2202 000 000 00
[ JL2204 .000 000 00
[ JL2206 000 000 00
[ JL2208 .000 000 00
L221 000 000 00
JL221 .000 000 .000
JL221 000 000 00
KR () =318 RIR () | JL224 .900 900 00
[ JL224: .900 900 00
[ JL224 .900 .900 .
JL225 .900 900 00
FRE | JL224 .900 900 00
[ JL224 .900 900 00
[ JL224i .900 .900 .
JL2250 .900 900 00
KRR (5 =#1l RIR (5 % | JL2301 .000 000 00
[ JL2305 ,000 000 00
JL2309 .000 000 00
ENITE [ JL2302 ,000 000 00
| JL2306 .000 000
JL2310 ,000 000
RIR (FFH) =K% RIR (5 % | JL2361 400 400
[ JL2365 1400 400
JL2367 1400 1400
KnF [ JL2362 .400 400
JL2364 1400
JL2366 1400
KR () =R KIR (5 | JL237 28,600
[ JL237: 28,600
JL237 28.600
JL237 28,600
W% JL237 28.600
[ JL237 28,600
JL237 28,600
JL237 B 28,600
KR (5 =RER RIR (5 % | JL238 B 16.000
[JL2385 B 17,000
JL2389 B 18.000
REAR | JL2082 B 16,500
| JL2386 B 17.000
JL2392 B 17,000
KR (D =28 RIR (5 % | JL2431 B 26.300
JL2433 B 26,300
JL2437 B 26.300
JL392 B 26,300
JL244 B 26.300
JL244; B 26,300
e JL: B 26.300
JL B 26,300
JL: B 26.300
JL B 26,300
JL3922 B 26.300
JL244 B 26,300
AR (R =-ERS RIR (5 F | JL240 B .500
JL395 B 500
[ JL240: B 600
JL2407 B 400
[ JL2409 B .000
JL2411 B 000
JL2415 B .000
JL2419 B 000
ERB% | JL2400 B 19.500
[JL2402 B 19.500
JL3954 21H 19,500
JL2404 | 218 19.500
JL2406 21H 19,500
JL2410 | 218 19.500
JL2412 21H 19,500
JL2414 | 218 20.200
B B (FPED) =fLIR (3 F %] £ &2 (hah) S| JL3103 [ 21H 25,500
JL3105 | 218 26,500
JL3107 21H 27,200
JL3117 | 218 26,500
FLUE (3 T 2%) %[ JL3100 | 218 15,900
JL3106 | 218 15.900
JL3114 21H 28,300
JL3118 | 218 30,300
AEEUMO=#E |AEEUMOS] JI4333 | 218 21,000
iR JL4334 | 21H 18.500
AEEUMO=ERE | AEE MO S| JL4401 | 218 19,200
JL4403 | 218 20.200
JL4405 21H 20,200
JL4413 | 218 20,000
JL4415 21H 19,200
[EES JL4400 | 218 16.600
JL4402 21H 16,600
JL4408 | 218 17.600
JLa412 21H 18,000
JLaaia | 218 18.000
ZHE (M =RER £ HE (V) R _JL4341 21H 22,000
JL4345 | 218 22.200
JL4347 21 22,200
AR JL4342 | 21 20,800
JL4346 21 21,400
JL4348 | 21 21,400
HREFTFR)=FF | FAREFTR) 5[ L2803 | 21 23,300
JL2805 | 21 23,300
JL2809 21 23,300
BHR JL2804 | 21 23,300
JL2806 21 23,300
JL2810 | 21 23,300
HREFTFR) =B | AR FFR) 5[ JL2s21 | 21 26.800
JL2827 | 21 26,800
FREFR JL2822 21 26,800
JL2828 | 21 26,800
IR (FFR) =58 EEES JL2871 | 21 32.500
JL2877 | 21 32.500
FLOR (FFi%) R JL2872 21 32,500
JL2876 | 21 32.500
HIRFFR)=LE es JL2901 | 21 33,900
JL2903 | 21 33,900
JL2905 21 33,900
JL2907 | 21 33,900
JL2909 21 33,900
ALOR (B F#%) %[ JL2000 [ 21 33900
JL2902 21 33,900
JL2904 | 21 33,900
JL2906 21 33,900
JL2910 | 21 33,900
HIEFFR)-ES e L3403 29,500
#LAR (37 F5%8) % | JL3406 900
BE=LE EEEES | JL3531 .000
JL3537 .000
e [ JL3530 ,000
JL3538 000
BE=H8 BRI L3525 28,200
et d JL3524 23.400




MEHEZI5I21 1 EEXR(12A27~31 BERS) JAL

EW#EMAE ;. 2019/08/27 ~

BEMTE 12/27' 12/28" 12/29' 12/30‘ 12/31'

=R B4 BEIMTE| BEMIE| BEIMTE| BEMIE| BEIMIE
EE-ER fEm%E | _JL3621 20.300
[ JL3625 20,300
[JL3629 20.300
[ JL3631 20,300
JL3633 20.300
[ JL3639 20,300
JL3641 20.300
EE R [ JL3620 20,300
L3622 20.300
[ JL3626 20.300
JL3630 20.300
[ JL3632 20.300
JL3634 20.300
L3642 20,300




TEZISI21 1 EEXR(A1~6BEED)

EREAE 2019/08/27 ~
Py BV 172 173 1/4_ 1/5 1/6
[=4it| 4 BT E| BEMIE| BHEMIE| BEMIE| HEMIE| BHEIIE
WA gﬂﬁ EEE e R e B e
R CRE)=#LIR 3 k)| ERCRE)F |_JL593 19.600 19,600 7.500
[ JL501 19,600 19,600
[ JL503 21,800
[ JL505 26,000
[ JL507 26,000
[ JL509 26,000
L 25,000
L 600
L .000
L 800
L519 800
L521 20,800
[ _JL523 20,800
[ JL525 20,900
[ _JL527 21.300
[ JL529 20,900
JL531 20.900
FLIR (B F i) % |_JL500 ,300
[ JL502 .700
[ JL594 700
[_JL504 600
[ JL506 900
[_JL508 300
JL 23,300
JL 800
JL 500
JL 100
JL 600
[ _JL520 600
[ JLs22 600
[ _JL524 .900
[ JL526 23,100
[ _JL528 22.600
JL530 23,800
HR CRE) =18 FR(FE)F [ JL303 27.700
[ JL305 27,700
JL307 28.300
[ JL309 28,700
JL: 28.700
JL 28,700
JL: 4.400
JL 7.300
JL319 7.300
JL321 B 4,000
JL323 B 4.000
JL325 B 7.700
JL327 B 23,700
JL329 B 27.700
JL331 B 27.700
JL333 B 25300
JL335 B 27.700
[ JL300 B 20,600
JL302 B .000
JL304 B 000
JL306 B .200
JL308 B 700
JL31 B 25,600
JL31 B 25,600
JL31 B 25,600
JL31 B 7.700
JL318 B 3.200
JL320 B 4,200
JL322 B 4.200
JL324 B 26,100
JL326 B 26.100
JL328 B 4,200
JL33! B 4.700
JL33; B 7.700
ERCRE) =4 (%) | BRCAB)E |_JLO B .700
JL9! B 300
JL905 B 300
JL907 B 300
JL909 | 218 21,900
JL913 | 218 21,900
JL915 | 218 16,800
JL917 | 218 6.800
JL919 | 218 16,500
JL921 | 218 6.500
JL923 | 218 16,800
JL925 | 218 6.800
PHE(BRER) % | JL900 | 218 16,900
JL902 | 218 7.400
JL904 | 218 23,600
JL906 | 218 9.900
JL908 | 218 20,900
JL910 | 218 21,900
JL912 | 218 21,900
JL914 | 218 21,900
JL916 | 218 22,700
JL918 | 218 22.700
JL920 | 218 21,900
JL922 | 218 20,500
RIR (RFH)=FLIR (B Fa&)| ABR(BFF | JL2001 | 218 16,600
JL3911 | 218 8.800
JL2005 | 218 18,800
JL3917 | 218 11.700
JL2009 | 218 11,700
JL2019 | 218 18.800
FLUR (37 T #%) % |_JL2000 | 218 17,000
JL3912 | 218 22,300
JL2006 | 21 19,800
JL2010 | 21 27.100
JL3918 | 21 27,100
JL2016 | 21 26.100
KR (BAZE) =#LIR (3 F#%)| KPR (BAFE) S | JL2501 | 21 16,600
JL2503 | 21 5.400
JL2505 | 21 15,700
ALOR (B Fa) %[ JL2s02 | 21 8,900
JL2504 | 21 19,900
JL2506 | 21 26.100
KB (FD) =048 () | KIR(BFHF | JL3941 | 21 21,500
JL2081 | 21 26.100
JL2087 | 21 11,900
ShHE (TR % | JLso42 | 21 8.800
JL2084 | 21 19,300
JL2088 | 21 30.100
BE=ILIR TR [EEES JL3513 | 21 23,800
JL3515 | 21 23,800
FLUE (F T #%) %[ JL3510 |21 23,800
JL3512 | 21 23,800
FR (FE)=KiBH HRCPIE) % [_JL565 | 21 16,000
JL567 | 21 6.000
JL569 | 21 15.800
ESTIES JL562 | 21 6.800
JL564 | 21 16.800
JL566 | 21 20,000
R CRE) =R HRCPIE) % [_JL551 | 21 12,900
JL553 | 21 3.900
[ UL555 ,900
557 .900
JENTES 552 ,800
[ _JL554 600
[ JL556 20,000
L558 20,000

JAL



TEZISI21 1 EEXR(A1~6BEED) JAL

EW#EMAE ;. 2019/08/27 ~

ELTE 1/1 _ 1/2 _ 1/3 _ 1/4 _ 1/5 _ 1/6 _
=40 B2 BT E| BEMIE| BHEMIE| BEMIE| HEMIE| BHEIIE
Fi?_\gﬂﬁ BEs | EAE | ERE | B8E | Ens | B
B CRE) =8I RRECRE)# Lt .300 17.700 17.700 14.200 14.200 15.800
L! ,100 21,900 21.900 19.100 21.900 17.400
L .900 17.800 17.800 14.400 16.900 15.800
ElEES L 900 X X 33,800
L .700
L! .900
ECAC: R N RERCRE) % L! .000
L57 .700
L57 700
L57 .500
ET33 L57 500
L57. 500
L57 500
L57 .900
HR(CRE) =K HRCPHE)H | _JL585 .400
[JL587 300
JL589 500
R [ JL584 3.500
|_JL586 7.900
JL588 7.900
RRECABR)=H& HR(EE)F [ JL .000
JL ,000
JL .000
JL ,000
JL .000
JL ,000
3 JL 600
JL 900
JL 600
JL 200
[ .200
J 600
ER(AR)== ERCRE)E | JL .200
J 200
Ji .200
=R% Ji 200
[ .200
J 200
R CRE)=IE RERCPE)® | J .300
[ ol 20,400
[ 7.400
J ,000
HER JL 500
JL B 500
[ L1 B 18.500
JL B 18,500
R CRE) =R HERCAE)F [ JL B 13.300
JL B 13,300
%3 JL B 13.300
JL B 13,300
ERCRE) =/ ERCRE) S | JL B 10.500
] E 10,800
JL B 10.500
JL B 10,500
JL B 10.500
JL B 10,500
7 B 11.300
JL B 11,800
[ L1 B 11.800
] E 11,800
[ L1 B 13.400
JL B 12,500
R CRE)=FEW HR(HE) F [ JL231 B 15.700
JL233 B 15,700
JL237 B 15.700
JL239 B 14,000
JL241 B 13.900
[EIES JL232 B 13,000
JL! B 13.700
JL B 15,700
JL: B 16.200
JL B 16,900
ERCHE)=ESE HRCPE)F | U253 | 218 16,600
JL255 | 21H 19.500
JL257 21H 19,500
JL259 | 21H 18.500
JL261 21H 17,400
JI263 | 21H 16.200
JL265 21H 17,400
JL267 | 21H 17.400
LE% JL252 218 14,600
JL254 | 21H 17.400
JL256 21H 16,400
JL258 | 21H 16.400
JL260 21H 19,300
JI262 | 21H 19.300
JL264 21H 19,100
JL266 | 21H 19.100
HRCAB)=LOFH | "RFEEFE [ J291 | 218 14,700
JL293 | 21H 16.200
JL295 21H 15,700
JL297 | 21H 15.200
WO JL290 21H 17,500
JL292 | 21H 17.500
JL294 21H 20,500
JL296 | 21H 21,000
R (PE)=HE HRCPE) % | U277 | 218 20,500
JL279 | 21H 21,800
JL283 21H 20,900
JL285 | 218 20500
JL287 21 24,600
HER JL276 | 21 17.100
JL278 21 20,800
JL280 | 21 21.100
JL284 21 24,300
JL286 | 21 21,800
RRCAB)=-EE HRCRE) S | _Ju4s3 | 21 19,900
JL455 | 21 19.900
JL457 21 18,600
JL459 | 21 18.600
JL461 21 17,300
JL463 | 21 17.700
JL465 21 17,700
e JL452 | 21 15.300
JL454 21 16,100
JL456 | 21 16.100
JL458 21 17,300
JL460 | 21 17.300
JL462 21 16,500
JL464 | 21 16.500
HECRB) =& HRCRE)E | Jua75 | 21 17.400
JL477 | 21 21,400
JL479 21 19,600
JLasl | 21 17.700
JL483 21 17,700
JL485 | 21 20.700
JL487 21 20,700
B JL474 | 21 28,900
L476 28,900
L478 28,900
[ JL480 28,900
[ _JLas2 28,900
L484 28,900
L486 28,900




TEZISI21 1 EEXR(A1~6BEED)

EREAE 2019/08/27 ~
e 172 173 1/4_ /5 176
=40 B2 BEITE| BEIMIE| HEMIE| BEIMTE| HEMIE| BEIIE
WA gﬂﬁ EEE e B e B e
RRCRE) =54 RERCRE) % L491 20.800
[ JL493 20,800
[_JL495 20.100
497 300
L499 .900
RS [ _JL490 ,800
[ _JL492 300
L494 20,200
[ JL496 20,900
498 300
R CRE) =t RERCRE) % 431 .500
433 800
L435 300
L437 600
JL43! 20.800
JL44 20,900
PANES JL43! 20.400
[ JL432 20,400
JL434 20.700
[JL436 21,800
JL43! 23.300
JL44 23,300
RECRE) =1L RM R (PE)F [ JL37 7.100
JL3T 8,600
JL37! 8.600
JL3T 7.600
JL37! 7.600
s JL37 6.600
JL37T: 7.600
JL37 600
JL37. 600
JL37 600
ER(CRE)=K5 HRCRE)E |_JL66 ,000
[ JLG6: 25,900
|_JL665 25.900
[JL667 25,900
[ JL669 20.200
JL671 20,200
K%% | _JL662 25.400
[ JL664 25,400
[_JL668 28.400
JL670 28,400
JL672 28.800
JL674 B 28,400
RRCRE) =Rk FHRCHE) [ JL60S B 24,500
JL607 B 26,500
JL609 B 25,300
JL611 B 25300
JL613 B 20.200
JL615 B 20.200
W% JL606 B 25,800
JL608 B 25800
JL61 B 28,800
JL61 B 28,800
JL61 B 28,800
JL61 B 28,800
R CRE) =} HRCHE) & [ JL623 B 20200
JL625 B 20.200
JL627 B 24,800
JL629 B 25,900
JL631 B 25,900
JL633 B 25,900
JL637 B 20.500
JL639 B 20.200
AR JL622 B 25,400
JL624 B 28,400
JL626 B 28,400
JL628 B 28,400
JL B 28,400
JL B 28,400
JL B 28.400
JL B 28,400
R (PE)=5E HRCPE) % | JLes7 | 218 26,500
JL689 | 218 26,500
JL691 | 218 25,900
JL693 | 218 25,900
JL695 | 218 25,900
JL697 | 218 25,900
B3 JL688 | 218 25,400
JL6%0 | 218 28,000
JL692 | 218 28,800
JL694 | 218 28,800
JL6%6 | 218 28,800
JL698 | 218 28,800
RERAE)-ERS HROPAE)H [_JL6d1 [ 218 20,200
JL643 | 218 26.700
JL645 | 218 26,700
JL647 | 218 23.200
JL649 | 218 22,600
JL651 | 218 25500
JL653 | 218 24,700
JL655 | 218 20.200
BERES JL640 | 218 25,000
JL642 | 218 28,000
JL64d | 218 28,000
JL646 | 218 28,000
JL648 | 218 28,400
JL650 | 218 28,400
JL652 | 218 28,400
JL654 | 218 28,400
R (RRE) =AM () | Hm(RE)F | JL3005 | 21 16.300
JL3009 | 21 9300
KR (1) % | JL3004 | 21 15.800
JL3006 | 21 9.800
FRR (R =ALAR (37 F )| S (kM) % | JL3049 [ 21 13,700
L [HEGHEF® [ Js040 [ 21 3200
RN () =18 BAU(AE) S | JL3057 | 21 14,400
Ftia] JL3052 | 21 4400
KR (7+53) =ERfE ABR(RF S | JL2123 | 21 31,200
BT JL2124 | 21 29,300
K (B =H& KB (FFH % | JL2ist | 21 40.300
JL2153 | 21 40.300
JL2157 | 21 40,300
BHR JL2152 | 21 40.300
JL2154 | 21 40,300
JL2158 | 21 40.300
KR (75 =Rk KRB (P % | JLai7t | 21 36.400
JL2173 | 21 36,400
JL2179 | 21 36.400
PES JL2172 | 21 36.400
JL2174 | 21 36.400
JL2176 | 21 36.400

JAL
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EREAE 2019/08/27 ~
e 172 173 1/4_ /5 176
=40 B2 BT E| BEMIE| BHEMIE| BEMIE| HEMIE| BHEIIE
A gﬂﬁ EEE B R e B e
KR (FFH =& RIR () & [ JL2201 .000 000 000 000
[ L2203 000 000 00
[ JL2205 .000 000 00
[ L2207 000 .000 000
[ JL2209 .000 000 00
2211 000 000 00
JL2213 .000 000 00
L2215 000 000 00
Wwa% [ JL2200 .000 000 00
[ L2202 000 000 00
[ JL2204 .000 000 00
[ JL2206 000 000 00
[ JL2208 .000 000 00
L221 000 000 00
JL221 .000 000 .000
JL221 000 000 00
KR () =318 RIR () | JL224 .900 900 00
[ JL224: ,900 900 00
[ JL224 .900 .900 .
JL225 ,900 900 00
FRE | JL224 .900 900 00
[ JL224: ,900 900 00
[ JL224i .900 .900 .
JL2250 ,900 900 00
KRR (5 =#1l RIR (5 % | JL2301 .000 000 00
[ L2305 000 000 00
JL2309 .000 000 00
¥allgE | JL2302 000 000 00
| JL2306 .000 000
JL2310 000 000
RIR (FFH) =K% RIR (5 % | JL2361 .400 400
[JL2365 1400 1400
JL2367 1400 1400
K% [ L2362 1400 1400
JL2364 1400
JL2366 1400
KR () =R KIR (5 | JL237 28.600
[ JL237: 28,600
JL237 28.600
JL237 28,600
W% JL237 28.600
[ JL237: 28,600
JL237 28,600
JL237 B 28,600
KR (5 =RER RIR (5 % | JL238 5] 14.600
[ JL2385 B 14,600
JL2389 B 14.600
BEARS [ JL2382 H 14.600
| JL2386 B 14.600
JL2392 B 14,600
KR (D =28 RIR (5 % | JL2431 B 26.300
JL2433 B 26,300
JL2437 B 26.300
JL392 B 26,300
JL244 B 26.300
JL244 B 26,300
e JL: B 26.300
JL: B 26,300
JL: B 26.300
JL: B 26,300
JL3922 B 26.300
JL244 B 26,300
AR (R =-ERS RIR (5 F | JL240 B .100
JL395 B 100
[ JL240: B 500
JL2407 B 500
[ JL2409 B 500
JL2411 B 28,100
JL2415 B 28,100
JL2419 B 23,100
ERB% | JL2400 B 22,700
[ JL2402 B 22.700
JL3954 | 218 24,600
JL2404 | 218 24,600
JL2406 | 218 24,600
JL2410 | 218 24,600
JL2412 | 218 24,400
JL2414 | 218 24,400
B B (FPED) =fLIR (3 F %] £ &2 (hah) S| JL3103 [ 21H 21,100
JL3105 | 218 21,800
JL3107 | 218 19,400
JL3117 | 218 6.400
FLUE (3 T 2%) %[ JL3100 | 218 20,800
JL3106 | 218 0500
JL3114 | 218 22,800
JL3118 | 218 24,800
AEEUMO=#E |AEEUMOS] JI4333 | 218 15,700
iR JL4334 | 218 5.300
AEEUMO=ERE | AEE MO S| JL4401 | 218 15,200
JL4403 | 218 5,000
JL4405 | 218 15,000
JL4413 | 218 5500
JL4415 | 218 16,000
[EES JL4400 | 218 4,600
JL4402 | 218 15,600
JL4408 | 218 6.200
JL4ai2 | 218 16,600
JLaaia | 218 8.000
AEEUMO=IEA | AEEBUMO S| JL4341 | 218 19,000
JL4345 | 218 6.900
JL4347 | 21 16.900
AR JL4342 | 21 6.000
JL4346 | 21 17.000
JL4348 | 21 9.000
HREFTFR)=FF | FAREFTR) 5[ L2803 | 21 23,300
JL2805 | 21 23,300
JL2809 | 21 23,300
BHR JL2804 | 21 23,300
JL2806 | 21 23,300
JL2810 | 21 23,300
HREFTFR) =B | AR FFR) 5[ JL2s21 | 21 26.800
JL2827 | 21 26,800
S JL2822 | 21 26,800
JL2828 | 21 26,800
IR (FFR) =58 EEES JL2871 | 21 32.500
JL2877 | 21 32.500
FLUE (F T %) 5| JL2872 | 21 32,500
JL2876 | 21 32.500
HIRFFR)=LE es JL2901 | 21 33,900
JL2903 | 21 33,900
JL2905 |21 33,900
JL2907 | 21 33,900
JL2909 | 21 33,900
ALOR (B F#%) %[ JL2000 [ 21 33900
JL2902 | 21 33,900
JL2904 | 21 33,900
JL2906 | 21 33,900
JL2910 | 21 33,900
HIEFFR)-ES e 3403 800
#LAR (37 F5%8) % | JL3406 .900
BE=LE EEEES | JL3531 .000
JL3537 .000
&% | JL3530 000
JL3538 .000
EE=-38 EER 3525 23,400
et d JL3524 22,100

JAL
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BEMTE 1/1 _ 1/2 _ 1/3 _ 1/4 _ 1/5 _ 1/6 _

=R B4 BT E| BEMIE| BHEMIE| BEMIE| HEMIE| BHEIIE
=25 EEE [ JL3621 20.300 20300 | 8700
[ JL3625 20,300 20.300 ,700
[JL3629 20.300 20300 | 8700
[ JL3631 20,300 20.300 ,700
JL3633 20.300 20300 | 8700
[ JL3639 20,300 20.300 ,700
JL3641 20.300 20300 | 8700
) [ JL3620 20,300 20,300 ,700
L3622 20.300 20300 | 8700
[ JL3626 20.300 20.300 ,700
JL3630 20.300 20300 | 8700
[ JL3632 20.300 20.300 ,700
JL3634 20.300 20300 | 8700
L3642 20,300 20.300 ,700




